sEsto|=22

www.hydraulic.co.kr

ASSEMBL
CATALOG

HYDRAULIC PUMPS & MOTORS
FOR HEAVY CONSTRUCTION

MARINE AND INDUSTRY



Production Facilities

A
Tl

[ 3

Shop Floor and each of Divisions

» REGULA

A : ¢
HaV/HPVISER
~




QUALITY POLICY

BEST QUALITY VARIOUS ITEMS
‘We pursue top quality Our various inventory can meet our esteemed customer’s needs.
COMPETITIVE PRICE BEST SERVICE

To give competitive price to our customers is our goal We provide our best service for your satisfaction.

Form Measuring instrument Coil Spring Test Machine 3D Precision Measuring Equipment

swann 02§58

Form Tester Precision Measuring for Quality Control Angle Sensor Tester



VARIOUS TEST MACHINERY

@ BENCH PUMP TEST @ BENCH MOTOR TEST

@ GEAR PUMP TEST




VARIOUS TEST MACHINERY

@ MULTI TEST MACHINERY @ HPV050/0102/0118 PUMP




PERFORMANCE CLRVE FOR SWAGH PLATE & BENT AXLS TYPE PLSTON PUNPS @

H3V63/112 H3V140/180 HPV116/145

ratio of displacemant [5]
& 2 2 3

ratio of displacement [%]
ralio of displacement [%]
¥ ¥ 8 8 8 2 8 8 B

ovarall afficiency (%] e
sE o ® & B A
e i

Max. Speed : 2,500rpm
Suction Pressure : 0~1kg/cm?(bar)
Oil Temperature : 50°C Qil Viscosity : 32mm?/s (cSt)

@ SWASH PLATE TYPE PISTON PUMPS @ BENT AXIS TYPE PISTON PUMPS

H3V PUMP SERIES (63/112/140/180/280) HPV 116/145 PUMP SERIES



H3V/H5V SERIES SUCTION & DELIVERY PORT @

. Flange Mounting face for Delivery Port

MODEL a b © d rule
H3VE3S / H5VEOS §9.9 387 G388 M12X1.75P Dpig 1-12"
H3W1125 ! HEV1408 889 50.8 P4 M12X1.75F Dp24 2-1/2"
H3V140(180)5 f HEV2Z003 106.4 61.9 $TE M16X2.0P Dp24 3
H3V1405H / H3V1805H 2
1 H5\200SH 106.4 61.9 $TE M16X2.0P Dp24 3
H3W2805H 1207 698 $E0 M16X2.0F Dp24 3-1/2"
H3VE3 / H3vV112 B89 50.8 il M12X1.75P Dpig 2-1/2"
H3v140 & H3V180 106.4 61.9 D76 M16X2.0F Dp24 3
H3w280 130.2 778 G102 M16X2.0P Dp26 4"
H3V1800TH f HBW200DTH 106.4 61.9 DTG M16X2.0F Dp28 g
H23w2800TH 120.7 69.8 B9 M16X2.0P Dp30 3-1/2"
SAE JB1BC
H3VBADTP / HEVBODTR (CODEGT) n
H3V1120TE/HSY1400TP B89 50.8 B0 M12X1.75P Dp24 2-1/2
H3WV140DTP § HBVAGODTP »
H3V1800TP 106.4 61.9 $TE M16X2.0P Dp25 3
HavL28 587 302 $3az M10X1.5F Dpis 1-1/4"
H3vLa0D 77.8 428 G50 M12X1.75P Dpig 2"
H3VL112/H3VL140 889 50.8 D0 M12X1.75F Dp24 2-172"
H5V200DPH f HEV212DPH 106.4 81.9 $TE M16X2.0FP Dp30 an
HEV212DPHICAT) 120.7 6498 $7a M16X2.0F Dp24 3-1/2"
H3V112DP B89 50.8 B0 M12X1.75PF Dp21 2-1/2"
HEV160DF 130.2 778 102 M16X2.0F Dp26 4"
HEWGE2005H 106.4 61.9 $TE IM16X2.0P Dp30 an
MODEL a b c d rule
H3V63S / H5VE0S 572 | 27.8  ®©25 | M10X15P Dpis 1"
H3V112S / H5V1408 667 | 31.8 @32 | W12X175P Dp24 1-1/4"
H3V140(180)S / H5V2008 794 | 365 38 | MI6X2.0P Dp24 1-1/2"
H3V140SH / H3V180SH .,
/ H5\V200SH 57.2 278 025 12X 1.75F Dp24 1
SAE J518C
H3VL28 477 | 222 @19 M10X1.5F Dp15 (CODEB2) 3/4"
H3VLED 524 | 262 @25 | M10X15P Dp17 1-1/4"
H3VL112/H3VL140 867 | 31.8 @32 | w12x1.75P Dp24 1-1/4"
H3V280SH 667 | 31.8 @32 | w12x1.75P Dp2s 1-1/4"
H5YG200SH 572 | 27.8 @25 | w12x1.75P Dp22 1"
MODEL a b ¢ | d e rule
H3VE3 M10%1.5P Dp16
62 | 238 508 | @19 304"
H3v112 M10%1.5P Dp23
H3Y140 & H3V180 76 | 27.8 57.2 | ®25  M12x1.75P Dp23 1"
H3V280 98 | 36.6 79.6 | ®38  M16X2.0P Dp2s 1-1/2"
H3V180DTH / H5V200DTH 118 | 27.8 57.2 | @25  M12x1.75P Dp22 qr"
H3V280DTH 123 | 31.8 66.7 | ®32  M12X1.75P Dp28 1-1/4"
Ha\'ﬁ?ﬁ;\f 1q;|§¥gomp 62 | 238 508 | 19  NHOXIS5PDp20 | SAEJS1BC 344"
(CODEB2)
H5Y140DTP 70 | 27.8 57.2 | ®25  m12x1.75P Dp22 "
H3Y140DTP / HSV160DTP .
ihee B4 | 27.8 57.2| ®25  M12X1.75P Dp24 1
H5V200DPH 75 | 27.8 57.2 | ®25  m12x1.75P Dp22 1"
H3V112DP 68 | 238 50.8| ®19  M10X1.5P Dp20 304"
H5V1B80DP / H5V212DPH/
M12X1.76P Dp22 -1/4"
H5V212DPH(CAT) 83 | 318 667|012 p 1-1/4




H64-PTO GEAR BOX

@ SPECIFICATIONS
MODEL H64-PTO GEAR BOX
Max. Output torque of
transfer case (t max.) %2000
Max. Output speed of )
transfer case (n1 max.) 2,700min-1
Output power 335kw
Gear Ratio 0.825:1 ‘ 0.772:1 ‘ 0.659 : 1
Gear oil 7.3 liter CLP220 DIN51517
Weight 150kg
@ ADAPTER A &B SIZE

e \ T—“‘“Q

ADAPTER-A | {4} ADAPTER - B

A—213 THRUGHT
£-@20 C/BORE DF§

/
4—a13 THRUCIT
4—920 C/BORE DPS/

(mm) (mm)
MODEL | AA BB | CC | DD EE FF wteaal) bl B B S j '
H4-PTO :1651 ADAPTER-A | 100 4-M8x1.25P DP16
coraoy | 116 2166|2245 125 — 025 OPdG o o Rl
s
0Dlmensmn of Shaft End(Spllne type) { o .
S .(
™
(mm)
MODEL No.of teeth | Pitch circle dia (mm) | Module = Pressure angle | STANDRAD
: {(mm) -
MODEL Mo.of teeth | Pitch circle dia (mm) | Module | Pressure angle |STANDRAD 1 AL 8r160P 30' SAE
13 41.275 816DP | SAE 1SPLINE 1 425 25 2 JIs
e L 425 25 2 | s t Tl 24 48 20 30 DIN 5480
24 48 20 30° | DIN5480 28 56 30 30° DIN 5480

T é : K |

| j 5 B '
H ) & G
HLICS——& DL E)—
; = & o

q

1 @ ¥ i ot 1 l

a r‘- L [z
A N \J

.DIMENSIONS : " -
oo (A s{e|ofe|Flaln]{r[a{k] L | w [nfol[e[a|Rls|T]ulv]|n
HE4_I;T{$X o 96 | 75 | 305|100 | 400 | 600 280 | 80 | 85 | 234 | 250 W18x1.5P| M20x2.5P OP53 | 96 | 148 | 440 | 450 | 26 | 115 | 576 | 663 PF1/2|PF1/2




H10VO28/45/71/74(DR TYPE)

CUT-OFF CONTROL

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS @ Dimensions of Shaft End(Spiine Type)
H10VOT71 MODEL Mo ol kel i Fiah eirzlzcismm| Msdule Fressomangk  Stancard
MODEL H1 ovozs H1 0V045 H 1 0v0 74 Hi0vO28 13 20.64 e SAE J492B
DR TYPE H10V045 i 15 23.813 ' 30°  SAE J493B
71 H10VOT71/74 14 28 2 DIN 5480
Discharge Rate(cc/rev) 28 45 i i
74 . Dimensions of Shaft End(Key Type)
Ma e ek g 280 MODEL a b c d e Standard
Max. Speed (rpm) 3.000 K 102\1{,&28 22225 25 | 286 | 6.35 | 40.5 | DING885
HYDRAULIC CIRCUIT i__"_i :—_—:"—i
F i .
; ,
|

# USABLE CIRCUMSTANCE §

507, 1SO VG46, -20-80° *DR- Druckregler

@ Flange Mounting face for Suction Port @ Flange Mounting face for Delivery Port

e s {mm) {mm) |
= i e A—h
_\ s HI0VOZE |H10vO4E m%g:“‘ \ HIOVER2E | HIOVOSS :::,‘jg:
*$ >\/\"!'\\ —1 DR TYPE @ \>\._ £3 § é A DR TYFE ]
_',-_ ) l|v ) —'l—/ o a an.2 357 429 ‘\\_"-'_ i @ e 222 26.2 o o
*’3} “\H_ L :‘><f’ 3 i b 587 | sag 778 ﬂ} \~Jrl‘() (:} f| 478 524 B e
", D— o TISTUNC | ok se or2e f ‘ g | @2 @25
L;— T @32 @40 . @50 h 3'351;};“0 WHOK1.5F DP23
SELIML
=)
J K Limesnn,
L R ‘rén?'m:|
I PCOa0C
@ DIVENSIONS -
MODEL A B & D = E G H | J K L M N (0]
H10VO28 165 |222.5| 80 183 40 | 21.7 9:5 90 41 164 | 245
DR 14 146 101.6 106.5
H10VO45 TYPE 185 |241.5| 90 193 | 455 | 25 85 | 965 | 46 |183.5/266.5
H10VO71/74 18 181 | 213 | 269 | 104 | 207 62 | 31.2 | 127 | 12.7 |114.8| 55.5 | 217 | 312 -




H10VO28/45/71/74(DFLR TYPE)

LOAD SENSING & CUT-OFF & HORSE POWER CONTROL
SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

. Dimensions of Shaft End(Spline Type)

H10VO71 BODEL M. of baeth | Fich crea deimi Madule Pressue engla Stenderd
MODEL H10v028 H10V045 H10VO74 Hio0w028 13 20,64 — SAE J498B
DFLR TYPE H10VO45 DELE 15 23813 ' 0% |SAE J498B
71 HAOVOT71/74 14 28 2 DIN 5450
Discharge Rate{ccirev) 28 45 74
. Dimensions of Shaft End(Key Type)
VRSt Mo ) 230 MODEL a | b c ] d]| e | Stndad
H10v028
Max. 5 d
peed (rpm) 3,000 DFLR TYPE 22225 25 | 286 | 6.35 | 405 DING885
!
HYDRAULIC CIRCUIT| |
not included !
'n scops of |
supply ]
E’ !
|
LIE
| Mﬂ/ =1
!
73
|
£

# USABLE CIRCUMSTANCE

5070, 1SO VG46, -20-80T *DFLR - Druck- Forderstrom- Leistungsregler

. Flange Mounting face for Suction Port ” Flange Mounting face for Delivery Port

i A—c {mm] {mm) N
| HiTwoT? g 4 — h = e
N, Hiovo28 |Hiovo4s. oo, =il P Wimvaze  Hiauoss|
@ >‘f‘|““\\ — CFLR TYPE @ \ t DFLR TYP=
NN a 302 | 357 429 ST A e | 222 262
_,I___k__!_ O | : — 48] O o
N AN b 87 | 688 778 e [N f| 478 52.4 =l 5
§ X o— : O
- o TSI | w12x1.75P DP20 oA g | @20 25
L;. d @z | @40 @50 L T i h 3'.951:1”3"‘3 M10X1 5P OP23
0 ||
=]

G MIOK1SP @ A7 OWDEE 48 S
4—W12K1 FER - & OWOT .|
e B PR A R SV ARE

] Lbﬁ‘{=
75
&
) ~
o ’/ i
o)
]
'
| | J
i |3 |
- h'l1 -
@ DIVENSIONS
MODEL A B C D E = G H | J K L | M N o] P Q
H10v028 80 165 (2225 21.7 9.5 | 134 | 12 41 204 | 245 | 40 164 185.5
DFLR 14 146 101.6 108.5
H10V045 TYPE 90 185 (2415 25 85 |1495| 22 46 (2205 266.5| 455 (1835 205.5
H10VO71/74 18 181 104 | 213 | 269 | 31.2 127 | 127 | 177 - 555 | 257 | 312 62 217 2335




H10VO28/45/71/74(DFR/DFR1 TYPE)

LOAD SENSING & CUT-OFF CONTROL
SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

O Dimensions of Shaft End(Spline Type)

H10V028 H10V045 H10VO71 MODEL . I'\u.ofhasth. . Hikn :i':l:l:i-.lfmluj. Modue | Pressure g e ] Slardard
MODEL H10vVO074 H10v028 e 13 20.64 P SAE J48BB
DFR/DFR1 TYPE H10v045 DFR1 15 23813 30 SAE 4588
TYPE
71 H10VOT1/74 14 28 2 DIN 5480
Discharge Rate(ccirev) 28 45 74 | . .
. Dimensions of Shaft End(Key Type)
Max. Pre fem? 280
 Pressure lkglem’ MODEL a | b | c | d] e | sStandad
Max. Speed (rpm) 3,000 H1 0V028 292 225
OFRIDFR1 TYPE 25 | 286 | 6.35 | 405 DING885
ks
HYDRAULIC CIRCUIT r
nat included == |
ir scope of =
I I S — o T
supply E@ ___Ejji'_'
LI
B
b
¥
L
 USABLE CIRCUMSTANCE *DFR - Druck- Férderstromregler
50 IS0 VG4 -20~-907C *DFR1- Druck- Férderstromregler
. Flange Maunting face for Suction Port . Flange Mounting face for Delivery Port c
{mmj (mm} gell E ]
C—i\ d—c diovozs |4iovoss HIVETT d 4—h i [ ]
$ \>< [ 1 H1ow TR ﬁ\ - i3 H10WO28  HA1DWO4E HimwaTs
T _ CFRIDFR1T TYFE DF=DFR1 TYPE
£ % \\'-, / a 302 357 428 @ }_\ ; e 222 26.2 —
AR C ! ‘\7'- ® ad
S NS b 587 699 778 b o478 52.4 a e
d b Pl ;>\
VB J< W TEING | pizx1.75% OP2s $ » @ g @0 @25
L#. d @32 @40 @50 L | h S"Bﬁgue”c W10X1.5F OF23
[0 -'—-e |
1 G-MIZELLEP ¢ A1OW0ZE /4
A?—M12X1.75F L AOVDT
af,
SPLINC ]
/ -
/
1 ."; [
)
= 1
|
H J
K. L FCoeP
kil [
@ DIVENSIONS
(mm)
MODEL A B C D = 7 G H | J K L M N (@] P Q
H10v028 80 165 (222.5| 21.7 9.5 | 134 12 41 204 | 245 | 40 164 180
" DFR 14 146 101.6 106.5
H10VO45 DFR1 90 185 |241.5| 25 85 1495| 22 46 [2205(266.5 455 |183.5 190
HEYPE -
H10VO71/74 18 181 | 104 213 | 269 | 312 | 127 | 127 | 177 - 555 | 267 | 312 | €2 | 217 - | 206




H10VO28/45/71/74(ED TYPE)

LOAD SENSING & CUT-OFF CONTROL
SWASH PLATE TYPE PISTON PUMP

H10VO71
MODEL H10V028 | H10VO45 H10VO74
EDFYRE . Dimensions of Shaft End(Spline Type)
Discharge Rate{cc/rev) 28 45 Ll
74 MODEL | Mo, of beath | Frch ezl ciajmmi Module Pressura engls Standard
Max, Pressure (kg/cm?) 280 H10v028 | 13 20,64 Yoz SAE J4988
y ol
H10VO45 <o 15 23,813 30°  SAE Jages
Max. Speed (rpm) 3,000 H10VOT71/74 |14 28 2 DIN 5480
| g &
HYDRAULIC CIRCUIT | p ‘
I —l— Ty
paie
! [
' L
|t
| i =
o i i
oA
s USABLE CIRCUMSTANCE
500 1SO WEAE 20807
. Flange Mounting face for Suction Port ‘ Flange Mounting face for Delivery Port
{mm) (mm)
HI0VOZE | H10VOdS ::33;1 ; Hiovoze H1w0£ﬁ! NIt
EDTYPE ED TYPE ]
302 387 429 222 26.2
58.7 69.9 778 47 6 52.4
MIETALNS | h1zx1.75P DP28 @20 @25
a2 40 | 50 3"361;;“ M10X1.5F DF23

Zl

.J < Ly,
| i kA \LB';:ITJSPQR‘IIMH
f
@ DIVENSIONS
(mm)
MODEL A B ] D E B G H | J K 1€ M N 0]
H10VO28 165 [2225| 80 226 40 (217 935 90 141 164 | 245
ED 14 146 101.6 106.5
H10VO45 TYPE 185 (2415 90 236 | 455 | 25 85 [ 965 | 46 |183.5(266.5
H10VO71/74 18 181 | 213 | 269 | 104 | 250 | 62 | 312 | 127 | 127 |114.8| 555 | 217 | 312 -




H10VO28LR FOR ZAXIS70 @

HORSE POWER CONTROL
SWASH PLATE TYPE PISTON PUMP
@ SPECIFICATIONS
MODEL H10VO28LR . Dimensions of Shaft End(Spline Type)
Discharge rate(cc/rev) 28
MODEL |No. of teeth | Pchcrcledaimm)|  Module  |Pressureange |  Standard
Max. pressure (kg/cm?) 260
Max.speed(rpm) 2300 H1OVO28LR| 13 20.64 16/32 30° | SAE J498B

G1 A1 A2
R1 " j_‘
_,t"
/"1:.f< :

i )

s B1 DR

% USABLE CIRCUMSTANCE : '

507, ISO VG46, -20-90°C HYDRAULIC CIRCUIT

R

L)

FF1/2 |
DRAIN_PORT SUCTION PORT| |
M

SETTING SCREW FOR -I;I-—

o |

. Flange Mounting face for Suction Port

31 (PF1/4)
JELVERY

A— (mm)
GAUGE PORT
ﬁ} a 30.2
i
Q b 58.7
& 32
© © h diigm
d [mioxi.5PDPI7 AN : o
A2(PF1/3)
“\_|_CELIVERY PORT
@ DIVENSIONS -

MODEL A B|C|D E|F|G|H I J/K L|M|N O P| Q| R|S |T]|U

H10VO28LR | 14 146|172 | 31 306| 4 | 44 | 88 |21.8| 56 | 6.3 16 | 134|180 228| 74 | 161|208 | 173|140 | 181




H10VD43 FOR SUMITOMO

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

H10VD43
MODEL
For SUMITOMO . . .
( ) 0 Dimensions of Shaft End(Spline Type)
Discharge Rate(ccirev) 36x2
MODEL | Mo.ofteeth |Fitchcirle dia[n'mJ Module | Pressure angle| Standard

Max. Pressure (kg/cm?) 260

Max. Speed (rpm) 2, 200 (FHor1S?l\:rl?0:1n3)J 15 23.813 16/32 30° SAE J498B

% USABLE CIRCUMSTANGCE
50°C. ISO VG46, -20-90°C HYDRAULIC CIRCUIT
O Flange Mounting face for Suction Port =
. . PR/ 4 bosr
4—d {mm)
a 429
A b 77.8 o s
A c 51 .
& O ' =7
} d | M12¢1.75 Dpis W

PF /4

PF1 /4

;

NG

2

\--

[T

@ DIVENSIONS o)

vieell || A | B @ || = RO E R I J FCEN S 1O N VAR (B ) IR S

H10VDA43 | a4 | 128 166 263 | 170|258 | 14 |24.8 127 | 6.5 |50.7| 143 | 284 373.5 466 | 537 | 62 [139.5 40

{For SUMITOMO)




H10VD43 FOR HITACHI

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEE (F::"II-?I\:II'E:QLC?’HI)
’ Dimensions of Shaft End(Spline Type)
Discharge Rate(ccirev) 36x2
MODEL | No. of teeth PinhcimlediatrrmJ Module | Pressure angle| Standard
Max. Pressure (kg/cm?) 260
Max. Speed (rpm) 2.200 HIOVD4S| 15 | 23813 | 16532 | 30° |sAE4ses

# USABLE CIRCUMSTANCE
507, IS0 VG46, -20~30T

' Flange Mounting face for Suction Port

{mm} PF3/4
GPI1&GRI SUCTION PORT
a 42.9
b 77.8 |
c 51 _‘ieﬂ
d M12x1.75P Dp18 .-’4:1' 2 .

FE1/4

SPLIMNE

@l

@ DIVENSIONS

(mm)

MODEL | A | B|(C | D|E|F|G]|H I 4 K| L M|N|J]O|P Q| R]|S

H10VDA43 | a4 | 128|166 263 | 170|258 | 14 |24.8 127 | 6.5 |50.7| 143 284 373.5 466 | 537 25 |20.5| 40

(For HITACHI)




H10VD43 FOR CATERPILLAR

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
H10VD43
MODEL

For CATERPILLAR : : :

( ) . Dimensions of Shaft End(Spline Type)
Discharge Rate(cc/rev) 36x2
T e T 260(320) MODEL | Mo.of teeth |Pitcheircle da{n‘ml Module | Pressure angle| Standard
Max. Speed (rpm) 2200 R 9 23813 | 16/32 30°  |SAE Jaoss

Pi GX 61 Al A2 G2

-y

# USABLE CIRCUMSTANCE —
50°C. ISO VG46, -20~90C HYDRAULIC CIRCUIT
. . E
UMF1 1418 <
' Flange Mounting face for Suction Port vt 116 | —
) CAUSE PORT UNF1 1716
t_mm) CPI&CPZ SUCTIGN PORT
429 : _‘
77.8 =t -
51 '
M12x1.75P Dp18 PP_UNF3/16 |, \

UNF1 1718
DELWVERY PORT

Q)1
T

SFL — 5
d r — ; T . I
5 Slle] @
Rits ! Y ," b -
A
I
A
B
N N
[u] K 4]
P
@ DIVENSIONS o)
MODEL | A| B | C | D|E|F|G]|H | T I S T TSR ) [ IR CE3 RE S (T R ) S

H10VD43 | 64 | 128|166 | 263 | 170|258 | 14 |24.8|127| 6.5 |50.7| 143 | 284 [373.5 466 | 537 | 62 1395 40 10 60 25 90

[Fer CATERPILLAR)




H3VL28

LOAD SENSING & CUT-OFF CONTROL
SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL H3VL28
Discharge Rate(cc/rev) 28
Max. Pressure (kg/cm?) 340
Max. Speed (rpm) 3000

ENGINE N
%USABLE CIRCUMSTANCE ——--—--D—r--i'—h—---
50°C. IS0 VG6, -20-90T HYDRAULIC CIRCUIT !
‘ Dimensions of Shaft End(Spline Type)
MODEL No. of teeth |Pitch Circle Dia(mm) Moudle Pressure Angle Standard
H3VL28 13 20.64 16/32 30 SAE J498B
. Dimensions of Shaft End(Key Type)
MODEL a b c d 2 f Standard
H3VL28 22.2 24.9 28 6.3 9 41 SAE J744-22-1

LOAL SEMSING PRESSURE
UMFF /1 B—20N-PL

H LD SENSMG

CUT—CFF PRESSURE

BAE-TL—101 -2
(SAE A-TYPE

BEZ.55
#80

\ ' DP16,/3208T

24006

Tair PORT

UNF 7/16-200 /| c | ; : _.ilél._%
@ DIVENSIONS _—
MODEL | A |B|C D|E|F G|H|I J|[K|L M|N|O|P

H3VL28 | 14 | 146 | 172 139.5/ 196 |21.7 /1016 74 | 161 9 |134| 41 | 204 | 245|106 | 138




H3VL63/80

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR LCOO TYPE)

MODEL H3VL63 H3VL80
Discharge Rate(cc/rev) 63 80
Max. Pressure (kg/cm?) 280 350
Max. Speed (rpm) 2400

pLk < o AT

S Dr1- [B1
# USABLE CIRCUMSTANCE
507, 1SO VGA6. -20-907 _ HYDRAULIC CIRCUIT
. Dimensions of Shaft End(Key Type)

MODEL a b i d e f Standard
H3VL63/80 (SAE KEY) N5 | H2 44 7.94 12.7 56 SAE JT44-32-1
H3VLE3/80 (1SO KEY) 32 35 50 10 | 9 68 IS0 3019/2-G32N

@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3VL63/80 14 29.63 12124 30° SAE J744-32-4
HIVL63/80 12 30 2.5 20° JIS B 1603 : 1995

—82 - SAE-JT44—-101-2
SAZ-I744-82-2 A

o
N

Y DP16,/32810T 7 hd

SAE-IT44-25-4 i,

10 % 15T 16/320P

#101.6
8110

12

@ DIVENSIONS

RICBEL 0 EvA S B SR E S e I J| K| L|M|N|O

H3VL63/80| 112 | 180 | 92 | 275 (185|127 |12.7| %6 | 20 | 95 216 | 275 | 18 | 103 | 156 | 35

_20_



H3VL63/80

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 3E00 TYPE)

MODEL H3VL63 H3VL80
Discharge Rate(cc/rev) 63 80
Max. Pressure (kg/cm?) 280 350
Max. Speed (rpm) 2400

G1 A

% USABLE CIRCUMSTANCE S =
50°. 130 VG46. -20~9070 _ HYDRAULIC CIRCUIT ——

@ Dimensions of Shaft End(Key Type)

MODEL a b & d e f Standard
H3VL63/80 (SAE KEY) J1.75 3.2 44 7.94 12.7 56 SAE J744-32-1
H3VLE3/80 (1SO KEY) 32 35 50 10 | 9 68 IS0 3019/2-G32N

@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3VL63/80 14 29.63 12124 30° SAE J744-32-4
H3VL63/60 12 30 2.5 20° JIS B 1603 : 1995
(-] ’ §
@ o
@9 = g ! .;-4192-3?44—32—2 * 4§;ﬂ':14§;g°‘-2
= : - - : T, s T ° b SAE A-TYPE
: r,___.J[ istuud l —J of mI% 'mgc 9223 of |
© q ﬁLRHEifT%EE}. : &=L éﬂ—gg b
[Jl ’ = ™, ) :;I
I | | 1 \DF16,/322107 : ", Se-ae2s-4 \
A A . mn , " R =
G K
@ DIVENSIONS . :
MODEL A B C D E E G H I J K L M N 0 P
H3VL63/80| 112 | 180 | 92 | 275 185 127 |127| 56 | 20 | 95 | 216 | 275 | 18 | 103 | 156 | 35




H3VL63/80

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 5NOO / 6NOO TYPE)

MODEL H3VL63 H3VL80
Discharge Rate(cc/rev) 63 80
Max. Pressure (kg/cm?) 280 350
Max. Speed (rpm) 2400

Al

pit s,

ENGINE -

% USABLE CIRCUMSTANGE LL e
50°. 130 VG46. -20~9070 _ HYDRAULIC CIRCUIT ®!

| E—

@ Dimensions of Shaft End(Key Type)

MODEL a b c d

e f Standard
H3VLB3/80 (SAE KEY) 3175 35.2 44 7.94 12.1 56 SAE J744-32-1
H3VL63/80 (ISO KEY) 32 35 50 10 | 9 68 IS0 3019/2-G32N

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3VL63/80 14 29.63 12/24 0’ SAE J744-32-4
H3VL63/80 12 30 £ 20° JIS B 1603 : 1995

L4005

K?’j Srerras—e22 ' :’&l\
SAE A-TYFE 5 7 | :
3
: fwl | 4 -
o0 ML
7 g ; ]'uu =y Al 1 ! ! ==
A

5 I I
K I'-. : __,-' ‘?‘ oot/ 30T f"f I" ?:ﬁ_':ll_: =
i
: 12 | J
MJL_]:FE‘_ ‘
L i

@ DIVENSIONS

MODEL | A| B | C | D|E|F |G| H

(3
-~
—
=
=
o
o

H3VL63/80| 112 | 180 | 92 | 275 | 18.5 127 |12.7| 56 | 20 | 95 | 216 | 275 | 18 | 103 | 156 | 35

_22_



H3VL63/80

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 5L00 TYPE)

MODEL H3VL63 H3VL80
Discharge Rate(cc/rev) 63 80
Max. Pressure (kg/cm?) 280 350
Max. Speed (rpm) 2400

=

.
FL e — 1T

AT Y

ey
ENGINE
Drl
% USABLE CIRCUMSTANCE
507, 1SO VGA6. -20-907 HYDRAULIC CIRCUIT
. Dimensions of Shaft End(Key Type)

MODEL a b & d e f Standard
H3VL63/80 (SAE KEY) 31.75 35.2 44 7.94 12.7 56 SAE J744-32-1
H3VL63/80 (IS0 KEY) 32 35 50 10 | 9 68 150 3019/2-G32N

@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3VLE3/80 14 29.63 12/24 30° SAE J744-32-4
H3VL63/80 12 30 2.5 20° JIS B 1603 : 1995
= Tl 11
_IFE@ 4t52-£0_5ﬂ44_32_2 2-4:;?;:5?44—101—2
qﬁn EAF A-TIPE SAE_B-TYPE
% ﬁ_%ﬂ o p22.3 f o
O ¢ @1_ =
i 0P 16/ 5251 0T e T R ¢
I '_, 10l AN 15T 13;‘_3200 T&
12
- .S-M|2K1.?5P DF20 I'(
@ DIVENSIONS e
MODEL | A | B'| & | B I'E | F | & | H I J K|{L|M|N|]O P
H3VL63/80| 112 | 180 | 92 | 275 185 127 |127| 56 | 20 | 95 | 216 | 275 | 18 | 103 | 156 = 35

_23_



H3VL80 FOR SANY

SWASH PLATE TYPE PISTON PUMP

0 SPECIFICATIONS
H3VL80
noREs (FOR SANY)
Discharge Rate(cc/rev) 80
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2400

i_ _________ T AN Tair
o—— =]
# USABLE CIRCUMSTANCE
* 500 IS0 VG6, 20907 HYDRAULIC CIRCUIT 2% —BL
. Dimensions of Shaft End(Key Type)
MODEL a b e d e '} Standard
3175 352 44 794 | 127 56 SAE J744-32-1
H3VL80
32 35 50 10 9 68 ISO 3019/2-G32N

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth |Pitch circle dia(mm) Module Pressure angle| Standard

14 29.63 12124 30° SAE J744-32-4
H3VL80
12 30 25 20° JISB 1603 : 1995
_ |
—s R L .
© 0 5 Air Breather %3
- SPLINE TYPE
u:l! - Dr O
a a8 L] "')'_.,_. 3 |
DELIVERY PORT A== : SUCTION PGRT
o o
% ©
& s a
Koo [T Y,
S ; | ¢ ¢/
M|
B P
A Q
0 R
@ DIVENSIONS )
MODEL | A B | C | D | E F |G| H | J K| L M|N|O P|Q|R|S|T

(FS;VSL:IE;Y} 217 | 95 | 35 | 184 | 92 | 98 | 275 | 180 214 [ 17.5|27.7 | 127 |[127| 19 | 56

95 | 217 |260.5162.5| 98.5

_24_



H3VL45/80

SWASH PLATE TYPE PISTON PUMP

O SPECIFICATIONS
MODEL H3VL45 H3VL80
Discharge Rate(cc/rev) 45
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2400
LO TYPE PO TYPE
:— '''''' e | | :— '''''' e | |
[ ! =
e T -
i — I
AL L A e Lo —
s et TR - el B

B [ Y S — —i
I —Lf'" __Lf?ﬂ :
LE;'_HJ LE;'_HJ

% USABLE CIRCUMSTANCE

_ 507, 1SO VGA6. -20-907 HYDRAULIC CIRCUIT
. Dimensions of Shaft End(Key Type)
MODEL a b c d S f Standard
H3VL45 25 28 36 8 9.7 53 SAE J744-251
3175 352 44 794 120 56 SAE J744-32-1
H3VL80 32 39 50 10 9 68 1ISO 3019/2-G32N
@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth | Pitch circle dia(mm) Module Pressure angle Standard
H3VL45 15 24.981 16/32 30° SAE J744-25-4
14 29.63 12/24 30° SAE J744-32-4
H3VL80 12 20° JIS B 1603 : 1995
K
Air Breather L4 i
SPLINE TYPE "
! SUCTION PORT
o [o
2 £
j s
adl B
b N
P
A o] 4 Q :
@ DIVENSIONS -

MODEL | A | B € |  D|E |  F | G H I J K|/ L|M N O P Q|R s |T

H3VL45 | 184 | 91 33 | 146 | 87 | 73 | 217 146 | 196 | 14.3 |44.7| 100 | 9 13 | 46 | 91 | 184 | 250 154.0| 93

H3VL80 | 217 | 95 35 | 184 | 92 | 98 | 275 180 | 214 | 175 |47.2 | 127

127 19 | 56 | 95 | 217 |260.5 162.5| 98.5

_25_



H3V112/140

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS(FOR 5L00 TYPE)

MODEL H3VL112 H3VL140
Discharge Rate (cc/rev) 112 140
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2700 2500

Al

oy

ENGINE
| o
e HYDRAULIC CIRCUIT
. Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) | Module | Pressure Angle | Standard
H3VL112 /140 13 41.275 8/16 30° SAE J744-44-4
. Dimensions of Shaft End(Key Type)
MODEL a b c d e f Standard
H3VL112 /140 45 48.5 80 14 125 92 ISO 301972
H3VL112 /140 44.45 493 63 1.1 75 SAE J744-44-1

<EAE A-TYPE>

4-M10¥1.5P
AP [P

SPLINE TYPE

eH

SAE J744-22—-4
16/320F 137
SAE

[

@ DIVENSIONS

MODEL A B C D E F | G H I J K I M N 0

H3VL112/140| 213 | 220 | 100 | 114 |161.6| 200 22 |152.4|125| 92 |106.5 251 | 307 | 38 | 45

_28_



H3VL112/140

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS(FOR 3L09 TYPE)

MODEL H3VL112 H3VL140
Discharge Rate (cc/rev) 112 140
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2700 2500
Al
I
e ||
bt |
PL ::mL.’In i : |
AT | |
A T ____ L |
aan [ T |
—— |
NGINE ) |
' ENGINE ::=m§ﬁ1 |
% USABLE CIRCUMSTANCE
) 50°C, ISO VG46, -20~807T HYDRAULIC CIRCUIT -
@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth | Pitch Circle Diamm) | Module | Pressure Angle | Standard
H3VL112 /140 13 41.275 8/16 30° SAE J744-44-4
. Dimensions of Shaft End(Key Type)
MODEL a b & d e f Standard
H3VL112 /140 45 48.5 80 14 125 92 ISO 301972
H3VL112 /140 44.45 49.3 63 1120 ' 75 SAE J744-44-1

T za+0.08

v
SPLINE TYPE
;#: —

—Jiad-101-2
SAL-J744-82-2 5E& & TYFE
Soa a-rEE

|
k=3 J
X ‘FE
ksl
i i'x:
£

LEIW

wH

CIRIEES

i m

H = |
i 77 &
' A

. ! I sl el @ \ ?ZEE.:;;E.Z *
s - SAL B

- e gy \

N\a-s6 . K 13.5 | zat00s
[ 2 o 1M -

@ DIVENSIONS

MODEL A B C D E F G H I J K L M N o]

H3VL112/140| 178 |247.5| 100 | 114 161.6| 200 | 22 |152.4|125 | 75 |106.5| 251 | 307 | 38 | 45

_27_



H3VL112/140

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS(FOR 5N00 / 6NOO TYPE)

MODEL H3VL112 H3VL140
Discharge Rate (cc/rev) 112 140
Max. Pressure (kg/cm?) 300
Max. Speed (rpm) 2700 2500
Al
tral
; B ___ \L’“
pitk— il
).
o
ENGINE —— !
|>\_51
# USABLE CIRCUMSTANCE | |
: 50, 18O VG46. -20~80°C HYDRAULIC CIRCUIT "t L,
@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth | Pitch Circle Dia(mm) | Module | Pressure Angle | Standard
H3VL112/140 13 41.275 8/16 30° SAE J744-44-4
. Dimensions of Shaft End(Key Type)

MODEL a b c d e f Standard
H3VL112 /140 45 48.5 80 14 125 92 ISO 301972
H3VL112/140 44 .45 49.3 63 1.1 ' 75 SAE J744-44-1

4-M10X1.5P = ATYPE> - -:I
SPLINE TYFE Ej# o
I KEY TYPE e @ @
=]
=+ {9 [ i
wee 1 . \? 2 | \{%‘\tﬂs
@ DIVENSIONS
(mm)
MODEL A B C D E E G H I J K L M N | O

H3VL112/140 178 | 220 | 100 | 114 |161.6| 200 22 |152.4| 125 | 75 |106.5| 251 | 307 | 38 | 45

_28_



H3V63S/H5V80S FOR HITACHI @

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 1F29 TYPE)

MODEL H3V63S H5V80S
Discharge Rate(cc/rev) | 63 80
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2150

g T
IL—‘*{N% A2
ENGINE } %)
B2

Dr1{_|B1

! I

% USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT

50T, 1ISO WVG4B. -20-807

. Dimensions of Shaft End(Spline Type)

MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle Standard
HBvossovs0s 14 296 12124 30° SAE J744
(For 1F29)
A P
[0}
°°
@- _I : fﬁ PF1/4(Psv) . .
DELIVELY PORT = {% ] ﬂ
] o n .
1 — Drl ===
A2 3 /e e 7
E) IR = P
i a1sd — = — L If
IL o0 — — & _© _il
4 | L] ."
S
Q I E M
P J M
@ DIVENSIONS -
MODEL A B C D E F G H | J K 15 M N 0] P Q
H3V63S/
H5V80S | 156 | 95 | 240 | 89 (180 190 | 18 [ 125| 8 76 | 138 | 269 | 105 374 |82.5| 318 | 210
(For 1F29)

_29_



H3V/H5VSHR SERIES

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 2N0O / 2P00 TYPE)

MODEL H3V140SHR H3V180SHR H5V200SHR H3V280SHR
Discharge Rate(cc/rev) 140 180 200 280
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2150 2150 1900 1600
DIRECTION CW(R)
Al Al
> Py > Py
T J:E*”ﬁl‘w
Pi Pi —E:‘E
t I =3
ENGINE ENGINE
Drl Bl Dr1| |Bl
%USABLE CIRCUMSTANGCE v e
50°C. IS0 VG46, -20~90C HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline Type)
MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle Standard
H3V140/180SHR " _
R — 17 425 25 20 JIS B 1603:1995
H3V280SHR 18 54 3 20° JIS B 1603:1995

#1016

4-M12x1./0F P14

#82.55
SAL-744-82-2

SAE-J744-101-2

SRE—JT44—22-2
13T DF1G/32
\ SAF A-TYFF

PlESsERnT Fo
582 A-TYFE

|

I
D
=

[

e|é"

T SUCTION
m PORT

J
@ DIVENSIONS -

MODEL A|lB|C|D|E|F | &G H|I|J]K|LIM NfO[P| Q@RS | T]|U

DR PORT-

H3V140/1803HR
H5V200SHR

170|196 | 53 | 190 8 |267 | 93 (3795 180 133 | 250 |245|359| 22 129 | 53 190 | 288
16 | 24 15

199|236 | 68 | 166 9 | 330 (115.2|450.5/ 200 158 |300.2| 285 | 415| 26 151 | 68

H3V280SHR 203 | 356

_30_



H3V/HSVSHL SERIES

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS (FOR 2N00 / 2P00 TYPE)

MODEL H3V140SHL H3V180SHL H5V200SHL H3V280SHL
Discharge Rate(cclrev) 140 180 200 280
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2150 2150 1900 1600
DIRECTION CCW(L)
Al Al
o Py o Pg
o
Pl -
| [ED
Drl| (Bl Dri [B1
Pl I
A e ISVl b soe HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spiine Type)
MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle Standard
H3V140/180SHL & 5
H5V200SHL - 42.5 25 20 JIS B 1603:1995
H3V280SHL 18 54 3 20° JIS B 1603:1995

4-M12x1.75P DP14

Nz

\\ o

SAJT44-22-4
13T 16/320°
SAE B-TYPE

DP16,/32X10T
SAE A-TYPE

=

J_SIZI.IME

18]

o o
-+ o

[T

DELVERY
\BORT

@ DIVENSIONS

(mm)

MODEL A N E

H3V140/180SHL

HOV200SHL 53

180 190 3795 93 | 245 | 359|133 | 250 | 22 (129|170 | 196 | 53 190 | 288

24 15

H3V280SHL 68 | 200 203 285 | 415|158 |300.2| 26 | 151|199 | 236 | 68 166 | 356

450.5/115.2




H3V280SH FOR HITACHI SENSOR TYPE

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR OEO1-HITACHI TYPE)

MODEL H3V280SH(OEO1 — HITACHI TYPE)
Discharge Rate (cc/rev) 280
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1500
e m

HYDRAULIC CIRCUIT L-; -

# USABLE CIRCUMSTANCE
50T ISOVGE4B. -20-907C

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) | Module | Pressure Angle | Standard
e 16 48 3.0 20° JIS B 1603 : 1995
kL
uQ: = peai
.-} o i H = +
SPLINE 1 {E = QQ em
g e 511 mmnd ot el
T = o 4
— = IC > 210
_]:0_:1 S . S O '
| H : _ﬁ—_M@.?ﬁPnP?d M
! K o]
@ DIVENSIONS
(mm)
MODEL ' EEE- B E R AL L E e e R
(oe Y R8d8H eey | 158 | 270 | 135 | 302 | 133 | 300 | 200 | 203 | 9 | 120 |424.5|49.5 | T8 | 69.8 | 1207

_32_




H3V280SH FOR HITACHI NORMAL TYPE

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS (FOR OE02-NORMAL TYPE)

MODEL H3V280SH(OE02 — NORMAL TYPE)
Discharge Rate (cc/rev) 280
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1600

# USABLE CIRCUMSTANCE
50 IS0 WG4AB. -20-907T

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) | Module | Pressure Angle | Standard
b 16 48 3.0 20° JIS B 1603 : 1995

@ DIVENSIONS

(mm)
MODEL A|lB|C|D|E|F|G|H|I |J|K|L|IM|N|DO
(e oo tvep) | 158 | 313 | 135 | 302 | 133 | 300 | 200 | 203 | 9 | 120 |424.5|49.5 | T8 | 69.8 | 1207

_33_




H3VG/H5VG SH SERIES

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS(FOR 3E00 TYPE)

MODEL H3VG140SH H3VG180SH H5VG160SH H5VG200SH
Discharge Rate(cc/rev) 140 180 160 200
Max_ Pressure (kag/cm?) 350
Max. Speed (1pm) 2150 2150 1900 1900
% USABLE CIRCUMSTANCE i L.
507, 18O VG468, -20-007 HYDRAULIC CIRCUIT
‘ Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) | Module | Pressure Angle | Standard
H3VG140/180SH
H5VG160/200SH 17 42.5 2.5 JIS

t+0.C5

8
SUCTICH FORT
25
8—M1281.75P
TAP DE1S BAE JTA4-1ET—3
= SeE C-TYRZ
2-M10x1.5F
TaP P12
/l“ ; =8
] gal 2
5 cE b e o by
I\ 1 8l &
EZ =R
D g
\-__L.-/ :
FCoz12l | | SAE JT44- 334 04T F
PCOZ108 TSR setmiel tzizeop I

\6—k18x2.0P DPZ2 L 1]
@ DIVENSIONS -
MODEL A B G D E F G H | J K L M
H3VG140/180SH
H5VG 160,/ 200SH 224 .5|264.5| 133 264 |425.3| 21 165 180 267 16 386 95

_34_



H3V/H5V SERIES

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 2N0O / 2P00 TYPE)

MODEL H3V63SR H5V80SR H3V112SR/H3V112SL H3V1408R
H3V63SL H5V80SL H5V140SR/H5V1408L H3V140SL
Discharge Rate(cclrev) 63 80 112/140 140
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2650 2460 2360 2150
DIRECTION CW(R)/ CCW(L)
2N00 2P00

AT A2 Al AZ

=1 I
Pir Fi——

o

. Or B1 B2
% USABLE CIRCUMSTANCE
50°C. IS0 VGA6, -20-90C HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch circle dia(mm) Module Pressure angle Standard
H3VB63SR/H3VE3SL o
H5V80SR/H5VS0SL 14 29.6 12/24 30 SAE J744
H3V112SR/H3V112SL o _
H5V140SR/H5V140SL 12 30 2.5 20 JIS B 1603 :1995
H3V140SR/H3V140SL T 425 25 20° JIS B 1603 :1995
9}
A
==
[,
SPLINL mﬁTF: ] GLAR PUMP
 — k:;_
==
;f=. |
_li
K
| |
@ DIVENSIONS -
|
MODEL AIB|/C/DIE/F|IG/H|I |J| K|L M N]JO P
H3VE63SR/H3VE3SL
SRy 98 |195| 89 180|190 | 18 [ 125 76 138255 | |330|210] 140
H3V112SR/MH3V1125L
vevisosmeviaost | 140 | 114|220 | 100 | 224|234 ] 160 | 8 | 78 | 167 | 300 375 | 249 | 160
H3V140SR/H3V140SL 124 | 245 | 114 250 | 258 180 93 | 190 | 343 | 96 | 418 | 287 | 175

_35_



H3V/H5V(SINGLE)

SWASH PLATE TYPE PISTON PUMPS

- SPECIFICATIONS(FOR 2N0OO / 2P00 TYPE)

MODEL H3V63SR H5V80SR H3V112SR/H3V1125L H3V140SR
H3V63SL H5V80SL H5V140SR/HSY1408L H3V140SL
Discharge Rate(ccirev) 63 80 112/140 140
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2650 2460 2360 2150
DIRECTION CW(R)/ CCW(L)
2N00 2P00
Al a1

Pi—

% USABLE CIRCUMSTANCE “Br &1
50, ISO VG46, -20~90°C HYDRAULIC CIRCUIT

@ Dimensions of Shatt End(Spline Type)

MODEL No. of teeth | Pitch circle dia(mm) Module Pressure angle Standard
H3V63SR/MH3V63SL R
H5VE80SR/H5VS0SL 14 29.6 12/24 30 SAE J744
H3V1128R/MH3V112SL o .
H5V140SR/H5V140SL 12 30 25 20 JIS B 1603 :1995
H3V140SR/H3V140SL 17 425 25 20° JIS B 1603 :1995

A
4—-Me10X1. 6P <SAE A—TYPE>
= TAP DP17 -
o Il | 7\
Hlo 56 o :
- - | g
s = 2.4£0.06 244005

SAE=JT44=101=2
SAE B-TYPE

SAE-J748-B2-2
° SAE A-TYPE

S
%of%o LI ]

_— f N
| f % ;% 93 Blo
e @ g e b3 =
— % =18 2 2=
| b Y\ DP16/32X10T
. L EE. i e M
M SAE B-TYPE
@ DIVENSIONS i)
MODEL A B & D E F G H [ J K L M
H3VB3SR/H3VE3SL
Sl lidatici 195 | 98 | 89 | 180 | 190 | 18 | 125 76 | 138 | 210 | 286
H3V112SR/H3V1125L
LEV140SRA1S Y 40S]. 140 | 220 | 110 | 100 | 224 | 234 - 160 8 78 | 167 | 249 | 326
H3V140SR/H3V140SL 245 | 133 | 114 | 250 | 258 180 93 | 190 | 287 | 379

_38_



H3VSP/H5VSP(SINGLE)

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS (FOR 3N09 TYPE)

MODEL H3V140SP H3V180SP H5V160SP H5V200SP
Discharge Rate(cc/rev) 140 180 160 200
Max. Pressure (kg/crm?) 350
Max. Speed (rpm) 2500 2200
A
Pl—]

ENGINE

HYDRAULIC CIRCUIT

# USABLE CIRCUMSTANCE
50T, 1ISO WG4B. -20-807

. Dimensions of Shaft End(Spline Type)

MODEL No.of teeth| Pitchcircledia(mm) | Module | Pressure angle Standard
H3V140/180SP . .
H5V160/200SP i 42.5 2.5 20 JIS B 1603:1995

] = . P+0.05 ACF—T———

722

o | O

M
@ DIVENSIONS (mim)
MODEL | A B|C D |E|F |G| H J/ K/L|M| N|O P Q|R|S
H3V140/180SP

HOVIAIMENSP | 1705 | 246 | 133 122|250 | 258 | 22 | 180 93 | 190 | 2665|385 | 29 | 100 24 28 | 200 | 420

_37_



FLANGE MOUNTING FACE (SAE Rule)

FOR H3V/H5V SERIES

. Flange Mounting face for Gear Pump (H3V63/H3V112/H5V80/H5V140 Single Pump)

H3V63

A-TYPE
SAE J744-82-2

B-TYPE
SAE J744-101-2

B—M10X1.5P
AP DP

[

PCDe106

6—M12x1.75P
TAP DF25

PCCa146

H3V112

A-TYPE
SAE J744-82-2

B&BB-TYPE

SAE J744-101-2

G6—-M12x1.75P
TAP DP25

N
‘\OMJ
© ©

FCLe146

.
o

C&CC-TYPE

SAE J744-127-2

D-TYPE
SAE J744-152-2

6—M12x1.75P

i -
\

161.6

G-M1Ex2.0F
TAF DP30




FLANGE MOUNTING FACE (SAE Rule)

FOR H3V/H5V SERIES

. Flange Mounting face for Gear Pump (H3V140/H3V180/H5V160/H5V200 Single Pump)

H3V140 & 180

A-TYPE
SAE J744-82-2

B&BB-TYPE
SAE J744-101-2

B-M10X1.5P
AP_DP

FLO#108

6-M12x1.75P
TAR DP25

C&CCTYPE

SAE J744-127-2

D-TYPE

SAE J744-152-2

B-M12x1.75F
TAR DP25

6—M1Ex2.CP
TAP DP30

_39_




H3V/H5V DT SERIES

SWASH PLATE TYPE DOUBLE PISTON PUMPS

@ SPECIFICATIONS (FOR 9NOO / 9POO TYPE)

H3V140DT
MODEL H3V63DT H5V112DT H5V180DT H3v280DT
Discharge Rate(cc/rev) 63 112 140/180 280
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2650 2360 2150 1900
Tl
....... || e | —
e I Rm"frgi
= N N e I
LA A0

] RE & LS
LNCINE \P_”_S\ ) \(_ f‘;‘/—

N | 5-;| Dr| B2 |
5 USABLE CIRCUMSTANCE
50, IS0 VGAB, -20-80C : _ HYDRAULIC CIRCUIT

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia.(mm)| Module | Pressure Angle Standard
HaVeaDT | 14 | 296 | 1224 | 30" | ANSIB92.1b:1970
H3V112DT 12 30 25 20°
L = JIS B 1603
H3V1408180DT L= e 25 20 1995
H3V180DT(KOBELCO TYPE) 14 42 3.0 20°
H3V280DT 22 66 3.0 30° DIN5480:1991
T
H el g
e
=t
4 b
@ DIVENSIONS i
MODEL | A|B|C|D|E|F|G|H I J K|/L|M|N|O|P|Q|R|S|T
H3v63DT 98 |195 89 | 18 | 190 180 - 76 |125| |76 138|466 |203
H3V112DT 114|220| 100 234|224 = 78 1160 ; 78 | 167 | 534 269
H3V1408180DT | 140 22 93
vt | | 133[245| 14| T | 258250 1864 | 60 —180| |93 | 190|610 96 |305
5 | % 180
(KOBELCO TYPE)
H3v280DT 158|286 | 128 26 | 302 300 20 | 745| 70 | 115 200| 9 | 115| 208|748 | 104 374

_40_



H3V/H5V DTH SERIES

SWASH PLATE TYPE DOUBLE PISTON PUMPS

@ SPECIFICATIONS (FOR 9NOO / 9P00 TYPE)

MODEL H3V180DTH/H5V200DTH H3V280DTH
Discharge Rate (cc/rev) 180 /200 280
Max. Pressure (kg/cm?) 300
Max. Speed(rpm) 2150 1900

% USABLE CIRCUMSTANCE i
50°C, ISO VG46. -20~90°C HYDRAULIC CIRCUIT

@ Dimensions of Shaft End(Spline Type)

MODEL | No. of teeth | Pitch Circle Dia(mm)| Module | Pressure Angle Standard

H3V180DTH
H5V200DTH

H3V280DTH 18 54 3 20° JIS B 1603 : 1995

17 42.5 &5 20° JIS B 1603 : 1995

. 1
SPLIME _|E
== =5
T —— |
4—RE F | L
J 1] N
@ DIVENSIONS -
MODEL A B - - P B e I J e Rl M N
AL 127 | 245 | 135 | 22 | 2566 | 250 | 180 | 8 | 190 | 456 | 93 | 646 | 96
H5V200DTH |219.6 '
H3V280DTH 143 |1 271 | 150 | 26 | 300 | 300 (200 | 9 | 115|617 | 115 | 783 | 104




H3V/HSV DTH SERIES

SWASH PLATE TYPE DOUBLE PISTON PUMPS

@ SPECIFICATIONS (FOR OEO1-NORMAL & HITACHI)

MODEL H3V180DTH/H5V200DTH H3V280DTH
Discharge Rate (cc/rev) 180 /200 280
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2150 1900

#USABLE CIRCUMSTANCE
507, ISO VG46. -20-80T HYDRAULIC CIRCUIT

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth Pitch Circle Dia(mm) Module | Pressure Angle Standard
H3V180DTH ° :
(EX4008450) iz 42 5 2.5 20 JIS B 1603 : 1995
H3V280DTH -

(EX7508800) 18 54 3 20 JIS B 1603 : 1995
_|
(= & [ —~= : —
L i |
[ | Ed: _?. y I i nl
“ : /\ AMGLE SENSOR sPUnE | :' <9 [ =
gl | = 1A _Eﬂﬁ
-:{u_-_ rw \é — | t ‘ —\_ :jj — |
N - «% LN —
e S W B —
490 E L e ; - o
F G M P

@ DIVENSIONS

(mm)
MODEL A |B |C D |E|F|G|H|I | J|/K|L|M|N|O P
H3V180DTH
(EX4008450) 127 | 231 | 135 | 22 | 258 | 176 | 231 250 (625|180 | 8 | 93 | 190 | 420 | 610
1452
H3V280DTH
(EX7508800) 143 | 271 | 150 | 26 | 302 | 201 | 194 300 | 75 | 200 | 9 | 115 | 203 | 617 | 748

_42_



H3V/H5V DTP SERIES

SWASH PLATE TYPE DOUBLE PISTON PUMPS

Al Psv od A2

(FRONT) ']&%— % [REAR)
t5l—tol
\ J . : B —a—
@: G
% USABLE CIRCUMSTANCE .
50T, ISO VG4, -20-20°C HYDRAULIC CIRCUIT | |
@ Dimensions of Shaft End(Spline-A) (FOR 9NOO / 9P00 TYPE)
MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
HaV63DTP /H5V80DTP : .
H3V112DTP/H5V140DTP 13 158 16/32 30 ANSI BO2.15:1970
H3V140DTP /H5V160DTP » .
H3V180DTP /H5V200DTP 12 o 1D 20 dESBAG0%: 1698
@ Dimensions of Shaft End(Spline-B) (FOR 9NOO / 9P00 TYPE)

MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle Standard
H3V63DTP 14 29.6 12124 30° SAE J744
H5V80DTP 12 30 2.5
H3V112DTP 12/14 30/35 2.5

H3V140/180DTP 17 42.5 2.5 20° JIS B 1603:1895
H5V160DTP 17 42,5 2.5
H5V200DTP 17 425 2.5
@ Dimensions of Shaft End(Spline-C) (FOR 9NOO / 9P00 TYPE)
MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3V63DTP /H5VBDTP - .
H3V112 DTP/H5V140DTP 13 13 1.0 20 JIS B 1603 : 1995
H3V140DTP / H5V160DTP 5
H3V180DTP / H5V200DTP 13 20.6 16/32 30 SAE

@ DIVMENSIONS

(mm)
MODEL AlB|C|D|E|F|G|H I J O SIS I ST S 2
H3VE3DTP /H5VBODTP 98 | 195 | 89 | 18 | 190 | 180 | 177 | 91 | 125 228 | 76 | 464 150 | 212
H3V112DTP /H5Y140DTP 140 110 | 220 | 100 234 | 224 | 214 | 91 | 160 8 265 | 78 | 538
H3V140DTP /H5Y160DTP 22
H3V180DTP/H5V200DTP 124 | 245 | 114 256 | 250 | 257 | 104 | 180 305 | 93 | 618 | 201 | 292

_43_



H3V/H5V DTP SERIES

SWASH PLATE TYPE DOUBLE PISTON PUMPS

.';
| ¥
! R
[ T .
i E | ﬁl
| et 5
— i
a1 ey AT] SR £ e
2 y Pt
L--f;;%_/ _;ﬁE%:;ﬁ
ENG NE == S = I_[J,;

# USABLE CIRCUMSTANCE
50°C, 1ISO VGE46. -20~-90° HYDRAULIC CIRCUIT

@ Dimensions of Shaft End(Spline-A) (FOR 5L00 TYPE)

MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3V63DTP /H5V80DTP ; :
H3V112DTP/H5V140DTP 13 158 16/32 30 ANSI BO2.15:1970
H3V140DTP /H5V160DTP g :
H3V180DTP /H5V200DTP 12 o 1D 20 dESBAG0%: 1698

@ Dimensions of Shaft End(Spline-B) (FOR 5L00 TYPE)

MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle Standard
H3V63DTP 14 29.6 12124 30° SAE J744
H5V80DTP 12 30 2.5
H3V112DTP 12114 30/35 25

H3V140/180DTP 17 42.5 2.5 20° JIS B 1603:1995
H5V160DTP 17 425 2.5
H5V200DTP 17 42.5 2.5
@ Dimensions of Shaft End(Spline-C) (FOR 5L00 TYPE)

MODEL No. of teeth Pitch Circle Dia{mm) Module Pressure Angle Standard
H3V63DTP /H5VSDTP . .
H3V112 DTP/H5V140DTP 13 13 1.0 20 JIS B 1603 : 1995
H3V140DTP / H5V160DTP :

H3V180DTP / H5V200DTP 13 20.6 16/32 30 SAE
A
% : SPLINE=4&

SPLINE-C
- Tlec .

9 SPUNE-B 4 o
&) o =
- { = e
&
) & °
o
L
fd—
K L |
| — i il
@ DIVENSIONS (mm)
MODEL A|B|C|D|E|F|G|H I J | K|LIM|N|O|P
H3VE3DTP /H5VBODTP 98 | 195 | B9 | 18 | 190 | 180 | 177 | 91 | 125 228 | 76 | 464 150 | 212
H3V112DTP/H5V140DTP | 544 | 110 | 220 | 100 234 | 224 | 214 | 91 | 160 8 265 | 78 | 538
H3V140DTP /H5Y160DTP 22
H3V180DTP /H5V200DTP 124 | 245 | 114 256 | 250 | 257 | 104 | 180 305 | 93 | 618 | 201 | 292

—44-



H7V63DTP

SWASH PLATE TYPE DOUBLE PISTON PUMP

@ SPECIFICATIONS (FOR 9X2D / 9Y2C TYPE)

MODEL H7V63DTP ‘ Dimensions of Shaft End(Spline Type)
Discharge rate(cc/rev) 63 MODEL Mo.ofteeth | Pkaciskdamm)  Module | Pressureangle | Standard
Max. pressure (kg/cm?2) 350

H7V63DTP 14 29096 1224 30° SAE
Max.speed(rpm) 2400

a1
_______
i
;‘E‘r
al 2 i

% USABLE CIRCUMSTANCE

—

50°C. 150 VGA6. 20-807C HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline-A) @ Dimensions of Shaft End(Spline-B)
MODEL Mo of teeth | pichdrcedizrel | Module | Pressure angle | Standard MODEL Mo of teath | firhcitedapr]|  Module | Pressurangle Standard
H7V63DTP 10 15.88 | 16/32 | 30° Q;QS: H7VE3DTP 13 13 1.0 3oy [RSES
1970
0 Flange Mounting face for Suction Port ‘ Flange Mounting face for Delivery Port
4=d (mm) ' a_b {mm)
@ o 0—3q € 8 gl e 238
ox < a 508 2=99 ffgi} O
. A b 889 o, A & f 50.8
\_LA c 60 o9 o o g 19
o o d WIS 0P el |e h  W0d50PT
N
0
a = i
! Q=
"1% b B S
ﬁ AL = “S‘f )] .
o 1@ | O f
s
.'\ J u v
SPLINE- & T3 U sPUNE-B
E 55

@ DIVENSIONS

WOEL | A B C|{D|E|F |G H T I K LIR{N{O[PIQIR|S|T]U]Y

HIVG3DIP | 401 | 221 | 181 | 120 | 06 | 208 | 102 | 242 102 | 161 | 18 | 127 |1.2|242.5) 180 | 18 | 127 |31.2|12.5] 201 |76.2| M2

_45_



H7V63DTP

SWASH PLATE TYPE DOUBLE PISTON PUMP

@ SPECIFICATIONS(FOR 9NOO TYPE)

. Dimensions of Shaft End(Spline Type)

MODEL H7V63DTP
Discharge rate(cc/rev) 63 MODEL Noof teeth | Fithinkdéne) | Module |Pressureange | Standard
Max. pressure (kg/cm?) 350
H7V63DTP 14 12996 1224 | 30° SAE
Max.speed(rpm) 2400
Al A2 |
LI |
ol e, |
PL :—EJ]M ?Pz
i
" 50¢, 180 V645, -20-50% HYDRAULIC CIRCUTT

‘ Flange Mounting face for Suction Port

{mm|

. Flange Mounting face for Delivery Port

{mm)

4_
—h
© % a | 508 o 238
@ : q @ 0 @' | e '
Q b | 889 <A A f | 508
A= el N
! ¢ 60 o0 0 o g 19
& S d |M1275p DR \_g. h | WOk SPDRIT
| R
|
A
2—15 BC )
L - <;) < =
£ 1 00
E M
Q
@ DIVENSIONS -
MOOEL [ A | B | C ElF|IGIHL L] ILK|IL]ININ]O[PIOQ]ARI|S
H7VB30TP | 401 | 221 | 181 181 | 102 | 205 | 307 [131.5)31.2 | 127 | 130 | 12.5| 201 | 78.2| 475 | 42 | w2 | 2

_48_




H7V63DTP

SWASH PLATE TYPE DOUBLE PISTON PUMP

@ SPECIFICATIONS(FOR 9C00 TYPE)

. Dimensions of Shaft End(Spline Type)

MODEL H7V63DTP
Discharge rate(cc/rev) 63 MODEL | Noofteeth Ptk Module |Pessseange | Standard
Max. pressure (kg/cm?) 350
H7V63DTP 14 |1 2996 | 1224 | 30° SAE
Max.speed(rpm) 2400
j&]. A2 |
J o >
P1. :| . J:| 5 P2
ENGINE \xr\::(/ijlz:(: J i
BL, _____ :I' _____________ l.;_z___}
" 30¢, 180 V645, 2050 HYDRAULIC CIRCUIT

‘ Flange Mounting face for Suction Port

. Flange Mounting face for Delivery Port

f (mm) _h (mm)
& ' a | 508 293 O O O e | 238
) 3 2 )
__ . b | 889 B D - f | 508
| ¢ | 60 oo O o g | 19
© A4 d ML P \_i L@J h | W01 5PORIT
Q ; PF1/4-a2
) II P ]
2—-15 BC ®
= D - o !
= o - ! 196
- E L M
N Q
@ DIVENSIONS -
MOEL [A|B|[C|D|[E|F|[G]| H]| I JIK| L [M[NJO[P| Q [RIS|T]|U
H7V63DTP | 401 { 221|181 20 | 181{ 102|205 307 | 131.5|31.2 (127 | 12.5 | 201|76.2|475| 130 | 246.5 | 442 | 42 | 28 | 153

_47_




H3V112DP FOR SUMITOMO / CASE

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR 9NOO / 9509 TYPE)

MODEL (FOR SUMITOMO | CASO)
Discharge Rate(cc/rev) 112
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2,000
it i I%
——
s am

[ ]
% USABLE CIRCUMSTANGE HYDRAULIC CIRCUIT

507, 180 VG4s, -20~907

“ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch circle dia(mm) Module Pressure angle Sterdard

H3V112DP :

(FOR SUMITOMO/ 14 35 2.5 20° RS EIENS:
CASE) 1995

@ DIVENSIONS

MODEL | A| B | C (D | E|F |G| H | J | K|[L[M|N|JO| P |Q]|R

H3V112DP

[FOR SUMITOMO/|
CASE)

465 | 145 (4825|3275 4.5 |331.5| 50 368.5| 93 |39.5 114 | 163 |4286 11 (4096 101.6] 11 | 27

_48_



H3V112DP FOR SANY / HYUNDAI @

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS (FOR 9NOO / 9509 TYPE)

MODEL H3V112DP (FOR SANY/ HYUNDAI)
Discharge Rate(cclrev) 112
Max. Pressure (kg/lcm?) 350
Max. Speed (rpm) 2,000

- o
e
.
A PisToN pump | e [ai !
(CUSTOMER'S SUPPLY) i -
i | H
H i

3 R o o P o T
B3 A3 ol

#USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT

507, ISO VG468, -20~807C

. Dimensions of Shaft End(Spline Type)

MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle Standard
H3V112DP 5 JIS B 1603:
{FOR SANY/HYUNDAI) 14 35 2.5 20 1995

o
o
*PF1/2 CRC)
L
2 L3
.:- ‘\!
3 '5\ X
& AR
[]
="
E E
H G

il
o L
=] | =}
L2} =]
(5] Q
B
v

@ DIVENSIONS

(mm)
MODEL | A | B | ¢ | D|E|F | &6 | H|I|J|K|L|M|N|O|P| | a
H3V112DP
(FORSANY | 465 | 145 |482.5(327.5| 4.5 |331.5| 50 [368.5| 93 |39.5| 114 | 163 |428.6| 11 409.6/82.5| 8
{HYUNAD

_49_



H3V112DP(FOR SANY CRANE SC500) WITHOUT EPR

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS(FOR 9S00 TYPE)

MODEL H3V112DP(FOR SANY CRANE SC500)
Discharge Rate(cc/rev) 112
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2,000
wo W T s
|
1 O
i “
JEE= =2l
L] 3
[k
O, |
% USABLE CIRGUMSTANCE L] Y
50, ISO VG46, -20~90°C HYDRAULIC CIRCUIT
. Dimensions of Shaft End(Spline Type)
MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle Standard
H3V112DP
(FOR SANY CRANE) 14 35 25 20° JIS.E,;SOS
SC500 2
,.&/

@ DIVENSIONS
(mm)
MODEL A B C D E F G H | J K L M N 0 P Q R
H3V112DP
(FOR SANY CRANE)|465.5| 145 | 483 387 | 45 | 391 | 50 |368.5| 93 |39.5| 114 163 |428.6| 11 |409.58255| 24 | 8
SC500 [

_50_



H3V112DP FOR KOBELCO / NEW HOLLAND WITH EPR

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR 9S00 TYPE)

MODEL H3V112DP(KOBELCO / NEW HOLLAND)
Discharge Rate(cc/rev) 112
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2,000

%USABLE CIRCUMSTANCE g
50°C. IS0 VG46 -20-90°C

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch circle dia(mm)| Module | Pressure angle | Standard

H3V112DP
(KOBELCO/ 14 35 25 20° JI§ B 1603
NEW HOLLAND) :1995

@ DIVENSIONS
(mm)
MODEL A B & D = F G H | J K L M N o P Q R
H3V112DP
(KOBELCO / 471 | 145 483 | 387 | 45 | 391 | 34 | 428 | 93 (395 114 | 163 |428.6) 11 |4095 826 |24 | 8
NEW HOLLAND)




H3V112DP FOR KOBELCO / NEW HOLLAND WITHOUT EPR

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR 9S00 TYPE)

MODEL H3V112DP(KOBELCO / NEW HOLLAND)
Discharge Rate(cc/rev) 112
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2,000
AludaZ b2
o [ "ty TG
m?lll *L Ltlll[f
o gt g
P N / TJ—'QQ:
J‘%_. )
—'ﬂ_\ ;/‘: I
-

HYDRAULIC CIRCUIT

Sy
i

% USABLE CIRCUMSTANCE
507C. 1ISO VG4, -20~907

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch circle dia(mm)| Module | Pressure angle | Standard

H3V112DP
(KOBELCO / 14 35 25 20° JI§ B 1603
NEW HOLLAND) 11995

@ DIVENSIONS

(mm)

MODEL A B c D E = G H J K £ M N o E Q R
H3V112DP

(KOBELCO / 471 | 145 | 483 | 387 4.5 | 391 | 34 | 428 | 93 | 395 | 114 | 163 4286 11 4095|826 | 24 | 8
NEW HOLLAND)

_52_



H5V160DP FOR NORMAL TYPE @

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR 9NOO / 9P00 TYPE)

MODEL H5V160DP (FOR NORMAL TYPE)
Discharge Rate(cc/rev) 160
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2,350

=2IRIES
A HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle | Standard
(Fom ﬁ%\ga&\rﬁpwpa 15 47.625 8/16 30° ANS| B92.1b :1970
ER o Pacee)

o

DQELIVERY PORT

PF1/2
DELWERY PORT

-, PF3/8
M- DRAIN PORT

2K
#L

OO

Lo poRT \
@ DIVENSIONS o
MODEL | A | B | C | D |E|F |G |[H| I |[J|K|L|M|N

HOV160DP | 555 | 160 |582.5| 398 |136.5| 422 | 456 | 93 | 5 | 345|508 | 511 | 530 | 135

[FOR MORMAL TYPE)

_53_



H5V160DP FOR CATERPILLAR @

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR 2N00 / 9N0O / 9P00 / 9500 TYPE)

MODEL H5V160DP
FOR CATERPILLAR
Discharge Rate(cc/rev) 160
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2,350
IR
Eggé
—
# US;"—".\BLE CEHCUMST!—\NCF HYDRAULIC CIRC'UIT ) o
S0°C, 1ISOVGE4E, -20-907:
‘ Dimensions of Shaft End(Spline Type)
MODEL No of teeth | Pitch circle dia(mm) Module Pressure angle Standard
H5V160DP o :
FOR CATERPILLAR 15 47.625 8/16 30 ANSI B92.1b :1970
UNF9,/16 UNF9/16
Psv UNF9,/16 Pi1(Pi2)
a3 [+ I AT
DELIVERY PORT
UNF7/8 —
DELIVERY PORT

PRESSURE SENSOR
PORT

SUCTION PORT E
| F
G

@ DivENSIONS -

MODEL | A B G I & A S = F G | H I J K L M | N

HOV1BODP | 555 | 160 |582.5| 398 |136.5| 422 | 456 [1185| 5 |34.5(50.8 | 511 | 530 | 135
FOR CATERPILLAR

_54_



PARALLEL TYPE SWASH PLATE PISTON PUMP

H5V200DPH FOR HITACHI @

@ SPECIFICATIONS (FOR OE02-NORMAL & HITACHI)

MODEL H5V200DPH (FOR HITACHI)
Discharge Rate (cc/rev) 200
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1900

#USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT fbh
50 18O VG46, -20~90°C B3 43

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) Module | Pressure Angle Standard
(Eggi??fcpﬂ) 17 42.5 2.5 20° JIS B 1603 : 1995

DELIVERY PORT

[
i

=l o g
® PF3/4

|| spune

OpL
i |

§ o iy
HTO
a
i

L

E B
I G F 2]
@ DIvVENSIONS -
MODEL A B Cc D = = G H | J K L M
508
H5V200DPH 5 B30 =S i
o | 47 129 |52.4| 390 | 520 | 105 | 390 | 628 | 575 | 13.5 oxe 17103
9 428.6 &EJM} NO.3)

_55_



H5V200DPH @
PARALLEL TYPE SWASH PLATE PISTON PUMP

' SPECIFICATIONS (FOR 9N00 / 9P00 / 9S00 / ZX00 TYPE)

MODEL H5V200DPH
Discharge Rate (cc/rev) 200
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1900

#USABLE CIRCUMSTANCE

50°C, 1SO VG46, -20~90C HYDRAULIC CIRCUIT

@ Dimensions of Shaft End(Spiine Type)

MODEL No. of teeth | Pitch Circle Dia(mm) | Module | Pressure Angle | Standard
H5V200DPH 17 42.5 2.5 20° JIS B 1603 : 1995
@) DIVENSIONS ot
MODEL A BE RS R R B S S E G S I o R e 5 TV i N
508
H5V200DPH| 559 | 160 | 580 | 47 | 390 {1285 5 | 390 | 524 |5196| 93 | 135 | 530
511

_58_



H5V200DPH FOR HITACHI

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS (FOR OE02-NORMAL & HITACHI)

MODEL H5V200DPH (FOR HITACHI)
Discharge Rate (cc/rev) 200
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1900

% USABLE CIRCUMSTANCE
507 18O WV3E46, -20-90°C

@ Dimensions of Shaft End(Spline-A)

MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle Standard
H5V200DPH(FOR HITACHI) 15 | 47.625 8/16 30° ANSI B92.1B:1970
@ Dimensions of Shaft End(Spline-B)
MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle Standard
H5V200DPH (FOR HITACHI) 14 | 29.63 12/24 30° SAE J744
1
DELIVERY PORT .
FF1/2 L]
- © ] lll_ *DELIVERY PORT
o
—— ;: 30 -
:;_ 7 PCD#R i
. - g WSl T f=J
@ 4
,J( iy
E =
4-M16K2.0P \\.a...____%
il L M
D M o
P
@ DIvVENSIONS -
MODELIABCDEFGHIJKLMNOPQR8
] B B 508
H5V200DPH 530 3 (SAE JE17 NO.2)
et | 18 138.5| 52 | 400 | 520.6 | 686 | 400 | 50.6 [103.7| 161 | 145 | 413 | 160 | 716 | 674 | 180 | 511 =
409.58
42862 | 6 (SAE JE17 NO.3)

_57_



H5V212DPH

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR 2N0O / 9NOO / 9P00 / 9800 TYPE)

MODEL H5V212DPH
Discharge Rate(cc/rev) 212
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1,800

#USABLE CIRCUMSTANCE

507, 190 VWG48, -20-907: HYDRAULIC CIRCUIT R

@ Dimensions of Shaft End(Spline Type)

MODEL No of teeth | Pitch circle dia(mm) Module Pressure angle Standard
15 47.625 8/16 30° ANSI B92.1b :1970
H5V212DPH
17 53.975 8/16 30° ANSI B92.1b :1970
Pi1(Pi2)
%\ = E /_QELL!EELEQEI PF1F7: S; /4
.
SF‘LINE_I = o
TRl = 0 K
SUCTION PORT %4
J
_ PCDEB X = | Byt
@ DIVENSIONS St
MDEL | A|B|C|D|E|F |G |H|IT|]J|K|L|M|N|]O|P
50.7
H5V212DPH | 135 | 530 511 15905 | 401 | 5 | 68.5 |1395| 401 |4945| 612 | 554 | 141.8| 160 | 583.5
57.15

_58_




H5V212DPH @
PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS(FOR OE02-NORMAL & HITACHI)

MODEL H5V212DPH
Discharge Rate(cc/rev) 212
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1,800

(ol —ioe
ES USﬂP.BLE CJHCUMSTANCE '—l
507, ISO VG486, -20-907 HYDRAULIC CIRCUIT W5 3
@ Dimensions of Shaft End(Spline Type)
MODEL No of teeth | Pitch circle dia(mm) Module Pressure angle Standard
15 47.625 8/16 30° ANSI B92.1b :1970
H5V212DPH
17 53.975 8/16 30° ANSI B92.1b :1970
PSV1(PSV2)
PF1/4
——
_DELIVERY PORT
O .E: L
B ol g = 0L
SUCTION PORT
J
G K
! | H L
@ DIVENSIONS -
MODEL AT B I G DR B G | JESIG L S N e R
50.7
H5V212DPH | 135 | 530 511 |5905| 401 | 5 | 685 |1395| 401 |4945| 612 | 579.3 | 141.8| 160 | 583.5
T L]

_59_



H5V212DPH FOR CATERPILLAR @

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS (FOR 9N0O / 9P00 TYPE)

MODEL FOR CATERPILLAR
Discharge Rate(cc/rev) 212
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1,800

Pi1 B i Pi2
5 i $ 5% e
#USABLE CIRCUMSTANCE Or——a
507, ISO VG486, -20-907 HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline Type)
MODEL No of teeth | Pitch circle dia(mm) Module Pressure angle Standard
H5V212DPH o .
FOR CATERPILLAR 15 47.625 8/16 30 ANSI B92.1b :1970
UNF9/18
Pi1{Pi2) . DELIVERY PORT UNFg 1:-13 3 e
\ F / OlL LEVER G;(U)GR'Er a3
C) [ | Vg .-.-.
L] 1] ol I'| e
SRl e J
PRESSURE SENSOR \j ICTION_PORT O
PORT -
—I'I 4 OlL_OUTLET PORT
G K ] o
I H L o
@ DIVENSIONS -
MODEL S AR S ISR SRS G S S S SRS RS SN SO P

H5V212DPH
skt 135 | 530 | 50.7 | 511 [ 5905 401 | 16 | 44 |130.5| 401 | 4945 | 628 | 554 | 1418 | 160 | 583.5

_80_



H5V212DPH FOR VOLVO

PARALLEL TYPE SWASH PLATE PISTON PUMP

@ SPECIFICATIONS (FOR OE02 TYPE)

H5V212DPH
flas FOR VOLVO
Discharge Rate(cc/rev) 212
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1800
—— : S 3 e s
= o B
i . i[ e . |?| :
i ________ U T, s
AT S
| | I |
o= ) L=
T‘T‘ ol
i
HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline Type)
MODEL No of teeth | Pitch circle dia(mm) Module Pressure angle Standard
H5V212DPH . :
s 15 47.625 8/16 30 ANSI B92.1b : 1970

@) DIVENSIONS

(mm)
MODEL A B c D E E G H I J K L M N (0} E Q
H5V212DPH
FOR VOLVO 135 | 530 | 50.7 | 511 |5646.5| 397 | 12 | 45 | 269 | 397 | 206 | 135 |141.8| 160 | 277 |302.5| 579




H5V212DPHD FOR DOOSAN

PERALLEL TYPE SWASH PLATE PISTON PUMP
H5V212DPHD can be applied on DX500LC-7&DX520LC-7 instead of ABV0215

’ SPECIFICATIONS
MODEL H5V212DPHD (DX500LC-7 & DX520LC-7)
Discharge Rate (cc/rev) 212
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 1800

o I : by
I

# USABLE CIRCUMSTANCE

50, IS0 VG46. -20-901C HYDRAULIC CIRCUIT J El J

@ Dimensions of Shaft End(Spline Type)

MODEL No.of teeth Pitch circle dia(mm) Module Pressure angle Standard
H5V212DPHD o
(DX500LC-7 & DX520LC-7) 24 35 20 30 DIN 5480

*DELVERY PORT
Ps1, Ps2

al, a2

AN

— o |

D
2@ (1111

=

*FLANGE MOUNTING FACE
AN

K

@ DIVENSIONS

(mm)

MODEL A B G D E F G H [ J K L M N o] P Q
H5V200DPHD gl}s
(DX500LC-7& | 5746| 160 | 580 | 49.5 | 398 5 10 | 273 | 398 | 528 | 93 | 206 | 135 | 58 | 13.5 | 530 5617
DX520LC-7) NOA)

_82_



H3V140DTPK FOR KOMATSU

H3V140DTPK can be applied on PC300-6, 310-6, 330-6, 350-6
instead of HPV132C PUMPS

@ SPECIFICATIONS (FOR 3L09 TYPE)

MODEL H3V140DTPK . Dimensions of Shaft End(Spline Type)
{PC300-6, 310-6, 330-6, 350-6)
Discharge Rate (cc/rev) 140 MODEL | No.ofteeth |Hhcrdedion) | Module | Prsure ingle | Standard
sl el 0 H3V140DTPK
JIS B 1603
; ; 35 ; i
M Speed (o) 2500 ponyms 22 28| 2| Ve

ENGINE ey
# USABLE CIRCUMSTANCE

e HYDRAULIC CIRCUIT '

. Flange Mounting face for Suction Port 0 Flange Mounting face for Delivery Port

(mm)
Ie 4—d (mm) f f e 84
O XT~ B— a | 619 Z_hﬂ é & t | 7.8
‘ o b | 1064 W Do g | 570
{} (& @76 Q ‘e} {9 % h @25
b d |msx20p DS e 8—i i [ w121 75p ppea
]
Q
- i T g i
| A PR 1 AR =T
= W =Y o 2 = C £ g
) D | H H——1 ] L1 |
i |
i)
E F o
A
@ DIVENSIONS (mm)
MODEL S AT NB G S EE S SRS E | S H B S SR SN0 S B (SR
HV140DTPK
pexns peangy | 992 [ 9112 225 | 340 | 8 | 466 | 8 | 3B | 603 | §O1 | 66 | 195 | 291 [6302| 135 | 228 | 129 | 201
(PCI30-6, PC3505)

_83_



H3V140DTK FOR KOMATSU

H3V140DTK can be applied on PC300-7/8, 310-7/8, 320-7/8, 330-7/8, 350-7/8
instead of HPV140 PUMPS

@ SPECIFICATIONS (FOR 3L00 TYPE)

— H3V140DTK @ Dimensions of Shaft End(Spline Type)
(PC300-718, 310-718, 320-7/8, 330-7/8, 350-7/8)
Discharge Rate(cc/rev) 160 MODEL  |No.ofteeth (Fieherddém)| Module | Pressreangl | Standard
Max. Pressure 350 H3V140DTK
(PC300-718, 310-718) 20 50 25 20° JlS-1ng1,g{}3
Max. Speed (rpm) 2150 et '
Al AZ

PL1 mgh %MPL2
Ay

Er~.G|NE'=%=‘j
s
pril gy
B US_ABLE [ RCUMST‘A‘\CE ' !
905, [SONGHE, 20T HYDRAULIC CIRCUIT

- Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port

O e mm) . . i)
@ a 61.9 e 2] 76
b | 1064 M%éi’ égéo f | 278
C @76 g 7.2
d |mexzopors QL{Q 2 N4 - h 025
. a i M2X1.75P DP
i = Fh
L i=n
= = oo T =
= TX T e
N
EllE «© -
D
E | &
H | -

@ DIVENSIONS )
MODEL | A B C D E F G H | J K L M | N
H3V140DTK
e 3 | 545 5112 215 | 330 | 8 | 445 8 48 | 643 | 541 | 65 | 195 | 261 | 119
(PC320-7/8 ,330-18)

(PCIE0-T/8)

_84_



H5V160DPC FOR CATERPILLAR

PARALLEL TYPE SWASH PLATE PISTON PUMP
H5V160DPC can be applied on CAT330L/B instead of A8V0160 PUMP

@ SPECIFICATIONS (FOR 9NOO / 9P00 TYPE)

MODEL H5V160DPC(CAT330L/B)
Discharge Rate (cc/rev) 160
Max. Pressure (kg/cm?) 350
Max. Speed(rpm) 2200

al A1 W3AZ o2
e

—— p—t

i;lJSABLECIF’.CUMSTANC HYDRAULIC CIRCUIT Ee e

A0°C, 1ISQVGE4E, -20-007

. Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle Standard
H5V160DPC . :
{CAT330L/B) 15 45 3.0 20 JIS B 1603: 1995

CELYERY POST £
* o
o - = E
SO T
= —
J 2
| =
2] Al
MIEQEL/
*FLANGE MCUNTING FACE
. F |
H
] |
@ DIVENSIONS o)
e | a2 S e |l Slele|lelilale|olw@t|lo|lel2|la|®| =
508
HSVISODPC | 555 | 160 | 80 | 580 | 398 | 137 | 5 | 422 | 30 | 557 | 44 | 207 | 134 | 38 | 443 | 50.4 | 13.5 | 530
(CAT330LIB) 511

_85_



H5V200DPC FOR CATERPILLAR

PARALLEL TYPE SWASH PLATE PISTON PUMP
H5V200DPC can be applied on CAT345L/B instead of A8V0200 PUMP

@ SPECIFICATIONS (FOR 9NOO / 9P00 TYPE)

MODEL H5V200DPC(CAT 345L/B)
Discharge Rate (cc/rev) 200
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2150

Al Pev olAZ
FIT_’ el

il % i3

=

$-—=0r3
% USABLE CIRCUMSTANCE )

50°, 150 YG46. -20-807" HYDRAULIC CIRCUIT &7 ni_|

. Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle Standard

H5V200DPG(CAT345L/8) 15 45 3.0 20° JIS B 1603 :1995

H! B
:
£
5

[

°
°

il

@ DIVENSIONS

MOBEL 1o A8l B G A D EIRIR 6 S [ i B N S Oe EE RS R S s T

HOV200DPC | 555 | 160 | 80 | 584 308 136.5| 5 |422| 30 | 557 | 44 | 207 | 134 | 25 | 30 4705 504 | 530 | 135
(CAT345LIB) 511

_88_



PARALLEL TYPE SWASH PLATE PISTON PUMP
H5V140DPD can be applied on DX330/340/350/380 instead of A8V0140 PUMP

H5V140DPD FOR DOOSAN @

@ SPECIFICATIONS (FOR 9NOO / 9POO TYPE)

MODEL H5V140DPD(DX330/340/350/380)
Discharge Rate (cc/rev) 140
Max. Pressure (kg/cm?) 350
Max. Speed(rpm) 2450

z
<3 r.

5 USABLE CIRCUMSTANCE Bl
50°C. IS0 VG486, -20~90°C HYDRAULIC CIRCUIT &

. Dimensions of Shaft End(Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle | Standard

HoV140DPD 24 48 2.0 30° DIN5480 :1991

(DX330/340/350/3B0)

*DELIVERY PORT
UNF 1 £0-13F,

$409.58

@ DIVENSIONS

MODEISRY 564 R S Bee S8 WHIc ST SIS o S 0 B S e AR Al S B B S G SRR 8

HOVI400PD | 500 | 160 15305( 398 | 6 [1365| 422 | 20 | 456 | 93 |495| a4 | 207 | 134 |4286| 11 | 530 | 44 | 11
(DX330/34013501380)

_87_



H5V200DPD FOR DOOSAN

PARALLEL TYPE SWASH PLATE PISTON PUMP
H5V200DPD can be applied on DX400/420/450/470 instead of A8V0200 PUMP

@ SPECIFICATIONS (FOR 9NOO / 9P00 TYPE)

MODEL H5V200DPD(DX400/420/450/470)
Discharge Rate (cc/rev) 200
Max. Pressure (kg/cm?) 350
Max. Speed(rpm) 2200

al A1 W3IAZ o
1 . 5

o e

: LdDrt 2
| B
Lx oy
P
HYDRAULIC CIRCUIT 5555 5
. Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle Standard
Hova00RED 24 48 2.0 30° DIN5480:1991
WPDHT\ E
PF3/8 o 7 L N
< ; . s, ;EEQ
= ] Ti
*PF3/4 =] T 1 -
|ON PORT 'jUXJlQNj’_QEJ_/
MOUNTING FACE *FLANGE MOUNTING' FACE
CTION PORT _ ____FOR SUCTION PORT/ . e B .
J |
@ DIVENSIONS o)
VI E 1S /AT 3 (- 1 = = A N T/ TN S 2 S (R S
HSV200DPD | 555 | 160 | 80 | 580 | 398 | 137 | 5 |422| 10 | 557 | 44 | 207 | 134 | 38 | 454 |49.5(13.5| 530 208
(DX400/4201450/470) ' ' 511

_88_




H3V112DTPE FOR HITACHI

H3V112DTPE can be applied on EX200-2/3, EX210-2/3, EX220-2/3

instead of HPVO91DW/EW PUMPS

@ SPECIFICATIONS (FOR 3L09 TYPE)

MODEL H3V112DTPE(EX200-2/3, EX210-2/3, EX220-2/3)
Discharge Rate (cc/rev) 112
Max. Pressure (kg/cm?) 350
Max. Speed(rpm) 1900

#USABLE CIRCUMSTANCE

507, 130 VG48, -20-907 HYDRAULIC CIRCUIT‘ |
. Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle Standard
fnt 16 40 2.5 20° JS B 1603: 1995

@ DIVENSIONS

12—#P Through

[ LI [e 0 ([ &
H
$409.6

(mm)
VepEL | oA | Bl e | B | E | EI@ | R0 LN @ | E
H3V112DTPE
EEET}‘% 139 | 178 | 28 | 114 (2692 192 | 220 | 283 | 556 | 444 | 7 58 | 428 [248.6| 225 | 11
(EX220-2/3)

_89_



H3V112DTE FOR HITACHI

H3V112DTE can be applied on EX200-1, EX210-1, EX220-1
instead of HPV116 PUMPS

@ SPECIFICATIONS (FOR 9NOO / 9P00 TYPE)

MODEL H3V112DTE(EX200-1, EX210-1, EX220-1)
Discharge Rate (cc/rev) 112
Max. Pressure (kg/cm?) 350
Max. Speed(rpm) 2150

LY a4 AZ
— Ty
(FRONT) o |l j (REAR)
[—1

5 o]
Pil Fiz
B1 |
% USABLE CIRCUMSTANCE e
><50“0, ISO VG46, -20~90C HYDRAULIC CIRCUIT
. Dimensions of Shaft End(Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) Module Pressure Angle Standard
H3V112DTE . .
. . 15 45 3.0 20 JIS B 1603 :1995
5 12—8N THROUGH PCDgM
s o 4
5 =
1 SPLINE
3 () © = L ©
< — | "z ?)0.. = -I "“'] %;
| s olo I i 3
2 Q (3] B K —y
)
F

J G
L K
@ DIVENSIONS -
MODEL | & | B e D E | "Ele hH ke L M N
H3V112DTE
eansoony | 450 | 29 | 153 | 170 | 50 | 58 | 7 | 294 | 62 |657.8| 19.4 [679.6| 428 | 11
(EX220-1)

_70_



H3V112DTK FOR KOMATSU

H3V112DTK can be applied on PC180, 190-3/5, PC200, 210, 220-3/5
instead of HPV90 PUMPS

@ SPECIFICATIONS (FOR 5NOO / 6NOO TYPE)

MODEL (PC180 19&%&?2%0%15 220-3/5)
e ‘DimensionsofShaft End(Spline Type)
Discharge Rate (cc/rev) 112
MODEL  |No.ofteeth |Pirasedarn| Module |Prssieenge Standard
Max. Pressure (kg/cm?) 350
H3V112DTK - JSB1603
x.Sposd o 1900 iyl I W I

T Y
B | Lr‘i Bz

% USABLE CIRCUMSTANCE
. 507, ISO VG486, -20~807 HYDRAULIC CIRCUIT

. Flange Mounting face for Suction Port 0 Flange Mounting face for Delivery Port

(mm)
(mm) i3 "N e 62
a 88.9 5 hé)(& éb 33— f 23.8
b | 50.8 5 o g | 508
& @efo oo o | h 319
d |M2x175PDpis L e B || M10x1.5PDpd5
PPN .

g
m

ST O S,
NN
]
@ DIVENSIONS -
| |

MODEL A B C D E|F|G|H|I J K|L|IM|[N|[O P|Q
H3V112DTK

(PC180,190-355) | 11 450 7 | 28 |2295|292 | 419|588 | 86 | 323 | 114 | 150 | 138 | 170 | 145 [330.4| 280
{PC200, 210, 220-3/5)




H3V112DTK FOR KOMATSU

H3V112DTK can be applied on PC200-6, PC210-6, PC220-6
instead of HPV95C PUMPS

@ SPECIFICATIONS(FOR 3L00 TYPE)

H3V112DTK
MODEL
|BG200:210; 220°6) . Dimensions of Shaft End(Spline Type)

Discharge Rate (cc/rev) 12

MODEL  |No.of teeth|Pundedann| Module | Pressueange| Standard
Max. Pressure (kg/cm?) 350 |l

H3V112DTK - | JSB1603
Max. Speed (rpm) 1900 (PC200, 210, 2206) L v & | & 11995

Lo |
[ X1 ﬁ;}]:u—'— — B e
it
Htt -+
ENGIEN \\_ X -\T--
% USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT

50°C, 1ISO VG486, -20-907

. Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port

(mm)
4—rc e (mm) f . e 62
Y ,/Ff?< Tes! a | 889 z—hé} 66 f | 238
A b | 508
N VA c | @60 S A BT
—@- h_-}—_/ Q _@ _@_ ! ‘ h 919
/ 1 d |Mix17Popie e \8=i [ Mi0X1.5P DS
Q
2 IS C)
PRI/4
—
VAN b
/| g
—

[
)\

SUCTON
FIFE{BOA)

75

@ DIVENSIONS -
MODEL |A B|C | D|E F|G|H|I|J K|L|M/N|O|P|Q
H3V112DTK

(PC200, 210, 220) 11 | 450 7 | 28 |2295) 323 | 419 | 588 | 86 | 292 |246.6/ 150 | 138 | 170 | 145 | 222 | 270

_72_



H3V112DTK FOR KOMATSU

H3V112DTK can be applied on PC200-7/8, PC210-7/8, PC220-7/8
instead of HPV95A PUMPS

@ SPECIFICATIONS(FOR 3L00 TYPE )

H3V112DTK
MODEL
(FC200, 210;220-7/6) . Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 112
MODEL  |No.oftesth P eedap| Module |Pressueenge Standard
Max. Pressure (kg/cm?) 350
H3V112DTK » | JSB1603
Max. Speed (rpm) 1900 (PC200, 210, 220-7/8) L v & | & 1995
-_--_&1_..#!.._
Wﬁ‘

% USABLE CIRCUMSTANCE
: 50°2, IS0 VGAB, -20~807 HYDRAULIC CIRCUIT

' Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port

(mm)
(mm) f L e | 62
a | 889 z_hé}g é © f | 238
b | 508 B Ho g | 508
c | @60 olo o % |Lh | e19
d |M2x175PDpi8 e & i [M0X1.5PDp25
S |
PF1,/4 S N # =
$ s $ : ol =
4 L] ge 2
® IR =
: / \
X ’PII'_J/4 PSI#EC&&:)\/ . I
@ DIVENSIONS (mm)
MODEL 'A|B|C|D|E|F|G|H|I|J|K|L|M|N|O|P|Q

H3V112DTK

(PC200, 210, 22078) 11 450 7 | b2 |229.5) 323 | 419 | 588 | 292 | 428 | 247 | 150 | 138 | 170 | 145 | 220 | 269

_73_



H3V112DTK-E FOR KOMATSU

H3V112DTK-E can be applied on PC200-6, PC210-6, PC220-6 @
instead of HPV95C PUMP

@ SPECIFICATIONS(FOR 3L00 TYPE)

H3V112DTK-E
MODEL
|BG200:210; 220°6) . Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 112
MODEL  |No.of teeth|Pundedann| Module | Pressueange| Standard

Max. Pressure (kg/cm?) 350 | 0 G | | _

H3V112DTK -E - | JSB1603
Max. Speed (rpm) 1900 (PC200, 210, 2206) L v & | & 11995

-fé |
sl o llae

(- b
— [
bk )/{,ﬁ ___________
E R T
W
502, 190 V646, 20-50C HYDRAULIC CIRCUIT

. Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port

(mm)
d—c e (mm) f . e 62
Y ,/Ffﬁ..-( Tar) a | 889 z—hé} é © f | 238

{ I/ A b A iz
o A /) = B O o] ws
PN \J/ o c @60 oleo o ] h 219
/ d [ M2xi75PDyte e %—i i | MHOX1.5P D5
. 1

o h (o] SUCTION
PIPE
o - EPE(80R) |
i
F
2531 a

@ DIVENSIONS

(mm)

MODEL | A|B|C|D|E|F|G|H|I|J|K|LIM|N|O|P|Q

H3V112DTK-E
a0 210 206)| || |450| 7 | 28 |229.5)323 | 419 | 588 | 86 | 292 |246.6| 150 | 144 | 170 | 145 | 222 | 270

_74_



H3SP30/36

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS
MODEL H3SP30 H3SP36
@ Dimensions of Shaft End(Spiine Type)
Discharge Rate(ccirev) 30x2 36x2
MODEL | No. of teeth | Pich crcle digimm)|  Module | Pressure angle| Standard
Max. Pressure (kg/cm?) 260
Max. Speed (rpm) 2300 H3sSP30/36 15 225 15 20° |JIsB 1603

|
1

a2 GEAR PUMP (OPTIONAL)

gL F—

SINGLE DOUBLE

% USABLE CIRCUMSTANCE bt 8 GEARBONE.  “CEARPUMD
50°C, 1SO VG46, -20~80°C HYDRAULIC CIRCUIT
— . 0 Flange Mounting face for Suction Port
e m‘m\\ (mm)
- ﬂ ; | a 42.9
. s
¥ i b 77.8
i — @@Mﬂ@ | %a
o 0 3 c 48.3
i _LM & 2 L& d M12:x1.75P Dpia
B A
Dh‘:"J{hPl;\'z"l:&N
_BIERL )
e € =
G o1y © HT 4
' & i -
H IBi EENE
ol = ,@%, ! |_| M L
e | s AR O
- \ experssy Haetie! - "
| I v W
= o
F ]
@ DIVENSIONS o)
MoDEL |A|B|c|D|E|F|la|H|I1|J|kK|L|M|N|O|P|la|R|Ss|T|U|V | W|X
|
H3SP30/36
SINGLE 92.5 301.5 — [318.5
Sggi:;“;: 226 101|197 127| 33| 8 |56 60 | 70 | 16 | 67 29 82 | 58 [194|311| 18 |90.5|212 | 244
DOUBLE 166.5] 311|376 [392.5
GEAR PUMP

_75_



H3SP36 FOR TAKEUCHI

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

MODEL H35P36 (FOR TAKEUCHI)
- Dimensions of Shaft End(Spline Type)
Discharge Rate (ccirev) 36 X2
MODEL Hooftesth  Filch circle daimm) Modub Pragsure angle Standard
Max. Pressure (kg/fcm?) 260
Maxt Sn=ed (romn) 2,300 o 15 225 15 20 Js
Pz l:f Fl A1 sz
< lO :

# USABLE CIRCUMSTANCE
50°C, 1ISO VG486, -20~807C

Bi
SUCTION PORT |

Fi[PF1,/4)

B A
AV(PF3/4)
DELIVERY PORT
F2(FF3/8)
L L-1- 2 - -]
G1(PF1/4)
RT -]

L . Flange Mounting face for Suction Port

o] g (o) SPUNE—A )
; i mm
s D ; ] 4—d (
7 o ! WL b}__ 3 :
3 o @ B1 B2 A3
A4{PF3/8) 1k | 1 J (SUCTICMN PCORT) | (SUCTION PORT] | (DELIVERY PORT}
DELIVERY PORT ¥ : = B T
Sl | a 429 302 26.2
EIELNE;\B" PORT m_ |
cot pomt \ e o b 779 58.7 52.4
DELRERY SORT [ < e | 48 32 24
l F : K d | WM120175P | M10x1.5P M10x1.5P
s ‘ -@ -@- | Dpig Dpi5 Dpi5

@ DIVENSIONS -

MODEL A B C v} E F G H J K B M N Q P Q R 5 F u v W X i

H35P36
(FOR TAKELICHI) 226 (1694 101 197 |285.5 378.5 |3954 | 127 25 33 & 56 60 70 16 26 42 65 a5 184 256 18 a1 244 | 244

_78_



H11VLO190/260

SWASH PLATE TYPE PISTON PUMPS

’ SPECIFICATIONS(FOR H11VLO190 & O260LRDU)

MODEL H11VLO190/260
Discharge Rate(cc/rev) 190 / 260
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2500/ 2300

iz
A,
(&‘ 4

I it et | HYDRAULIC CIRCUIT
@ Flange Mounting face for Suction Port ‘ Flange Mounting face for Delivery Port
.
S {mm} #g 4-h {(mm)
@ HTVLO130 | H11VLO260 H11YLO180 | H11VLO260
% a | 1207 1302 4@ = e
b 699 778 v % f 794
& & c 9 100 & @ g 38
d M16x2.0P f | h M16x2.0P
A B
of g e SPLINE JH&ET
. CINE)
T M °
S J'\L _/ . ol = i e k&
° E:g'e ® : S
—— 2101.655.0s d | la} 7 g%
4-M12x1.75P . & o
| J
@ DIVENSIONS : ‘ -
MODEL |A|B|C|D|E|F |G| H]|I|[J|[K|L|M|N|O]|P]| Q]| R/|SPLNE
H11VLO190 | 34 | 35 [200.5 66 27 1196.5| 321 40 247
146 165.1 159 65 2245|2625(2245( 273 | 3852 21
H11VLO260 | 40 | 35 | 212 72 30 | 214 | 346 4375 28T

_77_



HSF20S/305/35S SWASH PLATE TYPE PISTON PUMPS
FOR DRILL & BORING MACHINE

L{__ |

&
LA

R3V SERIES B

HEV SERIES C

HSF20S HSF208
HSF308 HSF30S
' - HSF355 HSF355
gl e | sucrionporr DELIVERY PORT
@ SPECIFICATIONS
MODEL HSF20S | HSF30S HSF35S
Discharge Rate(cc/rev) 20 30 35 ~ 5
Max. Pressure (kgicm?) 250 HSF20S8 TJIF
M. peed o) 2360 H3V SERIES HaF35S
H5V SERIES | _SINGLE PUMP
. Flange Mounting face for Suction Port ’ Flange Mounting face for Delivery Port
(mm) (mm)
MODEL | a | b | ¢ d MODEL | a | b | ¢ | d e
HSF20S HSF20S
HSF30S |30.2| 59 | @32 | M10X1.5P Dp20 HSF30S [23.9| 51 |@19| - |M10X1.5P Dp20
HSF358 HSF35S
@ DIVENSIONS )
MODEL A B C D E F G H I J
HSF20S
HSF30S 22 |138.6(1646| 90 | 52 | 50 | 194 | 236 | 112 | 154
HSF35S

_78_



HSF20D/30D/35D SWASH PLATE TYPE PISTON PUMPS
FOR DRILL & BORING MACHINE

=

&
LA

R3V SERIES B

F5V SERIES C

B-e
HSF20D

HSF20D
HSF30D HSF30D
# USABLE CIRCMSTANCE e HSF3SD
e o || sucTionport DELIVERY PORT
@ SPECIFICATIONS
MODEL HSF20D | HSF30D = HSF35D
Discharge Rate(cclrev) 20x2 30x2 : 35x2 j_
R e 250 HsF2op | "
H3V SERIES HSF30D
X m 2650 2360
- | H5V SERIES OURE PONP
. Flange Mounting face for Suction Port ’ Flange Mounting face for Delivery Port
{mm) {mm)
MODEL | a | b | ¢ d MODEL a b o d e
HSF20D HSF20D
HSF30D | 30 | 65 | @33 M12X1.75P Dp20 HSF30D 32 | 70 |@20| 35 | M10X1.5P Dp20
HSF35D HSF35D
@ DIVENSIONS -
MODEL A B C D E F G H | o
HSF20D
HSF30D 22 |138.6(1646| 90 | 52 | 50 | 194 | 236 | 112 | 154
HSF35D

_79_



HBS80/120/140 FOR CATERPILLAR

PARALLEL TYPE SWASH PLATE PISTON PUMPS

‘ SPECIFICATIONS
MODEL HBS80 HBS120 HBS140
Discharge Rate(cclrev) 80 120 140
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2150 2500

0.1,

83

32

=1 =<‘ i
=

A3

Ad

al

63 |
i' _______ P: _sTﬂ_'l_JI
_[@.ﬁ :& ————— [
t
Pni

FFFFF

=%

AR

o 1L
Quptsl ]

Pm  Pi

# USABLE CIRCUMSTANCE

S -
50, ISO VG46, -20~90°C HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spline Type)
MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle
HBS80 14 29.63 12/24 30°
HBS120/140 17 43.18 2.54 30°
D

5 — = [MT
z i @, . %

#409.58 (SAE JB17 MNo.3)

—
o m

@ DIVENSIONS

MODEL A B Cc D E F G H I J K L M

HBS80 450 126 | 5485 |316.5 7 3265 | 32 |4544 | 143 123 31 11 428.6

HBS120/140) 456 160 583 383 5 414 38 605 125 125 | 448 11 428.6

_80_



HBS80/120/140 FOR CATERPILLAR

PARALLEL TYPE SWASH PLATE PISTON PUMPS

’ SPECIFICATIONS
MODEL HBS80 HBS120 HBS140
Discharge Rate(cc/rev) 80 120 140
Max. Pressure (kglcm?) 350
Max. Speed (rpm) 2150 2500

=
2

1
1
1
1
1
:
LA
1
]
]
P | G3 I
A3 v
Ps1
)
Al 3 :.'f_l

gL T

% USABLE CIRCUMSTANCE M1
50T, IS0 VG485, -20-90°C HYDRAULIC CIRCUIT

@ Dimensions of Shaft End(Spline Type)

MODEL No. of teeth Pitch circle dia(mm) Module Pressure angle
HBS80 14 29.63 12/24 30°
HBS120/140 17 43.18 2.54 30°

DELIWERY PORT

2 -
< =[P : g
1 Bl @ £
3 é' e ° 8§
s q
3
SUCTION PORT 3
F | E
H G
@ DIVENSIONS -
MODEL | A B e D E F G H | J K L M

HBS80 450 126 | 5485 | 3165 7 3265 | 32 |4544 | 143 123 31 11 428.6

HBS120/140| 456 160 583 383 5 414 38 5215 | 125 125 | 44.8 11 428.6




PTO BOX FOR H3V/H5V DTP SERIES
(WITH SENSOR TYPE FOR HITACHI)

P ey
N

= SPLINE—A

\ ?_/‘
(/AR /
ST
ol I ) EH | > =
o~ R Ry
L : . .
. Dimensions of Shaft End(Spline Type)
Q Q % 4 MODEL ‘N&theeth Prvdedzm  Module | Fresaire angle | Standard
R ﬂ SPLINE-A 13 13 M1.0 20° JIS
SPLINE-B 10 15.875 16/32 30" SAE

' Dimensions for H3V63DTP/112DTP/H5V80DTP Adapter

(mm)

MODEL 0 P Q R S T W X Y Z
H3V63DTP

H3V112DTP 40 @103 | 54.5 130 | 9775 | 0825 16 5 65 g12
H5V80DTP

. Dimensions for H3V63DTP/112DTP/H5V80DTP/140DTP (mm)

MODEL | A | B C HibE b E LG H | | J | K| L|M|N |SPNEA|SPLINEB
H3V63DTP
H3V112DTP

H5V80DTP 53 | 80 |M10X1.5P | @82.5|143| 80 |54.5| M10X1.5P | 55 | 132 | 170 | 150 | 60 |@11| Z13 210

H5V140DTP

_82_



PTO BOX FOR H3V/H5V DTP SERIES
(WITHOUT SENSOR TYPE FOR NORMAL)

7
= / \\ 9
az D f\ EH 0| > -
K o . Dimensions of Shaft End(Spline Type)
Q Q X = WMODEL Mo, of teeth | Fichale dznml| Module | Pressure angle | Standard
R _.\’1_ SPLINE-A 13 13 M1.0 20" i JIS
SPLINE-B 10 15.873 16/32 30° | SAE
Q Dimensions for H3V63DTP/112DTP/H5V80DTP Adapter il
MODEL 0 P Q R S T W X Y Z
H3V63DTP
H3V112DTP 40 g103 | 545 130 gr1.5 | 082.5 16 5 65 g12
H5V80DTP
. Dimensions for H3V63DTP/112DTP/H5V80DTP/140DTP/160DTP/180DTP (mm)
MODEL | A | B C B LE & | H | ' J | K| L| M| N |SPNEA|SPLNEB
H3V63DTP
H3V112DTP
HEVBODTP 53 | 80 |M10X1.5P | ©82.5|143| 80 |54.5| M10OX1.5P | 55 | 112|170 | 150 | 60 |@11| Z13 210
H5V140DTP
H5V160DTP
HEVIB0DTP 545 94 |M10X1.5P | @77.5|205| 104 | 73 |M12X1.75P| 80 | 165|216 | 192 | 70 [@14| Z13 213

_83_



PTO BOX FOR H3V/H5V DTP SERIES

Various Gear Pump Applies in P.T.O BOX

” wléy jsm |
‘—:m——-:-——-:a—‘E

&
@ Applies in Front Type @ Applies in Rear Type
ADAPTER
SIDE COVER
ﬁ &) .]E§i; SIDE COVER ﬂt
— L TE] - L]
E= O A1) F et =
o] ®J[ Il _J g H i @
:423&,,0@ il U= 5%
H3V63&H5V80 H3V63/H3V112&H5V80/H5V140

. Applies in H3V112DTP & H5V140DTP for Wheel Type Excavator

, (TS,
R__IHST T e 10g FOT| L R
0 == ‘[{P

=%/ o

@ Applies in H3V63DTP & H5V80DTP for Wheel Type Excavator

ADAPTER

. ’ I zﬁ mm |
= S g




HP2D10/12/14/16/18

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS

MODEL HP2D10 | HP2D12 | HP2D14 | HP2D16 | HP2D18 'Dimensions of Shaft End(Spline Type)

machame m[cdm} 1 0 1 2 s 1 6 18 MODEL Mo.of teeth |Fichdledamm}|  Module | Pressure angle| Standard
Max. pressure (kglcm?) 245

o SAE
Max.speedi(rom) 2800 2600 HP2010/12/14/16/18 13 20.64 | 16/32 30 14988

# USABLE CIRCUMSTANCE
50°C. ISO VG46, -20~907C

*SUCTION PORT

c 4—d (mm)

< @ S “#’P' i @

v [ |
[ NS : 1] € — a 35.7
AZ(PF1/2) :
DELIVERY S0RT/ IH*. — “ o b 69.9
M(PE1/2)  / \. M10X1.0P @ £33 c 340
el e R AR VENT |HOLE
. — g d | md. 7 opis
L M
@ DIVENSIONS -
MODEL |SPLNE| A B C D E B G H | J K [ M
HP2D10/12 83 90 75 6 43 [ 2315| 24 | 68.5 1256
13T 14 146 | 21.7 [ 101.6
HP2D14/16/18 918 101 90 5 492 | 256 25 15 154

_85_



HP2D21/25/28

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS
s LIFARETZ320 0 Dimensions of Shaft End(Spline Type)
HiECiE (oY) 2 % 28 MQODEL ND-DﬂEeih!PlEhciﬂEdiaim] Module |Pressure angle | Standard
Max. pressure (kg/cm?) 260 !
o SAE
Maxapocdiom) 2600 HP2D21/25/28 | 13 2064 | 16/32 | 30° | oo

# USABLE CIRCUMSTANCE
50°C. ISO VG46, -20~907C

*SUCTION PORT

Pan
(S
PF1/4
}’«IR\-"E\«ITHDLEII L
—g O\
i, ® |
ﬂ:[_: T = — ‘-.-"'-_
= LS M~
Sl1 O 7y ¢ 4=d (mm)
=] g RN A <& B— | a 35.7
e H 6] & c | 040
. 0 i . d | M2 75 Opig

@ DIVENSIONS

(mm)

MODEL (s A B|C|D|E|F|G|H|I|J | K|LIM/N|O

HP2D21/25/28 | 13T | 1535 | 105 | 14 | 100 | 975|146 |20.7|1015| 5 [52.5(363.5(98.5| 28 | 18151 203

_88_



HP2D21/25/28-POWER SHIFT TYPE

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS
e (POWER SHT TvPD
‘ Dimensions of Shaft End(Spline Type)
Discharge Rate (cclrev) 21/25/28
MODEL Mo.ofteath  |Pilch cicle diafmm) Madule Pressure angle Standard
Max. Pressure (kg/cm?) 260
Max. Speed (rpm) 2,600 e R 13 20,64 16/32 30° SAE J498B
= - . - PZ Al A2 A3 PPGPB1PB2 PA
Ll SOLA(DE24
-
= SOLB{DCIA)
[&]
¢
=

- (A

% USABLE CIRCUMSTANGCE HYDRAULIC CIRCUIT

507, I1SO VG46, -20~907

c D
+SUCTION PORT 28
@ B /. g

—— @ da
[ 5
O

% ] 2 2-8F
1 | < -
X J
P2(PF1 /4) [ [BR(E)
T

L] PF1,/4
[ *AIR_VEMT HOLE
m & [ i _ﬂ - Flange Mounting face for Suction Port

% = ‘E _ a 35.7
wiineey 20gr = b 69.9
hLNERY P0sr I = c 40
5 2 d |M12x1.75P Dp18
@ DivENSIONS o
MODEL A|B|c|D|E F |G| H]|I J | kK| L|M|N|oO

HP2D21/25/28
148.2 (1052 | 100 | 97.5 | 146 14 21.7 |1016 5 525 |1785 | 28 |[1815 203 |367.5
(POWER SHIFT TYPE)

_87_



HP2D36

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HP2D36 o ,
. Dimensions of Shaft End(Spline Type)

Discharge Rate(cc/

o i % MODEL |No. of testh | Fichcickdaimml|  Module |Pressureangle | Standard
Max. Pressure (kg/cm?) 260 7 = s ot —

§ J4986

Max. Speed (rpm) 2200 Gl 15 23.813 16/32 30° e

———

I 2l

M AL =]
S EACAY: ‘l:
NN S
A |
EE e i s

L
I

# USABLE CIRCUMSTANCE
50, 18O V&E46, -20~907

"SAE JT744-137-4"

<
& —
O AR WENT HOLE . .
St —1= - Flange Mounting face for Suction Port
DELIVERY PORT — g I'y )
el |O1ore. c = 4-d (mm)
D e e o N+ w— [a | s08
(PF3/4) = i “ “ b 859
AZ(PF3/ 4
DELIVERY F’ORT/l N *{}} & c 355
PF1/2 .0 o d | Mi2d.75 DP1g
R | Q
@ DIVENSIONS -
MODELSPLINEABC'DEFGHIJKLMNOPQRS
14T 31.2
HP2D36 160.5 131 | 21 112|126 127 | 6.5 [50.8| 395 | 124 [186.6 44 | 35 |136.5204.6234.5[160.5 165
15T 25

_88_



HP2D36

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HP2D36 , , ;
' Dimensions of Shaft End(Spline Type)
Discharge Rate(cclrev) 36
MODEL | No. of teeth | Pikhcickedamm)|  Module |Pressureangle | Standard
Max. Pressure (kg/cm?) 260
— 14 29.634 12124 30° o]
MAX- ShEES AP 2200 15 23813 16/32 30° e
Al A2 A3
’— ———————— A —
! g‘f'f“\-"\-fi ,ﬁf‘ "{/
1 Z ..v\_.»._,1 ] ‘4" ] /"
| S AWE AUIEN
i ) h_,,Af‘:l' / A e
I il
% USABLE CIRCUMSTANGE ok
50°C, 1SO VG46, -20~90°C HYDRAULIC CIRCUIT
A L M

SPLINE =

4—@17.6

G F PCOaQ

FF1/4 J
AR VEMT PORT-R

‘ Flange Mounting face for Suction Port

PF3/4
DELIVELY PORT—A2

PF1,/2 g T f— R @ w_ a 50.8
R ) =4 of [ b | 889
DELI\u'Eri?égRT--AI [E I . —= @ & C @55
22 \ . d |75 opte
DRJ\INPIF:%{R?'— Rr1 K
@ DIMENSIONS (mm)

MODEL | SPLINE| A B Cc D E F G H | J K L ] N (o] P Q

14T 31.2
HP2D36 173.525.5 127 | 6.5 51 (317.5 124 |186.6|204.6{136.5(122.5| 131 |82.5| 112 | 126 181

15T 25

_89_



HP2D36 FOR HITACHI @

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

MODEL HP2D36(HITACHI) _ _ )
0 Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 36
MODEL No.of teeth |Fitch circk dalmm)| Module  Pressure angle| Standard
Max. Pressure (kg/cim?) 260 e
H P2 D36 14 29.634 12/24 30 Tioan
Max. Speed(rpm) 2200 (HITACHI) 15 23813 | 16/32 30° e

s r / {_ -
4o LS
|/] ; {

0
T o
5
S

A
v S . -
=" T

#USABLE CIRCUMSTANCE s

507, IS0 VG4B, -20-907: HYDRAULIC CIRCUIT

n
A1
Niuill
IFJ =l
I [H
3
FF3/8-19

GEAR PUMF CELWERY PCORT

AlR WENT PORT-R

PORT SIZE - PF1/4—13
FF3/4 -
DELIVERY PORT—AZ
i (mm)
@. : IR . __ a 50 8
=T b 88.9
- ~ J " c @55
DF wi?’;:?)m—m @ d M12x1.75P DP18
s _\4/
FEA/E Y DR&IN PORT
DRAIN PORT—R1 T
@ DIVENSIONS -
MODEL |Si| A B ([ C |DJE|E[G|H I |JdIl K| LIM NI IQIP]|Q

HP2D36 | 14T 3l.2
(HITACHI) [ o7 200 | 18.8 ” 127 8 |58.8|321.7/120.7{162.2 [200.2 |132.3 | 122.5| 131 | 82.5| 115 | 124 | 181

_90_



HP2D36 FOR HITACHI

SWASH PLATE TYPE PISTON PUMP

0 SPECIFICATIONS
MODEL HP2D36(EXT75) o .
0 Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 36
Max. Pressure (kg/cm?) 260 MODEL |No. of teeth | Pichcicledamm)| Module | Pressureangle | Standard
Max. Speed (rpm) 2300 ':Ziggf 14 | 20634 | 12024 | 30° |SAE 498B
N
2“""} : _,f'.
GHA D
AT I
\ pray l’—g)g[ﬂ;l 1
" 300, 180 V46, 2080 HYDRAULIC CIRCUIT

E i

PCD#181

’ Flange Mounting face for Suction Port

i = - (mm)
o]
@ )@/Ld a 429
. ) Q b | 778
B e t c 045
PF1/4
\W:;TA © O d  [M12x1.75P Dp18
0]
Q P
@ DIVENSIONS -
MODEL | A | B |C|D|E|F|G|H|I|J|K|L|M|N|O|P|a

I-(IEP)Z(E;G 124 | 115 | 132 |141.5/17.5| 165 | 127 | 8 |58.7|390 | 195 | 182 | 110 | 132 | 200 | 225 |165.5




HP2D36 FOR HITACHI

SWASH PLATE TYPE PISTON PUMP

- SPECIFICATIONS
MODEL HP2D36(2X70) o .
- Dimensions of Shaft End(Spline Type)
Discharge Rate (cc/rev) 36/28
MODEL | No. of teeth | Pichcrcledamm)| Module | Pressureange | Standard
Max. Pressure (kg/cm?) 260
HP2D36 .
Max. Speed (rpm) 2300 2x0) 14 | 20634 | 1224 | 30° |SAE498B
S - > b
|
_____ - J" / |
AL AL A
S o Eed S T “r !
P ed Ly 1 .
P t
" 300, 180 V46, 2080 HYDRAULIC CIRCUIT

.Flange Mounting face for Suction Port .Flange Mounting face for Suction Port “Flange Mounting face for Delivery Port

{mm} {mm} {mm})
MODEL a b | c d MODEL a b | ¢ d MODEL el |l e || d
HP2D36(ZX70) | 429 | 77.8 | @39 | M12x1.75P Dp20 A10VOZ8LR |30.2 | 587 | @32 | M10x1.5P Dp18 A10VOZBIR |262|522 | @19 | Max1.0p Dp18
A1{PF34)
DELIVERY PORT K |
A3 Y H ra
DELWERY PORT \
DELNE';;' PORT " 3 i i I
N
S il jo] - o
=) > L] i
Rolol :ﬂ@ ) «E_LE g ig 4 ﬁ% ";
—HEKe ) g | & )/
[ / [ /|
L e o
r =
i ot S
= A B
- 1 -
o
P
@ DIVENSIONS -

MODEL | A | B | C | D E | F |G| H | J| K| L | M| N|O P

HP2D36

(ZX70) 124 | 115 | 132 |141.5/17.5| 165 | 127 | 8 |58.7| 453 |182.2{132.2/200.7| 315 | 386 | 433

_92_



HP2D36 FOR YANMAR

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HP2D36 o |
(YANMAR-VIO70/75) Dimensions of Shaft End(Spline Type)

Discharge Rate(cc/rev) 36 Pitch

MODEL [Mo. of teeth circII:dia Module P::?gsl:re Standard
Max. Pressure (kg/cm?) 260 (mm)

HP2D36

15 22.5 1.5 20° JIs
Max. Speed (rpm) 2’300 I;.‘;T?JQE
Al

A2 A3 PB1 FPBZ PA
H t t 5 s

A s o

#USABLE CIRCUMSTANCE
50°C. ISO VG486, -20~907

ﬁﬁjm
==, ~y @j’ﬂ

A{PF3/ )
~DELIVERY PORT
!

ASPF3/L)
-DEL WVERY PORT

. Flange Mounting face for Suction Port

T,
IIL 4-d (mm)
L \ O a 50.8
f =1 b 88.9
A2(PI3/4) /é N B e =
=LY PORI S g (i — & 2
*D3AIN COITS Y }
| T @ - d  M12X1.75P Dp20
i
@ DIVENSIONS -
MDEL | A | B| Cc|D | E|F G|H]|1]J]|K L]|M[N]JO]P a
HP2D36 351
YANMAR 124 117 131 | 1725 | 175 | 165 125 8 52.3 | 351 295 182 110 132 | 200 | 230
VIO70/75 356

_93_



HPC35 FOR CLOSE CIRCUIT

SWASH PLATE PISTON PUMP

@ SPECIFICATIONS
RODEL HPC35 . Dimensions of Shaft End(Spline Type)
Discharge Rate(cc/rev) 354
MODEL  |No.ofteeth fihatkdarnl | Module | Pressireangle ~ Standard
Max. Pressure (kg/cm?) 310
Max: Speedirom 4,500 HPC35 13 | 20638 | 16/32 | 30°  ANSI

# USABLE CIRCUMSTANCE
507C. ISO VG46, -20~907C

ZRAIN PORT
BAF J1926-1

@ DIVENSIONS

MODEL A B C D E E G H I J K I< M N (0]

HPC35 1016|254 | 95 | 46 97 189 | 250 312 | 35 | 375 | 146 | 18 8 141 12

_94_



HPC90 FOR CLOSE CIRCUIT

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
MODEL HPC90 (SPLINE; HPC90 (TAPER : ; :
{ ) ( ) ‘ Dimensions of Shaft End(Spline Type)
Discharge Rate(cclrev) 89
MODEL No. of teeth | Pichdicedam | Module | Prassure angle | Standard
Max. Pressure (kg/em?) 415
T 3720 HPC90 21 [33.337| 16/32 | 30° | SAE

' AT |

2
SO

h—(}——*

- ¢ 7

#% USABLE CIRCUMSTANCE B A
50°C, ISO VG486, -20~90°C HYDRAULIC CIRCUIT

o h

i
[ chaRGE PUMP
' INLET
SAE C 4-BOLT |
MOLNTING e
L fu
B E ]
A L P
. Flange Mounting face for Suction Port “ Dimensions of Shaft End(Taper Type)
o (mm)
. 1"—20N UNEF
d 40 (mm) 2 3.1
A TAPERED SHAFT—125:1000
e & a 2776 SAE—J744-3 b 29
\P\‘“ b 57.15 ’Lﬂi — ; .
| O
\/ c 254 NP = 95
£ f—a d UNC7/16 DP30 f 7.2
@ DIVENSIONS it
mooet | A | B[ c|D|E|F|le|n |1 |s]lk|[L|[m|[n|]o|P|a|R]|]s]|T
HPC90
(SPLINE) | 4634 55 345
4083 | 274 |1225 91 [1065|3265[1333| 127 125 [1065| 274 | 300 | 337 | 91 [1218
HPCS0
(TapER) | 4838 755 4 42 | 19

_95_



HSVD2-17/21/27E(WITHOUT SOLENOID TYPE)

SWASH PLATE TYPE PISTON PUMPS

' SPECIFICATIONS
MODEL HSVD2-17E HSVD2-21E HSVD2-27E
Discharge Rate (cc/rev) 17 21 27
Max. Pressure (kg/cm?) 250
Max. Speed (rpm) 2500 2400

#USABLE CIRCUMSTANCE

507, 18O VG468, -20-007 HYDRAULIC CIRCUIT
@ Dimensions of Shaft End (Spline Type)
MODEL No. of teeth Pitch circle Dia(mm) Module | Pressure Angle Standard
HSVD2-17E
HSVD2-21E 13 20.6375 13 30° SAE J744
HSVD2-27E
N
A G
=
. % %\ aoe. L @ o e
| L
() @ %. s rD L é N gl
o i = _u_fr
Z-FF1/2
| <] DELEVERY PGRT

fad
(.
e

. Flange Mounting face for Suction Port

PF1/4

7DEUE\’ER'T' PORT
ol c (mm)
a |w| 357 [ 429
R e © = =
: : b | 2| 609 || 778 8.
| & 2 H
o o|<|B|  |g] 4
b d | X [M2175P0P18 Mi2x1.75P DP18
@ DIVENSIONS (mm)
MODEL A B E D E F G H | J K L M N
HSVD2-17E 181 1205 | 105 145 256 46 279 154
146 14 28 28
HSVD2-21E 181 1205 | 108 1016 161 276 7 45 300 163.5
HSVD2-27E 200 234 136 116 17.5 174 301 47 324 35 35 183

_98_



HSVD2-17/21/127E(WITH SOLENOID TYPE)

SWASH PLATE TYPE PISTON PUMPS

. SPECIFICATIONS
MODEL HSVD2-17E HSVD2-21E HSVD2-27E
Discharge Rate (cc/rev) 1F 21 27
Max. Pressure (kg/cm?) 250
Max. Speed (rpm) 2500 2400

% USABLE CIRCUMSTANCE
507, 1SO WG46, -20-807; HYDRAU-LIC CIRCUIT
@ Dimensions of Shaft End (Spline Type)
MODEL No. of teeth Pitch circle Dia(mm) Module | Pressure Angle Standard
HSVD2-17E
HSVD2-21E 13 20.6375 13 30° SAE J744
HSVD2-27E
_ MIN.FLOW
ADJUSTING SCREW
MBX1.25F
o 2—¢F =S OH
I\ i Do 4
1w = H . B N _z
Q i : i _:
SLPINE-A ] ° o P:_]i?;)
N __DELIVERY PORT
: *e(A1) & d(A2)
2-PF1/2
DELIVERY PORT
— | *soL-8
; y L J *S0L—A
‘ Flange Mounting face for Suction Port ” S
4—d PF1/4 o
w 357 " 429 DELIVERY _PORT i
= % 69.9 S 778
= o
; x| 38 |8] 4
o | 708 [ 2 | yipa 75p 0Pog
=1 9/12 14
@ DIVENSIONS -
MODEL | A| B | C|D|E|F|G|H| I |J|K|]L|M|NI|DO
HSVD2-17E 146 180 120 105 260 14 30 145 255 279 o8 154
HSVD2-21E 192 | 121 | 108 | 264 o |1016[ 161 | 276 | a00 | 7 55 163.5
HSVD2-27E 200 | 230 | 1355 | 1155 | 293 | 17.5 174 | 306 | 324 52 | 3 | 183

_97_




HSVD2-17/21/27E FOR KAYABA(WITH SOLENOID TYPE-3STAGE)

SWASH PLATE TYPE PISTON PUMPS

‘ SPECIFICATIONS
MODEL HSVD2-17E HSVD2-21E HSVD2-27E
Discharge Rate (cc/rev) 1F 21 27
Max. Pressure (kg/cm?) 250
Max. Speed (rpm) 2500 2400
=T | = 1| |—

HYDRAULIC CIRCUIT

# USABLE CIRCUMSTANCE
507, 150 VG4E, -20~90C

. Dimensions of Shaft End (Spline Type)

MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle Standard
HSVD2-17E
HSVD2 21E 13 20.6375 13 30° SAE J744
HSVD2-27E
H = L
(] —
- e | B
@Ol ¢ A
| | o ¢[B =4
= ] \_.2 e
\\\\\_“:UL_B
=T
. py . W "
. Flange Mounting face for Suction Port Lk )
TR a w 35.7 42.9 N L =1
r@ ‘@ ~ w
R b | 69.9 5 77.8
a = A ©
' c é 38 8 45 =
d M12x1.75P DP18 | ©@ | M12x1.75P DP18
o @ @ T N
Lo e T 9/12 14 L
@ DIVENSIONS -
MODEL A B C (o] = F G H J K L M M (¢] 7 Q R : 5 T L W W X o
HSVD2-17E 128 2685 155 2} 126 154 o i 187 28 o 145 | 260 279 454 355 | 475 122 | 154 184 | 225
HSVD2-21E | 185 132 2755 173 11 130 1865 206 101.6( 21.7 161 | 286 304 7 572 365|535 1345|1665 196.5|2375
HSVD2-27E 143 2995 188 14 | 141 1835|175 200 | 220 35 35 174 | 306 324 523 355 | 56 181 | 183 213 | 254

_98_



HSVL-42 FOR KUBOTA / CATERPILLAR

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

HSVL-42
MODEL i H H
CUBERTAE CATERPILLAR TYPE . Dimensions of Shaft End(Spline Type)
Discharge Rate [ccirev) 42 36
MC2EL Moafteeth  Aieycims diemm Madule Preszure engle Standard
Max. P {kglem?) 250
X. Fressure cm KL_"[E‘_?:EA = Soean '
e 2250 HSYL-42 o R = = 18/32 0 SAE J4g8B
ol PPS_ HYDRAULIC CIRCUIT

|

|

! A -
! If/i‘\:f e ENCINY

| B —
|

|

be & ; :':'__J._\_ _L_{KT
e+ —+CHI
% USABLE CIRCUMSTANCE L o Lo Xaw
50T, 1SO VG486, -20~80C PG Bl
ot s LD . Flange Mounting face for Suction Port
KUBCTA "YPE: PF7/4—19N

CAT TYPE: UNFS/15 18N

Pls FOli =

KUSOTA TYPE: =F1/4- 19N M (mm)
CAT TYDE. UNFEA16—18N
35.7
h | 69.9
J @38
Fr FORT
KUBOTA TYFE: FF3/8—13N M12x1_75p DP24
CAT TYPE: UNF3/4—" 64 ]E

Fps PORT
KUEG A IYFE: FE1/4—18H K
CAT TYPE: UNFS/" 6B "BN

JRAIN PORI
£U30TA TY2E: 2F1/4 "an
CAT TYPEL UNFEA1E—18N

L
M
- [
O
UI
- i
I

TJFLVERY PORT

LL30TA TY2L :‘I'3/4—14N = Faln i
CAT TYPE: UNF1"1/18-12N -
i 5 |
@ DIVENSIONS -
MODEL A B C D E F G H | J K L M
KUBOTA
TYPE 56.7
HSVL-42 SATERPILLAR | 180 | 211 | 109 | 108 | 14 |101.6|1753|264.3| 7 169.5| 111 | 30
TYPE 476

_99_



HVD-00B/0B/1B (WITHOUT SOLENOID)

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS @ Dimensions of Shaft End(Spline Type)
MODEL  HVD-00B | HVD-0B  HVD-1B MODEL  |No.of teeth | Piih cirle iaimm) | Modle |Pressure ange | Standiard
TN i ik e HVD-00B | 10 15.875
. . | SAE
R — 240 882 | 308 | Gl
o Speed (o Jath HVD-0B&1B | 13 20.64
—
|
|
|
|
|
|
|
L
#USABLE CIRCUMSTANCE
B ELSHE s HYDRAULIC CIRCUIT ———
Do NOT ADJUST S—)_ /_
l\f:l
Y W
‘\ - = Lo
"), fi=] &, b
A ]
. 1}
A C
D
. T 2o e . Flange Mounting face for Suction Port
—_— DCLWERY 2CRT
v A 1 AL
\“ %577_ 7 4—dd
| . : ¥ [T 7] (mm)
: Talr o ¢
) e Panx B g 2
ot %ﬂ& dis HVD-00B HVD-0B & 1B
N y a 26.2 30.2
| Ae=PF3/5—" 0N al
] N A ‘! b 524 58.7
QIL_SUFPLY PCRT | ‘ o 28 3z
F | M| oasorrassoten SAE J518 11/4 | SAE J51811/4
'] SEAR PLMP
v Y DELVERY PORI {I? @ d M10x1.5P DP20 | M10x1.5P DP17
8]
M| P
Q =
VIEW—&
@ DIVENSIONS -
MODEL A B (o] D E F G H I | J K L M N (o} P Q R S T
HVD-00B | 73 170 | 67 | 147 | 110 16.8 129 | 170 | 211 229 | 25 | 19
HVD-0B 13 | 146 135.5 103.5|101.6 27 (157 7 | 150 | 195|232 45 | 249
88 171 |68.5| 178 ——— 297 30 | 28
HVD-1B 136.5 159 | 204 | 241 258




HVD-0B/1B (WITH SOLENOID)

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS @ Dimensions of Shaft End(Spline Type)
HVD-0B HVD-1B
MODEL MODEL | No. of teeth | Pitch circle dia(mm) | Module | Pressure angle| Standard
Discharge Rate(cc/rev) 9x2 16x 2
Max. P kgicm? 210 -
. Pressure (kgfem) :ﬁg ?g 13 2064 |16/32| 30° | SAE
Max. Speed (rpm) 2,300 3
soLE PA1 PE2 PB1 P.P A4 A3 A2 AL
.
| s0LA |
o
|
i
P e
i = e
i o NN
| -
! HENG j@
B B O, o
I | )= [[
!
| Bl
| I
#USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT
e
% oy,
(- EH{FE -
¢ | &
5 i
A
il SCLE-FE®
ain] PF1/4- 19N
SOLA—FAT
soL.B-rFB2 2P /4—19K
FFI/4—130 o
[
5
o =t =, i i S . Flange Mounting face for Suction Port
4—d
({2 TE (mm)
| o g e T T
i AT 7 =
SFIINF—4 DY RI Tz [ a 30.2
S TS N A
ripoe 1o, QU T g b 58.7
waisl! || i &
— ° ¢  SAEJ51811/4
Kol L : I\ d | M10x1.5P DP17
|

N

@ DIVENSIONS

(mm)

MODEL AlB|C | D E F

@
ac,
=
=
P
=
=
Q
o
o
Pyl
w
-
(=

HVD-0B

88|13 146 | 171| 128.5 | 234 | 1585 101.6 | 21.7 | 15.7 | 7| 136.5 | 45.3 267 |30 28| 136.5 |160| 162 | 81.5 | 114.5
HVD-1B




HVD-1B-32P/32CP (WITH SOLENOID TYPE)

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS
MODEL HVD-2B-32P | HVD-2B-32CP . Dimensions of Shaft End(Spline Type)
Discharge Rate(cclrev) 16x2
MODEL Mo. of teath | Bitch e diajrm) Madule Pressure angle | Standard
Max. Pressure (kg/cm?®) 210
HVD-1B-32P =
iian Gbentllrom 2,300 | 2064 | 16/32 30 SAE

PAL PEQ PRI PP CP A A A2 AL

e L |
=

-HVD-1B-32P- -HVD-1B-32CP-
# USABLE CIRCUMSTANCE

50°C, ISO VG46, -20~90'C HYDRAULIC CIRCUIT
5
FE1/4- 19N
CP
o 0 o
Q
ke
=S
) | P
O o | soLB—pB1
PF1/4— 18N |
L S0LA—PAT
SOL.E-FB2 A IS oy sa— 10N
PF1/4—18N
i 5
-
0]
: i SAF JT44-101-2_ .
. Flange Mounting face for Suction Port = " ' g
— (mm) x| =L D—H:
= °|_ i S 1l 5l
5 9 T a | 302 cenai |
DP16/32 13T ; 0 GEAR PUMP DELWERY P
Q o : Re:T PE1 /4= 19N ° Stan olup BELERY poR
oI SUPPLY PORT /
c 33 L
o @ '
4 d [Mi0x1.5P DP17 i N |
a g
@ DIVENSIONS -
MODEL A|B|C D E F G H | J K L M N O P| G R S T | U v w
HVD-1B-32P - |-
8813|146 171|72.5(178|158.5 |101.6 | 21.7(15.7|7|136.5|45.3|266.9 |30 28 136.5 160|162|81.5|114.5
HYD-1B-32CP 53.5(14




HVD-1B-32P/32CP (WITHOUT SOLENOID TYPE)

SWASH PLATE TYPE PISTON PUMPS

@ SPECIFICATIONS
MODEL HVD-2B-32P | HVD-2B-32CP . Dimensions of Shaft End(Spline Type)
Discharge Rate(cclrev) 16x2
MODEL Mo. of teath | Bitch e diajrm) Madule Pressure angle | Standard
Max. Pressure (kg/cm?®) 210
HVD-1B-32P =
iian Gbentllrom 2,300 | 2064 | 16/32 30 SAE

-HVD-1B-32P- -HYD-1B-32CP-
% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~80°C HYDRAULIC CIRCUIT

PF1/4—1(€;E
Ly : 6)/\6 o
Bl O <
06
4 b

. Flange Mounting face for Suction Port

N (mm) SR % R
DELVERY PORT
o %_ﬂ—d 30.2 %

fan)

a [ T 7]
o =D Pt
b 58.7 SPLINE—A - S
) kS SAE J744-32-4 A Ad—PF3/8—19N
c 33 : :IF'15_/.32 13T 2] GEARE PUMP DELIVERY PORT
PF1/4— 19N AS—PF1/2-14N
@. @._ d i A 3 M OIL SUFPLY PORT GEAR PUMP DELIVERY PORT
LJ__; b i
@ DIVENSIONS -
MODEL AlB| C D E F G H | J |K L M N O|P Q R
HVD-1B-32P - =
88|13 | 146 | 171 | 725 | 178 | 158.5 | 1016 | 21.7 | 15.7 |7 | 136.5 | 45.3 | 266.9 | 30 | 28
HVD-1B-32CP 53.5 |14




HVD-2B-32/36/38/40/42

SWASH PLATE TYPE PISTON PUMPS

HVD-2B
MODEL i i i
- - - - - . Dimensions of Shaft End(Spline Type)

Discharge Rate(ccirev) | 16x2 | 18x2 | 19x2 | 20x2 | 21x2
MODEL Mo, of teeth |Pichdedamm| Module |Prssureangle Standard

Max. Pressure (kg/cm?) 230
HVD-2B- °

e — 32/36/38/40/42 13 20.64 16/32 30 SAE J498B

s

# USABLE CIRCUMSTANCE
507, ISO VG46, -20~90°C

() _
QW E—i ® ®

- -

L=

i
ol

AN FLOW
W

WML FLCW

s )
=

PF1/2—14N

O Flange Mounting face for Suction Port ﬂl | e
SPLINE—A |

4— (mm) M opiesas a1 I by AA-PF3/8

E— . ) DELWERY FoRT

1) a | 302 / 2) —
by

j 4 TT—T =
ﬁ§ .

b 58.7 a9 F=H
AV AImAS
SAE JI5161 114
€& B d |M10x1.5p DP17 333_ | A3-PF3/8
La | | | DEEVE.Q{, PORT
. o]
@ DIVENSIONS : 2 Gk
MODEL | A | B |c | D |E|F | & |H O T e s = e R

HVD-2B-
sz | 140 | 13 | 146 | 174 | 101 | 209 | 160 | 109 [101.6(21.7| 88 |157| 7 | 183 (229 | 266 | 45 | 282 | 32 | 28




HVD-2B-50 FOR HITACHI

SWASH PLATE TYPE PISTON PUMP

. SPECIFICATIONS
MODEL HVD-2B-50(ZX60-5G})
Discharge Rate(ccirev) 252 . Dimensions of Shaft End(Spline Type)
Max. Pressure (kg/cm?) 230 MODEL No. of teeth | Fichcicedirnl | Module | Pressure angle | Standard
Max. Speed (rpm) 2200 *(‘;)E’éfs'g;’ 15 | 23813 | 16/32 | 30° | SaE

 USABLE CIRCUMSTANCE
50°C, ISO VG486, -20~90°C HYDRAULIC CIRCUIT
I H
[ | FF1/d—18N
AR VENT S_PF1 /%= 14N AR—PF1E=14N _
h Pi F ; ‘ JGEAR PUMP DELNERY PO
GEAR PUMP whﬁﬁl*‘ l:’-'h:)R:" =i | W .
SUCTION PORT. SAE J744-101-2 [~ N # /
T T, = — . -
e o EH° 9 _ 49, -'
__% o} - 1 < ol | 4 zélr = | NI e : 2{
o [ SAE _1-.-35_'2%_2 vk At @ Ad—PF3/B- 16N
[d_b ' il T oRinsan st/ CEAR PUMP DELIVERY POAT
MAXFLOW | .'\:-r_‘l,'.j-l-:],\'r:_. B :tt
ADJUSTING SCREW L ; z " o
E F
E_L 5
. Flange Mounting face for Suction Port
®
4—d (mm)
Q p/ GEAR PUMP MAIN PUMP
@ Z-aC
T} a 26.2 ; 58.7
H T £
b 52.4 30.2
: 25 ! 33
o o SAE J518-1  SAE J5181 1/4 .
| ®
_ d M10x1.5P DP17 M10x1.5P DP17
[N
® F
DIMENSIONS (mm)
MODEL A B ¢ D | E|F|G|H|I |J|K|L|M|[N|O|P|Q|R S T U
oo ooy, 140 253 13 146 | 174 | 101 | 209 | 160 | 109 | 102 | 25 | 88 |157| 7 | 160 | 253 | 336 | 53 | 352 32 28




HVK-2B-385/505-N(2-STAGE) FOR HITACHI @

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
HvK-2B-385/505-N
MODEL {2-STAGE) . Dimensions of Shaft End(Spline Type)

Discharge Rate(cc/rev) 50

MODEL No.of teeth | Piencicledam||  Module | Pressureange | Standard
Max. Pressure (kg/cm?) 260

Hyk-~28-385/505-N 3 2064 165 30 SAE
Max. Speed (rpm) 2400 (2-STAGE) ' J44
PLS PGR A1 PA1 PA2 A2

# USABLE CIRCUMSTANCE
507, 1ISO VG486, -20~907

A

i

C
J
K air vent{G1/4)
“ Flange Mounting face for Suction Port -
ﬁ (mm) @&’;—Q @ il prs/a—14an
o T | Lo
QQ b | o7 SR :
1
m i 32 B
SAE J15161 174 =il a
© @ d [Mm1ox1.5P DP17 beR \mLm
[0}
I P
@ DIVENSIONS N a ()
MDEL | A (B |c|D|E F|le|H|1|J]|k L M|N|o|P|a R[s]|T
H"’K'é%fig;”&" 168 | 835|175 | 73 | 107 115 13 1016|217 | 168 | 40 87 | 7 | 45 | 175|217 243 34 | 30 |835




HVK-2B-385/505-CN(3-STAGE)-POWER SHIFT FOR HITACHI (I_:D)

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
HVYK-2B-385/505-CN
MODEL (POWER SHIFT TYPE) . Dimensions of Shaft End(Spline Type)
Discharge Rate(cc/rev) 50
MODEL Mo.of testh  |Picheiclesiamm)|  Module  Pressure ange | Standard
Max. Pressure (kg/cm?) 260
HYl-26-385/505-CN - SAE
Max. Speed (rpm) 2400 G 43 | 20184 | 18/82 | 130 e
PC PLS PGR A1 PA1 PA2 A2
g ]A £ ol T
o
=
=
(=] R |
<Q
I R
[ .-'/ ZE;’I\.,I_/-'l 5,
o BA1|
% USABLE CIRCUMSTANCE p—
i 50°C, IS0 VG46, -20~90°C HYDRAULIC CIRCUIT
A
—
{
LEE
c
- Flange Mounting face for Suction Port
PF3/4—14N
4= (mm) DELIVERY PORT
@ %—d a 30.2 3
L‘ b 58.7 i
i il ? ; >
c SAEJ135|25||."4
© 5 d [Mm1ox1.5P DP17 - | 2y
0 R
@ DIVENSIONS . s -
MODEL | A B |C|D | E F|G]|H dle|e  m|lnle | 2la|z]s| oW

e o (168 835|175 | 73 107 115| 13 [101.621.7| 168 | 40 | 31 87 | 52 | 7 45 175|217 243 34 | 30 (835




LPD45 FOR KOMATSU

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS

MODEL LPD45
PRAERTRIIR ST TSR . Dimensions of Shaft End(Spline Type)
Discharge Rate(ccirev) 43.2 iy
MODEL No of teeth |Peshemledismm))  Module  |Pressurs angle|  Standard
Max. Pressure (kg/cm?) 270 LPD45
[PCE0-B,70UU. 705, 19 31.667 1.667 200 JIs
Max. Speed (rpm) 1,850 75-3,78,78US-6.88)
i 21 A2
T & = T\I
| —d— |
| brt '““j‘“‘“::
| Drzdeo ‘J: _.;2_3_:\4_|
To LLL T T
===
¥ '—’—|_|1 sz
PLEg———— Ly
P Lu Y e
# USABLE CIRCUMSTANCE
50'C, ISO VG46, -20~90°C HYDRAULIC CIRCUIT

“ Flange Mounting face for Suction Port-51 ‘ Flange MOUHHHQ face for DE!“"."E!F}' Port ’ Flange Mounting face for Suction Port -52

. g 4-g
- x’

i a | 72 iy Vs j 22.2 e 26.2
‘! o LBl 90 Mg _ k 476 f 524
i. o I M12X1.75PXDP24 I | M8X1.25PXDP14 g | M8X1.25PXDP14

d | 60.8
& ! m 20 h 25
a
A
P :
1 a2
F2L5{M 4%1.5P)
PLS(M14%1.5F) 51— Malk FLE™
A1 (MK B \% SUCTION FOAT
DELIWERY HODET 82 GIAR UK
AS EUCTICN PORT
5 = J ACMZDR 51 \ | }{’I
,l'l DELWZRY .PJCRT i | =
SE;__;LE = 5; —ﬁ - =
& |
N 5
i L S P @U ¥
| . £
11 = 2@
\ L2(M2481.58) s
g LA {M2EX 15T
o
5] FAT{M30%1.5F) b FEN
L PCCRD - ™
: £ i IFU =4
1 H %
K Jd

@ DIVENSIONS (mm)

MODEL A B C D E = G H | J K L M N (0] P Q R

LPD45
(PoEo-a7ouL 7o, | 345 361895 409 388 | 1468 | 2343 | 478 | 4758 i 4938 | 26 1038 (1478 11 381 | 1553 232 | 4178
75-3,78,78U5-6,88)




HPV95A FOR KOMATSU

LOAD SENSING & HORSE POWER CONTROL

SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
HPV95A
NIGREL (FOR KOMATSU)
Discharge Rate(ccirev) 95+95 . Dimensions of Shaft End(Spline Type)
Max. Pressure [kgﬂ:m‘) 350 MODEL Mo of teeth  Pitch circle dizimm) | Module | Pressure angle Standard
Max. Speed (rpm) 2,000 (FORH:;:IE:TSU] 16 44 a2 20: JIS—.F&;&;gUS
HYDRAULIC CIRCUIT

# USABLE CIRCUMSTANCE
50°C, 1ISO VG486, -20~807C

. Flange Mounting face for Suction Port

— {mm] | (mm)
& T B [a| 100 P dgi’(f\ ~ al 26.2
ot L8] . S
7 D b 100 7 Yo [b] 524
.I:_...._./7:/:f._{. o | ¢ [W2x1.75P P f.jzu_ / M10X1.5P
s, i/ DP25 AT o ¢ | pp20
N d| 077 e A g d| 925
.

@ DIVENSIONS

3

G

T

o

PCle42s

(mm
MODEL A B @ D F G H | J K L
HPV95A
(FOR KOMATSU) 11 450 409.6| 52.3 223 | 347 | 563 | 122 | 327 [170.5| 100




HPVI95H FOR KOMATSU

LOAD SENSING & HORSE POWER CONTROL
SWASH PLATE TYPE PISTON PUMP

@ SPECIFICATIONS
HPV95H
MRDEL (FOR KOMATSU)

Bachargba ey 95+95 “ Dimensions of Shaft End(Spline Type)

Max. Pressure (kgh::m’) 350 MODEL Me. of teeth | Pich cicle diajmm) | Module | Pressure angle Standard
HPV35H = JIS B 1603

Max. Speed (rpm) 2,000 (ForKomatsy)|  1© Al 23 20 1995
HYDRAULIC CIRCUIT

._..._..._x UMY S+ S
r ||||| HAFT e {,. !
= T 14T I 1

ﬁ 2 J} ? i
ﬁ% I

- -
H
|

|

|
—

# USABLE CIRCUMSTANCE
50°C. ISO VG486, -20~907C

. Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port
_ — {mm} 4L| (mm)
@ “—  [a] 100 ' 5 al 26.2
aPs b| 100 W \ b| 52.4
e S o M12X1.75P . M10X1.5P
B A : €| pp2s ﬁ e C| bpp20
i d| or7 + 7 ld| g25
o | o od /" ©
(S © I

SPLINE

g
20
2B

Bl = .

i i

B it I
M24x1.5

DRAIN_PORT

M24X%1.5P
DRAIN_PORT

@ DIVENSIONS o
MODEL A B C D E E G H | 4 K [ M N
HPV95H

(FOR KOMATSU) 11 450 40969 52.3 it 217 264 42 353 | 563 | 122 | 327 |[1705 100




H2FO010/12/16

BENT AXIS TYPE AXIAL PISTON PUMPS

@ SPECIFICATIONS
MODEL H2FO10 H2FO12 H2FO16
Discharge Rate (cc/rev) 10 12 16
Max. Pressure (kg/cm?) 400
Max. Speed (rpm) 3150

'

!

- ' Y
:': |

i
1 i
| |
1 1T
% USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT | :
507 150 VG46, -20-907
. Dimensions of Shaft End (Spline Type)
MODEL No. of teeth | Pitch Circle Dia(mm) Moudle Pressure Angle |  Standard
H2FO10/12/16 18 22.5 1.25 30 DIN 5480
H2F010/12 14 17.5 1.25 30 DIN 5480
’ Dimensions of Shaft End (Key Type)
MODEL a b (= d e f Standard
H2FO10/12 20 225 39 40 32 6 DIN 6885
H2FO10/12/16 25 28 39 40 32 8 DIN 6885

SPLINE

DA

N PCD®sJ

@ DIVENSIONS L

MODEL [A|B|C|D E|F|G|H|T|J|K|L/M|{N|OIP|Q T1 | Bl | S1

H2FO10/12/16 | 80 |182| 6 | 60 |131| & |12 | 95| 9 |100| 95 |168| 56 | 95 | 44 | 14

L]

29 | MI2XL5 | M22XL5 | M33X20




H2F023/28/32

BENT AXIS TYPE AXIAL PISTON PUMPS

@ SPECIFICATIONS
MODEL H2FO23 H2FO28 H2FO32
Discharge Rate (cc/rev) 23 28 32
Max. Pressure (kg/cmz) 400
Max. Speed (rpm) 2500
R
|
| _
|Ilr i Ir'/.’— \\
= :
i
| ‘:
$1 gl
#USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT :
50, 1SO VG486, -20~907

'Dimensions of Shaft End (Spline Type)

MODEL No. of teeth | Pitch Circle Dia(mm) Moudle Pressure Angle |  Standard
H2F023/28/32 14 28 2 30 DIN 5480
H2F023/28 18 22.5 1.25 30 DIN 5480
’ Dimensions of Shaft End (Key Type)
MODEL a b C d e f Standard
H2FO23/28 25 28 49 50 40 8 DIN 6885
H2F0O23/28/32 30 33 49 50 40 8 DIN 6885

SPLINE

2A

PCD2Y £

L
@ DIVENSIONS

(mm)
MODEL |A|B|C|(D|E|F|G|H|T|J|K|L|IM{N(O|P|Q| T1 B1 S1

144 1106 | 18 | 106 | 11 |125 118

H2FO23/28/32 | 100 | 232| 8 42

193 70 | 120 55 | 120| 25

M16X1.5 | M27X2,0P | M42X2,0P




HPV116/145 FOR HITACHI / JOHN DEERE
BENT AXIS TYPE AXIAL PISTON PUMPS

HYDRAULIC CIRCUIT

% USABLE CIRCUMSTANCE
Q SRECIFRCATICH 50°C, ISO VG46, -20~90°C
MODEL HPV116 | HPV145 | @) Dimensions of Shaft End(Spine Type)
Discharge Rate (cc/rev) 116 145
MODEL | No.of testh | Pishcredarm | Module | Prassusang | Standard
Max. Pressure (kg/cm?) 350 o
11 o | ST B92.1b
Max. Speed (rpm) 2000 HPV145 15 | 47.6 | DP8/16) 30 1070

/| -
2N 0o L

O Flange Mounting face for Suction & Delivery port (mm)
MODEL A B C D E F G H o
HPV116 65 25 107 | M12X1.75P Dp30

89 51 28 oF
HPV145 64 26 114.5 | M12X1.75P Dp25

@ DIMENSIONS i
MODEL I J K & M N o) B
HPV116 197.7 24 73.6 432 160 | ©200.8| 180
HPV145 208 21 755 | 4585 184 | 62206 | 200 i




HPVO102 FOR HITACHI / JOHN DEERE

BENT AXIS TYPE AXIAL PISTON PUMP

@ SPECIFICATIONS

MODEL HPVO102
Discharge Rate (cc/rev) 102
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2000

@ Dimensions of Shaft End(Spine Type)

MODEL | No.of teeth | Pichcicedaim| | Module | Pressureangle | Standard

.| JSB16M
500, 50 VGaS, 2000t s | 9P | B 3 (e

Flange Mounting face for Suction Port Flange Mounting face for Delivery Port-A Flange Mounting face for Delivery Port-B
{mim) {mmj) {mm

MODEL |a | b | ¢ d MODEL |a | b | ¢ d MODEL |a | b | ¢ d
HPVO 102 | 62 [106.4 | @76.5 | M12X1.75P HPVQ 102 | 24 | 508 | @19 | M10X1.5P HPVO 102 [27.8| 572 | @20 |M12X175P

@ DIVENSIONS _—

MODEL A/ B|C|D E/F|IG|H|I|J|K|LIM|IN/IO|P|Q|R

HPVQO102 [4285|11.3 |4006| 6.5 |1845| 92 | 58 | 467 (411.3|46.3 | 42 3965/ 70.6 | 504 | 80 | 221 |79.3 | 477




HPVO118 FOR HITACHI / JOHN DEERE

BENT AXIS TYPE AXIAL PISTON PUMP

’ SPECIFICATIONS
MODEL | HPVO118
Discharge Rate (cc/rev) 118
Max. Pressure (kg/cm?) 350
Max. Speed (rpm) 2000

@ Dimensions of Shaft End(Spine Type)

MODEL | No.of teeth | Pichcicedaim] | Module | Pressureangle | Standard

% USABLE CIRCUMSTANCE 1 7 2 . JSB1603
50°C, 1SO VG46, -20~90°C Rl AL . 9D ? A 11935
/@ l #
‘-— T e \ \\ J/
Flange Mounting face for Suction Port Flange Mounting face for Delivery Port-A Flange Mounting face for Delivery Port-B&C
{mm {mm) {mm
MODEL |a | b | ¢ d MODEL |a | b | ¢ d MODEL |a | b c d
HPVO118 | 62 | 1064 | @765 | M12X1.75P HPVO118 | 24 | 508 | @19 | M10X15P HPVO118 |278| 572 | @20 |M12X1.75P

Al PoRT-C
DELIVERY

@ DIVENSIONS o
MODEL |A|B|C|D|E F|G|H|I|J|K|/LIM/N|O|P|Q|R

HPVOT118 |[4285| 11.3 |4096| 6.5 1845( 92 | 58 | 467 (411.3|46.3| 42 (396.5( 70.6 | 504 | 80 | 221 | 79.3 | 477




H6VM55/80/107/160/200/250 - FOR HD TYPE

BENT AXIS TYPE AXIAL PISTON MOTORS

a c
mﬁt
©
o o Dra
2-d
@
SUCTIOM &
IVERY PORT {}} ‘ 6} _
SUCTION
& DELIVERY PORT
HD TYPE 11Z TYPLE
|
*x l R i
A ! i
~_T—QL ! i '
s | | E
S i (9% O ) (% R o i | ey
=¥ . HIT 5
| ‘ B U1l
| !—T I 1
; - [ ol I3
£ /ij/ Ng mir ' :
L # (1 | |
C ,, 2 el X ﬂlm;. |
! i ‘ I \_I?'s_"_-?*_ |
| | | &
T |
% USABLE CIRCUMSTANGCE il ?
50C, ISO VG46, -20~00C HYDRAULIC CIRCUIT
@ Flange Mounting face for Suction & Delivery Port (@) SPECIFICATIONS
(mm)
DISPLACEMENT MAX
MODEL| a b @ d e MODEL (cclrev) PRESSU [TORQUE el o
(K;E 5 (i) (Umin)
AKX MIN L A MIN
HBVMS5 | 50.8 | 23.8 | M10x1.5P Dp20 19 108
HEVM55 | 55 35 349 | 4450 | 7000 | 244
H6VMBO0 | 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 108
HBVMS0 | 80 51 509 | 3900 | 6150 | 312
HEBVM107| 57.2 | 27.8 | M12x1.75P Dp20 | 25 130
i HevM107| 107 | 68 | | €81 | 3500 | 5600 | 380
HB6VM160| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 152 BT 100 | o 1019 | 3100 | 2900 | 296
HEVM200| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 164 Pt o0 | 355 55 | 5 | dai | 55
HEVM250| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 112 HEVM250| 250 | 188 1391 | 2700 | 36800 | 675
@ Dimensions of Shaft End(Spline Type) (@ DIMENSIONS s
MODEL | No.of teeth |Pih cirtle dajmm)| Module | Pressure angle MODEL| A [ B | C | D | E F |G| H J K| L
HEVMS5S5 14 o8 20 30 HevMsS | 262 | 111 | 238 | 67 | 31 | 67 | 30 | 125 | 160 | 135 ] 150
HBVMS0 16 32 2.0 20" HBVMS0 | 283 | 116 | 289 | 72 | 31 | 78 | 35 | 140 | 180 | 135 | 185
HevM107| 18 36 2.0 30° HBVM107| 304 | 123 | 289 | 85 | 39 | 78 | 40 | 160 | 200 | 175 | 180
HEVM160| 24 48 2.0 30° HBVM160| 331 | 129 | 328 | 95 | 39 |25 | 50 | 180 | 224 | 175 | 210
HevM200| 24 48 2.0 30° HBVM200| 352 | 143 | 345 | 95 | 39 | 96 | 50 | 200 | 250 | 22 | 236
HBVM250| 24 48 2.0 30° HBVM250| 449 | 189 | 383 | 108 | 48 | 82 | 50 | 200 | 250 | 22 | 236

-116-



H6VM55/80/107/160/200/250 - FOR EP TYPE
BENT AXIS TYPE AXIAL PISTON MOTORS

SUCTION &
DELIVER PORT

SF Ty .
U 11
sl
' s B
! |
|, el !
R e !
!L o | -+ . !'.1_

= M1 SUCTION
# USABLE CIRCUMSTAMNCE
B Gl HYDRAULIC CIRCUIT & DELIVERY PORT
@ Flange Mounting face for Suction & Delivery Port (@) SPECIFICATIONS
(mm)
DISPLACEMENT MAX
MODEL| a b 5 d e MODEL (celrev) PRESSU [TORQUE R.P.M F':Eg;v
RE (Nm) (Umin)
(Kg/cm®)
HEVM55 | 50.8 | 23.8 | M10x1.5P Dp20 | 19 | 108 e ot 8IS
HBVM55 55 35 349 7000 | 4450 244
HE6VM80 | 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 108
HBVMSB0 80 51 509 6150 | 3900 312
HEVM107| 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 130
HBVM107| 107 88 _ 881 5600 | 3500 380
HEVM160| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 152 ——— g <019 | 2000 [ 3100 | 20
HEVM200| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 164 PERRE| o0 | 58 B (il | | 25
HBVM250| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 112 HBVM250| 250 | 188 1391 | 3600 | 2700 | 675
@ Dimensions of Shaft End(Spline Type) (@ DIMENSIONS el
MODEL | No.of teeth |Pih cirtle dajmm)| Module | Pressure angle MODEL| A [ B | C | D | E F|1G|H/|J K L
HEVMS55 14 o8 50 30° HBYMSS | 327 | 176 | 243 | 67 | 31 | 67 | 30 | 125 | 160 | 135 | 150
HEVMS0 16 32 2.0 30° HBVMSO | 348 | 182 [271 | 72 | 31 | 78 | 35 | 140 | 180 | 135 | 185
HBVM107 18 36 2.0 30° HBVM107| 362 | 187 | 287 85 39 78 40 160 | 200 | 17.5 | 190
HEVM160 24 48 2.0 30" HEVM160| 408 | 195 | 328 95 39 (925 50 180 | 224 | 17.5 | 210
HBVM200 24 48 2.0 30° HEVM200| 408 | 199 | 348 95 39 96 B0 | 200 | 250 | 22 236
HB6VM250 24 48 2.0 30° HBVM250( 436 | 188 | 383 | 108 | 48 82 50 | 200 | 250 | 22 238

-117-



H6VMS55/80/107/160/200/250 - FOR EZ TYPE
BENT AXIS TYPE AXIAL PISTON MOTORS

SUCTON A
[WER PUR]

USABLE CIRCUMSTANCE - SUCTION
. 50, 1SO VG46, -20-807 HYDRAULIC CIRCUIT & DELIVERY PORT

@ Flange Mounting face for Suction & Delivery Port (@) SPECIFICATIONS
(mm)

DISPLACEMENT MAX
MODEL| a b T d e MODEL (celrev) PRESSU [TORQUE R.P.M F':Eg;v
RE () (Lirin)
(Kglem?}
HeVMS5 | 508 | 238 | M10x15PDp20 | 19 | 75 e M
H6VMS5 | 55 | 35 349 | 7000 | 4450 | 244
H6VMS0 | 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 84
HeVM80 | 80 | 51 509 | 6150 | 3900 | 312
HEVM107| 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 84
HevM107| 107 | es | | ea1 | 5600 | 3500 | 30
HEVM160| 66.7 | 31.8 M14x2.0P Dp20 32 152 HEVM160| 180 101 1019 | 4900 3100 496
HEVM200| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 164 T R 5 e | 550m | Eob
HEVM250| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 112 HEBVM250| 250 | 188 1391 | 3600 | 2700 | 675
@ Dimensions of Shaft End(Spline Type) (@ DIMENSIONS el
MODEL | No.of teeth |Pih cirtle dajmm)| Module | Pressure angle MODEL| A [ B | C | D | E F|1G|H/|J K L
HBVMSS 14 28 2.0 30° HBVMSS | 327 | 176 | 243 | 67 31 67 30 | 125 | 1680 | 135 | 150
HBVMS0 16 32 2.0 30° HEVMSB0 | 349 | 182 | 271 72 K1l 78 35 140 | 180 | 13.5 | 185
HEVM107 18 36 2.0 30° HBVM107| 362 | 187 | 287 85 39 78 40 | 160 | 200 | 17.5 | 190
HBVM160 24 48 2.0 30" HEVM160| 408 | 195 | 328 95 39 | 925 50 | 180 [ 224 | 175 | 210
HBVM200 24 48 2.0 30° HEVM200| 408 | 199 | 346 95 39 96 50 | 200 | 250 | 22 | 236
HBVM250 24 48 2.0 30° HEVM250| 436 | 188 | 383 | 108 | 48 82 50 | 200 | 250 | 22 | 238

-1.18=



H6VMS55/80/107/160/200/250 FOR HJ TYPE
BENT AXIS TYPE AXIAL PISTON MOTORS

\  PF1—11B ED TPYE
\ ELIVER"

RY PORT

|
= *B ‘
i |
.-/ /I'B(//_ Vg max
:lﬁ%\_//, gl
i T B e
| = “A
- I W
™ T2 s
I ) f::_-i--——xl’s\f
* Not included -— T
in scope of supply _____'—: ______ |
| 1 SUCTION
R BOTG St ~ HYDRAULIC CIRCUIT | | & DELIVERY PORT
@ Flange Mounting face for Suction & Delvery Port @ SPECIFICATIONS
(mm)
DISPLACEMENT |NORMAL
MODEL| a b c d e MODEL (ceirev) Paisu TCEE%JE RP.M Fﬁ:g;v
MAX | MIN | (Kgiem?) MAX | min | min)
HEVM55 | 50.8 | 23.8 | M10x1.5P Dp20 19 | 108 HEVM55 = 35 349 | 4450 | 7000 | 244
HEBVMS80 | 57.2 | 27.8 | M12x1.75P Dp20 | 25 108 HBVMS80 80 51 509 | 2000 | &150 | 212
HEVM107| 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 130 e o | T | | E |
HBVM160| 66.7 | 31.8 | M14x2.0P Dp20 | 32 | 152 R 4 | 45 | 706 | 5eE | W6 | 4%
HE6VIM200| 66.7 | 31.8 | M14x2 0P Dp20 32 164 H6VM200 | 200 126 1273 | 2900 | 4600 | 580
HBVM250| 66.7 | 31.8 | M14x2.0P Dp20 32 | 112 HEVM250 | 250 188 1391 | 2700 | 3600 | 675
@ Dimensions of Shaft End(Spline Type) (@ DIMENSIONS -
MODEL | No.ofteeth | Pttdann)| Module Pressure ange MOEIEL I3 0 - RO R R R N
H6VM55 14 28 2 0 30u HEVMSS5 | 262 | 256 | 3 16 &7 | 35 125 | 160 | 135 | 150
HGVMSO 16 35 2 0 30“ HEVMBOD | 265 | 283 b 3 16 78 35 140 | 180 | 13.5 | 185
H6VM1 07 18 40 20 30"‘ HEVM107| 280 | 302 BE 39 17 78 40 160 | 200 | 17.5 | 190
HE6VM160 21 45 2 0 30° HEVM160| 303 | 334 | 85 38 18 893 45 180 | 224 | 175 | 210
HEVM200 24 48 20 30° HEVM200| 352 | 361 85 38 19 96 50 200 | 260 | 175 | 236
HBVM250 24 48 20 30° HEVM250| 449 | 399 | 108 48 22 a2 50 200 | 245 | 175 | 236

—1.18=



H6VM55/80/107/160/200/250

BENT AXIS TYPE AXIAL PISTON MOTORS

CONNECT ROD TYPE

SPLIME
—

S
| b

Q <
S

@

o
D
6

[ | R
et |
s USABLE CIRCUMSTANCE Mt SUCTION
507, ISO VG46, -20~907C HYDRAULIC CIRCUIT & DELIVERY PORT
@ Flange Mounting face for Suction & Delivery Port (@) SPECIFICATIONS
(mm)
DISFLACEMENT MAX

MODEL a b c d e MODEL (cclrev) PRESSU | TORQUE R.P.M Fh'ﬁxw
RE {MNm) oy
MAX MIN | (Ka/em?) MAX I [

H6VM55 | 50.8 | 23.8 | M10x1.5P Dp20 | 19 | 108
HBVM55 | 55 35 349 | 7000 | 4450 | 244

HE6VMS0 | 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 108
HEVMSBO0 80 51 509 6150 3200 312
HBVM107| 57.2 | 27.8 | M12x1.75P Dp20 | 25 | 130 e wr | e NEIEIEIES
HBVM160 66.7 | 31.8 | M14x2.0PDp20 | 32 | 152 Hevmien] 1e0 | 101 101 | 4900 | 3100 | 296
HBVM200 66.7 | 31.8 | M14x2.0PDp20 | 32 | 164 HEVM200| 200 | 128 1273 | 4800 | 2000 | 880
HBVM250 66.7 | 31.8 | M14x2.0PDp20 | 32 | 112 HeVM250| 250 | 188 1391 | 3600 | 2700 | 675
@) Dimensions of Shaft End(Spline Type) (@) DIMENSIONS -
MODEL | No.of teeth (Pith ciitke de(rm| | Module | Pressure angle MODEL | A B|C|D|E F |G| H]|J K| L
HBVMSS5 14 28 2.0 30° HEVMSS | 225 | 90 | 280 | 65 25 67 | @30 | @125 @160 (@13.5) 150
HEVME0 16 32 2.0 30° HEVM80 | 240 | 95 | 300 72 25 75 | @35 | @140| @180 (@13.5) 165
HEVM107 18 36 2.0 30° HEWVM107| 255 | 100 | 320 83 32 B0 |@39.5 @160 (@200|E17.5) 180
H6VIM 160 24 48 2.0 30° HBVM160| 292 | 107 | 360 20 32 92 | @45 | @180 (@224 (@17.5) 210
HBVM200 24 48 2.0 30° HEVM200| 352 | 143 | 345 a5 39 96 |(@49.6| @200 |@250 | @22 | 236
HBVM250 24 48 2.0 30° HEWVM250| 441 | 189 | 372 | 108 | 48 82 | @50 |@200|@250| @22 | 236

—-120-



HBFO90OM-K

BENT AXIS TYPE AXIAL PISTON MOTOR

% USABLE CIRCUMSTANCE
50C, ISO VG46, -20~90°C

d

@

b

&
N

ei(
i |

o

[¥]

4-h

[
PF1/4 f
GAUGE PCRT—A

f

(8

PF1/4

—18N

GAUGE PORT—

| )
-

7/

=

()

@ SPECIFICATIONS
NORMAL
MODEL |pLkeeT|pRESSUR | TORQUE | oy | FLOWWAX
kg/omy | (Nm) L /min
HBFOM
(K-TYPE) ) 350 492 3500 315
' Dimensions of Shaft End(Spline Type)
MODEL  [No.of teeth |pistsresdarni| Module | Pressure angle| Standard
HBFOOM - [JSB1603
(KTYPE) 19 |31673| 1667 | 20 0%

. Flange Mounting face for Suction & Delivery Port

(mm)
MODEL| a |[b|c|d|e|f|g| h
HBFIOM M12X1.75P
(KTVPE) | 90| 52 (572 278/174) 20 025 T

SPLINE

ol ]
2N

o3
o

:-P\\\\§
N |

PCD8208.8 H_

J
@ DIVENSIONS _—
MODEL | A | B |C |D|E|F|G H|[ I |J|K|L|[M| N
HBFO0M
KType) | 19| 22| 16 | 22|48 | 36 | 68 | 125 | 204 | 367 | 2604|535 | 110 | U5




HBF90M-S

BENT AXIS TYPE AXIAL PISTON MOTOR

% USABLE CIRCUMSTANCE
P0G, 150 V348, ~20-007C @ SPECIFICATIONS
VORIAL
PR TORQUE FLOW WA
MODEL "ty |t | ) | PP | i
HBFOOM
LM 0 | a0 | e | B0 | 8t

’ Dimensions of Shaft End(Spline Type)
MODEL |No.of testh

Picheicedarr | Module | Pressue ange| Standeard

HBFI0M - |ANSIBR1b
STYPE) 21 33337 | 1632 | 30 o
i e © Flange Mounting face for Suction & Delivery Port
ey | ® ot
0 LR, Lt a0 ©
asl | £9) | \@ © LQ MODEL| a | b|c|d|e|f|g h
Q 9 D O
A\ &) HBFI0M M12X1.75P
b & S (S—TYPE] 90 | 52 |57.2|127.8{155| 20 925 Dp25
=Ny ——m ;
SPLINE 3 - R“‘m\k
] ] =
ég “ti""_u T
] i @
PF1/2 DRAIN PORT //
D E
F G
H
@ DIVENSIONS (mm)
MODEL A B C D E i G H J K
HBF90M
(S-TYPE) 155 | 177 | 145 | 127 | 125 | 555 | 260 | 354 | 216 | 345 | 127




H2FM SERIES

BENT AXIS TYPE AXIAL PISTON MOTORS

@ SPECIFICATIONS
MODEL H2FM08 | H2FM10 H2FM12 H2FM16 H2FM23 H2FM28 H2FM32
Discharge Rate (cc/rev) 8 10 12 16 23 28 32
Max. pressure (kg/cm?) 400
Max.speed(rpm) 8000 6300
B
[ i
! |
( | f /"'Y"\ \ |
5 ' [
;.' ' ".\ A /" ’ |
R O
I -
N
% USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT L]
50T, ISOVGAE. -20-807
. Dimensions of Shaft End(Spline Type)
MODEL No. of teeth Pitch Circle Dia(mm) Module Pressure Angle Standard
H2FM08/10/12 14 17.5 1.25 30° DIN 5480
H2FM08/10/12/16/23/28 18 22.5 1.25 30° DIN 5480
H2FM23/28/32 14 28 2 30° DIN 5480
. Dimensions of Shaft End(Key Type)
MODEL a b c d e f Standard
H2FM08/10/12 20 22.5 37.6 40 32 6 DIN 6885
H2FMO08/10/12/16 25 28 37.6 40 32 8 DIN 6885
H2FM23/28 25 28 47.6 50 40 8 DIN 6885
H2FM23/28/32 30 33 47.6 50 40 8 DIN 6885

PCDsd -L—“

@ DIVENSIONS

MODEL A B c ‘ D E F|&|H | J K LS (T T S ) I o . T Al A2

(mm)

seFMogitonane B0 182 6 | B0 (131 | 85 | 12 | 95 | 9 |100| 95 [ 168 56 95 44 140 34  M12X15 | M22X1.5 | M22.X1.5

HzrmzaeEisz 100 232 8 42 | 142 | 106 | 18 | 132 | 11 (125|118 | 186 | 7O 123 58 123 B8  MI6X1.5 | M27X2.0 | M27X2.0




HAG SERIES

TRAVEL MOTOR ASS’Y

@ SPECIFICATIONS

REDUCTION GEAR HYDRAURIC MOTOR
MODEL | GEAR RATIO | THEORETICAL OUTPUT TORQUE| OUTPUT SPEED | DISPLACEMENT | QUTPUTSPEED|  MAX PRESSURE BRAKE TORQUE(AT HOTOR SHAFT) S
i Kaf-m N'm Max. rpm cclrev Max.rpm | Kgf-cm? MPa Kgf'm N-m TON
HAG18VP | 42.958 220 2,160 70 18 3,800 250 24.5 2.5 24.5 2.5
HAG26VP 53 400 3,920 60 27.6 3,500 250 27.5 4 39.2 45
HAG33VP | 58.943 550 5,390 60 33.8 3,300 280 27.5 5 49 6
! R/G
B = |
%l
i T ﬂﬁ [T es
| T
c1>!s—_fi -
|
|

# USABLE CIRCUMESTANCE P atd Tz
507 150 VG4S, -20-807:

HYDRAULIC CIRCUIT
. Mounting face for Suction & Delivery Port  (mm) g
MODEL a b c d e f e 3
"
HAG18VP 40 59 PF1/4 1IN
HAG26VP | . | 48 | 44 | 108 |PF12| A i
HAG33VP 50
o
INLFE*L;ERT 12-M14x2.0p | B A
3 ., 12-M14X2.0F TAP THRU TAP DP20,/25 5

a6
oF
E

=Y
s

CHECK PORT —E""DraN PORT

PF1/4 PF1/4 L Ko |J 3
!_ PCOAC | W PCDSQ |
@ DIVENSIONS (mm)
MODEL A B C D E F G H | J K L M N 0 P Q
HAG18VP 45 | - [215| 65 | 182 | 190 | 238 165 | 215 70 | 50 | 263 80 | 62 192
HAG26VP 40 | - [ 282 | 70 | 198 | 204 | 255 28 | 60 | 70 | 288 | 41 108 70
HAG33VP 20 | 40 | 262 | 78 | 219 | 230 | 285 | 200 |263.5 70 | 67 | 294 68 | 240




HM SERIES

TRAVEL MOTOR ASS’Y

@ SPECIFICATIONS

REDUCTION GEAR HYDRAURIC MOTOR
APPLICATION
MODEL |GEARRATIO THEORETICAL OUTPUT TORQUE | OUTPUTSPEED | DISPLACEMENT | QUTPUT SPEED MAX PRESSURE BRAKE TORGUE(ATMOTOR SHAFT)
i Kgf-m N-m Max. rpm ccirev Max. rpm Kgf-cm?® MPa Kgf-m N-m TON
HMO5/06VA| 68.6 570 5,590 60 27.5 | 3,600 250 24.5 6.6 64.7  4-5(6)
45.2
HMO7TVA | 53.706 810 7.943 55.8 ? 3,500 250 24.5 8.4 B2 5~8
HMO8VA | 53.706 1,000 | 9,806 65 45.2 3,900 300 29.4 8.4 82 5~9
HMOSVA | 53.706 1,100 10,787 65 49.2 3.900 300 29.4 8.4 B2 6~8
HM1OVA | 53.706 1,200 | 11,767 70 53.2 3,900 300 29.4 8.4 82 8~10
HM15VA | 53.706 1,850 | 18,130 60 79.4(80) 3,200 350 34.3 19.7 193 10—14
HM18VA | 53.706 1,850 18,130 60 79.4(80) 3.200 350 34.3 19.7 193 10~14
HM22VA | 53.706 2,445 | 23,961 60 82.8(83) 3,200 350 34.3 21 205 13~15
LOw  HIGH
|_ m™
T2
al a2
Ps :—e—m
S oty Y
iy ]
# USABLE CIRCUMSTANCE FLbs
507, 1SO VG46, -20-807C HYDRAULIC CIRCUIT
. Mounting face for Suction & Delivery Port (mm)
MODEL | a | b | c d e | f | g
HMOS5/06VA 52 100 46 69 PF1/4
HMO7VA
EIMDSyE 105 | 658 @ 91 |PFY2|pp3g
HMOSVA PE1/4
HM10VA 50
HM15VA
HM18VA 116 87 110 | PF3/4 | PF1/2
: HM22VA
2-PF1/4 (3]
fa] sy
L
R ) T &7 |
[ f\Ye) £
p/ 7 ®
f 9 \
E“T {{) = -‘é s é (& 1= -——— 1 x| o =
8 & J|
{ - ‘
OQ.\ /do
O
5 L]
H |
o
@ DIVENSIONS —_—
MODEL Al B |C D E F G H | J K LI M|N|O P Q R
HMO5/06VA |48 |220(9.6 | 9-M14X2.0P | 15° 180 |246| 132 18.4 |272.2 [196|230|288| 85 - — |262(9-M14X2.0P
HMO7VA 244 12-M14X2.0P 268 68 [332.5|244|250(306 82
HMOBVA
60 12 30°| 210 110 28|33.5 12-M14X2.0P
HMO9VA 250 12-M16X2.0P 280 80 340 |245|265(326 300
HM10VA 86
HM15VA 16—-M16X2.0P|22.57 18-M1B6X2.0P
HM18VA |72|280| 30 _|246|308| 134 99.5| 389 |285/324(394 - | 86 |364[15-M16X2.0P
HM22VA S0-MIBSe0R 18 18-M16X2.0P




HG08 FOR MFB150/160 (WITHOUT TIME DELAY VALVE)

SWING MOTOR ASS’Y

@ SPECIFICATIONS
L HG08 FOR MFB150/160 . Dimensions of Shaft End(Spline Type)
Discharge Rate(cc/rev) 151
MODEL Mo, of teeth [Pidnediiml | Module | Pressue 2ngs | Standard
Max. Flow (L/min) 253
e 13 | 41275 | 816 | 30° | SAE
Brake Torque (N-m) 685~891 FOR MFB150/160 '

# USABLE CIRCUMSTANCE
507C, 1ISO VG486, -20~907

catda D
- Flange Mounting face for Suction Port -
44 o0 [0 =]
(mm) OO
90 [= =]
Fl 2.2
b 476
e €| saessaan
: 4 |Mi0et 5P DRSS F—
: T :

@ DIVENSIONS : ()
MDEL | A|B|c|D|E|lF|e|H| 1|yl KlIL|MIN|]O|P]|aQ
HG08  \oey | 436 | 35 | 85 | 186 | 283 | 53 | 252 | 68 | 44 | 282 | 13 | 302 | 27 | 243 | 33 | 307

FOR MFB150/160 : :




HG08 FOR MFB150/160 (WITH TIME DELAY VALVE)

SWING MOTOR ASS’Y

@ SPECIFICATIONS

L HG08 FOR MFB150/160 . Dimensions of Shaft End(Spline Type)
Discharge Rate(cc/rev) 151
MODEL Mo, of teeth [Pidnediiml | Module | Pressue 2ngs | Standard
Max. Flow (L/min) 253
HG08 13 | 41215 | 816 | 30° | SAE
Brake Torque (N-m) 685~891 FOR MFB150/160 '
Gh
Au
Pok]
% USABLE CIRCUMSTANCE
507, 1ISO VG4AE, -20~907T
; rT{c:é:‘. oil Tovel gawa) | |
."I 27T 1/2 : — PF 3/8- 19N
il A
IIII"II [l . _/"0 : & 162
f"g e . o
AN j
PF 1-11M i ,..~0/
Wy (Moke—up port) "e—-e‘
PCOBK
R ___p
- Flange Mounting face for Suction Port -
A olo™olo
(mm) R
o0 Qo
2 0l
- b 476 ’-ﬁ xrl{i a =
[ 19 o PI"-’AI 'l‘
SAE U518 314 w |
4 MH0x15P DRSS 1 el
~ J B
@ DIVENSIONS : ()
MODEL | A|B|C|D|E|F|G|H| I |J|K|LIM|N|O|IP|]Q]|R
HGO8 | 960 | 436 | 35 | 85 | 263 | 120 |1925] 252 | 68 | 44 | 282 | 13 | 302 | 27 | 243 | 33 | 307 [1795
FOR MFB150/160 ' ' ' '




AP2D SERIES

SINGLE TYPE GEAR PUMP
' SPECIFICATIONS
MODEL AP2D10/12/14/16/18
Discharge Rate(cc/rev) 6.5/ :{110.5
Max.Pressure (kg/cm?) 210
Max.Speed(rpm) 2800
] G H

" NS B J
.::;II K
i Ilf:i;"; @» el
20 4 |
SUCTION &
# USABLE CIRCUMSTANCE
507, 1ISO VG486, -20~-907T
PF 1/2
DELIVERY PORT
S
: i
m| < -
L=t ‘&1
)
SPLINE |,
| -
D R
E F 3
@ DIVENSIONS

MODEL LN A B |C|D|E|F|G[H| I | J]KIL M{N/O P|Q|R|S

APDSERES | Z10| 17 78 | 2 |41.8 6 |92.3) 50 |93.5| 15 16.3| 20 | 40 36.5(18.7| 22 4 |1155] 63 1233




AP2D SERIES

SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL AP2D21/25/ 28/ 36
P1
Discharge Rate(cc/rev)
12 16.8 18.8 22
Max.Pressure(kg/cm?) 210
Max.Speed(rpm) 2200/2600/2800
G H
@7 F
*GELIVERY
28

l *DELVERY
¢ 822
SUCTION POR]

g
/

% USABLE CIRCUMSTANCE
507C, ISO VG486, -20~90°C

oF1/2
(DELIVERY PORT)

Y
1
T

C fi
@ DIVENSIONS -
MODEL | A [B|C|D|E|[F|G|H| I |J|K|L|M|N/ SPLNE

AP2D SERIES |28.6| 35 [ 124|105 (10.5(16.7| 30 |36.6| 14 | 28 | 8 |16.5] 86 | 50 | Z10




AP2D SERIES

DOUBLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL AP2D21/25/28 /36
Fl P2
Discharge Rate(cc/rev)
12 16.8 18.8 22 6 9 10
Max.Pressure(kg/cm?) 210 50
Max.Speed(rpm) 2200/2600/2800

% USABLE CIRCUMSTANCE
507C, ISO VG468, -20~90°C

o PF 92 i A
PF1/2 PF1/2
DELIVERY PORT DELIVERY PORT ZOELIVERY

08 \
*DELIVERY \ o

SUCTION PORT

?E

c
D A

@ DIVENSIONS
MODEL A B [C |'D NE (SEEGH I e Rl B M [ N [ O [SPLINE

(mm)

AP2D SERIES| 282 | 40 | 129 (149 | 35 | 14 | 28 | 8 (165|167 30 [ 366 | 5 | 50 | 105 | Z10




AP2D SERIES

SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL AP2D21/25/28/36
Discharge Rate (cc/rev) 9
Max. Pressure (kg/cm?) 210
Max. Speed (rpm) 2200

% USABLE CIRCUMSTANCE
507C, ISO VG486, -20~90°C

o0

SPLINE

[

= e & s e

=
o
M
—
< 5
m
.0
<
o
o
B
i}

@ DIVENSIONS

MODEL| A|B|C|[D|E|F|[G|H|I|J|K|L|M|N|O|P|Q|R/|SPLNE
APZD21

ﬁﬁ 30 (366 56 | 50 | 14|28 | 8 [165(105) 8 | 22 | 81 [ 124105 41 | 83 |80.7| 89 | Z10
AP2D%




AP2D36 FOR YANMAR
SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL AP2D36 (FOR YANMAR)
Discharge Rate(cc/rev) 25 ‘ 30
Max.Pressure(kg/cm?) 214
% USABLE CIRCUMSTANCE :
= 50°C. ISO \lfGem: -20-807 s Sheedivpn) 4800
Direction CW
PF 3/4

B F G
c H
@ DIVENSIONS —_—
MODEL A B C D E E G H | J SPLINE
AP2D36
(FOR YANMAR -25ccirev) 605 121
11 1264 | 1495 | 1016 | 146 6 120 | 149.2 10T
AP2D36 67 126
(FOR Y ANMAR-30cc/rev)




AP2D25/28/36/38 FOR HITACHI

DOUBLE TYPE GEAR PUMP

% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90°C

|
i
i
i
|

I

’ SPECIFICATIONS
AP2D25/28/36/38
MODEL (FOR ZX60 & ZX75)
X P1 P2
Discharge Rate (cclrev
Lol B 21 1
% USABLE CIRCUMSTANCE Max. pressure (kglcn) 210 50
50°C, ISO VG46, -20~90°C WX Sesi o 2100
. ZX60 SUCTION PORT({for AP2D25/28) O ZX75 SUCTION PORT(for AP2D36/38)

Iy ™
o M ol

@242
58.7
SPLINE BEL%;Y PORT BEUL{:EY -
W H_Q
R S \@
1 KF/J
. =4 E‘j
— 7 | f
A il
B B [uL8 K
C GPI-FPILOT FORT L
I
@ DIVENSIONS (mm)
MODEL |A|B C|D|E|F|G|H|1|J K|L|M  SPLNE

AP2025/28136138
FRZDTSN) 25| 51122/ 11 16.2| 20 | 40 (107|8.5 11 |61.5/101|161 Z10




AP2D10/12/14/16/18

DOUBLE TYPE GEAR PUMP

% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90°C

=re= = |
1 1 i
| Lo
i ]
: //— N /”i‘“\ ]

} |

|
|
; 5 |
! \\___ _,./ \[__Z//- !
| |
| i
@ SPECIFICATIONS
AP2D10/12/14/16/18
MODEL (FOR UCHIDA)
Discharge Rate (cclrev) P1 ke
% USABLE CIRCUMSTANCE 8 4
50°C, ISO VG486, -20~90°C e 955 50
Max. Speed (rpm) 2800
PF1/2
P
A
T
! Q| z| =1
om - | | |l &
\,: ! x“ —][ 1 ! i
7 '
\ e SPLINE
“I\ DELIVERY
82 R
DELIVERY PORT Q S
=
. H | - -

@ DIVENSIONS -
MODEL | A [B| C |D|E|F|G|H|T|J|K|[L|M|[N|]O|P|Q|R/|S/|T/|SPLNE
APDI0 112414
o | 8 [165( 38 |177] 50| 30 |50 | 8 |t24| 14 |252| 28 | 7| 3% [427| 13 | 63 | 41 |1208| 149 | 210




A10VD43
SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL A10VD43(KEY TYPE)
Discharge Rate (cc/rev) 9/10.5
% USABLE CIRCUMSTANCE o Smeral et 2
50°C. ISO VG46, -20~90°C M Sppee gl 2000

PF 3/4 N_ PF 1/2
SUCTION PORT : DELIVERY PORT
_ /_] :_:L% Sy el = jl:_ ./‘ ) \

T
J J
L B -
] L
@ DIVENSIONS -
MODEL | A|B|C|D|E|F|G|H| I |J]|K|L|MJ|N

A10VDA3(KEY TYPE)| 82.5| 104 | 9.3 | 13 | 6.3 |67.3|15.7| 40 | 100 |55.5/70.3|75.5| 3 | 13




A10VD43

SINGLE TYPE GEAR PUMP

. SPECIFICATIONS
MODEL A10VD43
Discharge Rate (cc/rev) 12
% USABLE CIRCUMSTANCE Max. Pressure (kg/cn?) 180
50°C, I1SO VGE46, -20~907C
Max. Speed (rpm) 2800
PF 1/2 SPLINE PF 3/4

DELIVERY PORT

SUCTICN PORT
e

]

;

|

|

|
Abinn

EA

==
1
U
K

@ DIVENSIONS

(mm)

MBEE SaeAE R Bl 655 ) =5 o 8 G e et o e e s e (R CR SR IUNE

A10VD43| 51 (122 | 11 | 20 | 96 (157 8 | 63 |99.5( 112 | 107 | 10 | Z10




A10VD43

DOUBLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL A10VD43
Discharge Rate (cclrev) i L
12 10
i Sl o0 |
Max. Speed (rpm) 2800
SPLINE PF 3/4 PF 3/4

K SUCTION PORT  SUCTION PORT

—F iy i H—
- @ % HE j @ ?@%
| | . I\
o ; i ’ ==L
\ I \‘\H -0 A : I _ﬂ]

PF 1/2 PF 1/2 B G 3
DELIVERY PORT DELVERY PORT

@ DIVENSIONS

(mm)

MOBEL | AL(- B DaES | G sl Lol At SPHINE

A10VD43| 51 |122| 11 | 20 | 96 (157 8 | 53 [132.5|1455| 10 [ 107 | Z10




HGP32/32, 22/22
DOUBLE TYPE GEAR PUMPS

@ SPECIFICATIONS

MODEL HGP32/32 , HGP22/22
Pl P2
Discharge Rate (ccirev) 32 32
% USABLE CIRCUMSTANCE e o
50°C, ISO VG46, -20~90C e e 250
Max. Speed (rpm) 2800
' Flange Mounting face for Suction Port ’ Flange Mounting face for Delivery Port
sd 3 4-c (mm) oh 4—c (mm)

@ ,T\ . HGP32/32 | HGP22/22 @ \ _ :ggzzgz
| f ¥ . 587 | 302 S@ i 22.2

/ 524 | 262 ; w ’ 476
M10XL5PXDp20 EB @J )

T|Q || m

&
L
X
i

M10X1.5PXDp20)
‘ ‘ 032 | 0254 @19
5 f
INVOLUTE SPLINE
SAE J49BB—16/32—PAID-713 o =1
2-0C i
] - e (N[
S SE 122
{_3 oY &
F
A G H |
B J L
@ DIVENSIONS i
MODEL A B C D E E G H | ) K =
HGP32/32 75.65 | 137.3|324.1
146 | 175 | 14.5 (101.6| 21.8 | 9.4 | 41.2 156 | 110
HGP22/22 725 | 131 [3115




HGP32/22-A(4-PORT) TYPE @

DOUBLE TYPE GEAR PUMP

@ SPECIFICATIONS
MODEL HGP32/22 A-TYPE
: P1 P2
Discharge Rate (cc/rev)
32 22
R s 2
Max. Speed (rpm) 2800
' Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port
4-c @Qﬂ
o g O G
a 26.2 a 22.2
4 b 52.4 % “ b 47.6
d c | M10X15PDp20 ; c | Mi0X15PDp20
& d | @255 @ o d 018
a ¥ . —a
SELINE P1 P2
O ’/43 Ol oy g | oo e o
N S< © O
kj oo oo
< @ 2-9C
F
A A G H I
B J L
@ DIVENSIONS -
MODEL | A B c D E F G H | d K L |SPLINE
HGP32/22
(A -TYPE) 73 175 | 145 |1016| 21.8 | 94 | 41.2 | 689 (1353|3154 | 156 | 110 213




HGP32/22-B(3-PORT) TYPE @

DOUBLE TYPE GEAR PUMP

% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90°C

\T/ L

M10X1.5P Dp20
$32

M10X1.5P Dp20

d

@ SPECIFICATIONS
MODEL HGP32/22 B-TYPE
Discharge Rate (cclrev) i P2
32 22
Max. pressure (kg/ent’) 250
Max. Speed (rpm) 2800
. Flange Mounting face for Suction Port ‘ Flange Mounting face for Delivery Port
d cind- d 4—c
D @C Pl o (P1&P2),
‘\‘ al | 2 58.7 a 476
o -y b 30.2 b 222
g c
! d d

INVOLUTE SPLINE
SAE—16/32—PA30-Z13

Pan ﬁ
< AN
N NS

i g
D)o 44T
)R !

& |
[\

F
A A G H |
B J | L
@ DIVENSIONS -
MODEL A B C D E 7 G H | J K L
et 73 175 | 14.5 (101.6122.9 | 9.4 | 41.2 |71.85(88.85|263.7| 156 (106.4
ey 5(101.6/22.9 | 9.4 | 41.2 |71.85|88.85|263. .




HGP66-66-16.3(DHOSW-UH045W/UHO52)
TANDEM(SERIAL) TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL ® ©
b Discharge Rate (cc/rev) 66 16.3
" xUSABLE CIRCUMSTANCE :
507, ISO VG46, -20~90C ARG 12
Max. Speed (rpm) 1632
. Flange Mounting face for Suction Port . Flange Mounting face for Delivery Port
o o
/_.-—ﬂ_ " o (mm) N h (mm)
o {7 a | 778 " % e | 587
! ' b 42.9 | f 30.2
St Cc  |[M4x20PDp30 g |M2x1.75P Dpd0
O O d | 051 o O h | 8325
e ] -
(MVOLUTE SPLINC @t 12 M
M2.0-—PaAZr—714 DCLWERY PORT
) 1 @P - | =
. JPER
}
2 B
L J 4 I
D &l &
@ DIVENSIONS —

MODEL |A|B|C|D|E|F|G|H

5
-~
it
=
=
O

HGP
66-66-16.3 146 (1145]935| 212 | 275 | 127 | 182 |1894| 178 | 126 |116.4| 178 | 164 | 55.8 | 4854




HGP32/HGP22 @

SINGLE TYPE GEAR PUMPS

@ SPECIFICATIONS
MODEL HGP32 HGP22
Discharge Rate (cclrev) 32 22
Max. pressure (kglcn’) 250
% USABLE CIRCUMSTANCE
50°C, ISO VG486, -20~90C Hae Eced o 2800
’ Flange Mounting face for Suction Port 0 Flange Mounting face for Delivery Port
—c (mm) (mm)
¢h i
S HGP32 = HGP22 : / HGP32&HGP22
il -
a 58.7 30.2 @ Py @ e 222
S ; @ b 524 26.2 A & f 476
c | MI10XL5PXDp20 D S g |[M10XL5PXDp20)
d @32 | ©254 f h 219
SPLINE CELIVERY PORT
2—8C
o
b ]

; U svenon eom
A G H SUCTION PORT

B | K
@ DIVENSIONS -
MODEL A B C D E: E G H | J K | SPLINE
HGP22 67.5 | 174
146 | 175 | 14.5(1016/21.8| 94 |41.2 156 | 110 Z13
HGP32 71.85| 177




HGP10 @
SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL HGP10
Discharge Rate (cc/rev) 10
' Max. Pressure (kg/cm?) 180
% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90°C Max. Speed (rpm) 2000

PF1/2—10cc/rev
*DELIWERY FORT

~DELIVERY FORT

| = g |
l— j § =
' . s

SPLINE

PE=8-925(833 INCH)
h-ﬁ‘[l

@ DIVENSIONS -

MODEL = A B G D E S (e Bl G T S e 0 S S L S PLENE

HGP10 | 106 | 127 | 11 | 17 |82.55) 6.2 |45.6(36.4|99.5| 138 |85.4| 1143 Z10




HGP16.8/10

DOUBLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL HGP16.8/10
P1 P2

16.8 10
# USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90C Max. pressure (kglcm?) 180

Max. Speed (rpm) 2000

Discharge Rate (ccirev)

A *DELIVERY PORT *DELIVERY PORT
P PF1/2 PF1/2(16cc/rev)
SPLINE_ — PF3/8(9cc/rev)
:% ;6 ! f_% 1
. 4 -"--//:
] i
W |
L) L]
ERSY i
|~
— y PF1 P2
8
H !
J K
@ DIMENSIONS o

MODEL | A B C D E F G H | J K | SPLINE

HGP16.8/10| 11 106 | 127.0| 85 |[8255| 17 | 476 | 6.2 | 1216 353 | 213 Z10




HGP16.8 FOR VOLVO / HYUNDAI
SINGLE TYPE GEAR PUMP(WITH RELIEF VALVE TYPE)

@ SPECIFICATIONS

MODEL HGP16.8
Discharge Rate (cc/rev) 16.8
Max. Pressure (kg/cm?) 40
Max. Speed (rpm) 2000
DIRECTION CCW(L)
—— N —
e M s PF3/8
PF1
- S - SUCTION PORT ~ —=%=— ORAIN PORT
— C L)
| IKmn% Q
Ss| o9 N
LELl g_:‘-? |
, | A D
SPLINE
| PF1/4
PF1/2
H [l J SUCTION PORT
- K i ‘
|1 L '
@ DivVENSIONS o
MODEL | A [ B| C|D|E|F |G|H |1 |[J|[K|[L|M|N]|O /|SPLNE

HGP16.8 | 1055 121 | 119.5| 11 |186|82585| 22 | 62 [31.8(625(120.5( 1445 62.5 [ 1185| 10 Al




HGP22

SINGLE TYPE GEAR PUMP(WITH RELIEF VALVE TYPE)

v
mox. 210bar

PN
@ SPECIFICATIONS
MODEL HGP22(WITH RELIEF VALVE)
Discharge Rate(cclrev) 22
Max.Pressure(kgicm?) 210
# USABLE CIRCUMSTANCE ibiditaa L) 20
507, IS0 VG46, -20-80C DIRECTION CW
“ Flange Mounting face for Suction Port 0 Flange Mounting face for Delivery Port
d—c (mm) (mm)
d ; h 4—q
. 26.2 a2
D X

M10X1.5PXDp20

52.4 @& @_
M10X1.5PXDp20 o
: S <

0254 f g @19

O (0 |[T|lw
oK [+ |m

SUCTION PORT

|1 4D

Z
LT 1
'\ DELIVERY PORT

H J

% - B
g ‘““74 ORAIN PORI

z—e0/ __||

M

@ DIVENSIONS -
MODEL | A | B | C|D|E|F |G H| I |J]K[L| M[NJO /SN

HGP22 | 146 | 175 | 163 | 155|218 1016( 94 |412|725] 162 | 725|137 |435] 26 | 10 | 13




HPC90(EATONS4)
TROCHOID PUMP

MODEL HPC90
Discharge Rate{ccirev) 16.7
Max. Pressure (kg/em®) 20
Max. Speed (rpm) 2000
DIRECTION CWI(R) CCWIL)
* F A F L -
|
*ORAIN. FOR] ' |
2 |
(z i Y

D
]
// /
/
]

*SUCTION PORT Eé?l Pl ==t |‘ ———————— = - — .\{;}-—tr — “__EJ
N1-5/16"-12N —_—_:_;_ o \ &jj/) / R
e N
A A H | J N )
. K 0 C
@ DIMENSIONS -
MODEL AN NENISEE NN S = G H I ) K/ L|IM|N|O

HPCO0 | g5 |129|74 [182|7.8|23 [15875| 9 |49 | 99 |157| 32 | 38 | 33 | 53

(TROCHOID PUMP)




H3V SERIES @
GEAR PUMPS OF INNER DRAIN TYPE

@ SPECIFICATIONS

MODEL H3V63 H3V112 H3V140 H3V180
Discharge Rate (cc/rev) | 12 15
Max. Pressure (kg/cm?) 40
Max. Speed(rpm) 3250 2700 2500 2200
PF1/2

DELVERY PORT

# USABLE CIRCUMSTANCE
507C, ISO VG46, -20~90°C

i — | i
; '.

@ DIVENSIONS

(mm)
|

MODEL A B G D E F G H | SPLINE
H3ves | 100 80 | 66 %]g
508 | 192 | 93 | 728 o~
Havii2 | 112 | 5 148 | 90 | 9 L
H3V1408180 | 138 628 | 162 | 96 | 758 100 | 11 %]g




H3V/H5V DTP/DP/DPH SERIES @

GEAR PUMPS OF OUTER DRAIN TYPE

@ SPECIFICATIONS

MODEL H3V63DTP H5V80DTP H5V112DP | H5V200DPH
Discharge Rate (cc/rev) 12 15

Max. Pressure (kg/cm?) 50
Max. Speed (rpm) 3250 2700 2500 2200
DIRECTION CCW(L)

PF1/2
DELIVERY PORT

RELIE

F VALVE % USABLE CIRCUMSTANCE
507C, 1SO VG46, -20~90C

SUCTION PORT

©
=
-
*?%

I

{ L iy
I I
O
J SR
O |ll| SPLINE
o]

@ DIVENSIONS

(mm)
MODEL A B | C | D E F| G| H | NS EE N
H3V63DTP
H5V80DTP
H5V112DP 106 | 161 | 11.5]19.2 (100.8| 5 | 598 | 728 | 14.8 |82.55 Z13
H5V200DPH




H3V/H5V DTP SERIES @

GEAR PUMPS OF INNER DRAIN TYPE

@ SPECIFICATIONS
MODEL H3V63DTP | H5V80ODTP | H3V112DTP | H5V140DTP

Discharge Rate (cc/rev) 12 15

Max. Pressure (kg/cm?) 50

Max. Speed (rpm) 3250 2700 2500 2200

PF1/2
2-C DELIVERY PORT
| /
\_L/ T

F N AN |
\M | . RELIEF VALVE % USABLE CIRCUMSTANCE
PF3/4 | | 50°C, ISO VG46, -20~80'C
SUCTION PORT |
g -
= T T &
Q il e
R |
. “ﬂmum SPLINE
" Lol
B
@ DIVENSIONS
(mm)
MODEL A B | C D E F G| H | USRS EICINE
H3VE3DTP
H5V80DTP
A 109 | 149 | 11 | 272 | 93 | 5 | 518|648 | 148|775 Z13
H5V140DTP




H3V63DTP/112DTP&H5V80DTP/140DTP @

DOUBLE TYPE GEAR PUMPS
. SPECIFICATIONS
MODEL H3V63DTP/H5VB0DTP H3V112DTP/H5V140DTP

P1 P2

Discharge Rate (cc/rev)
23 10/16

Max. Pressure (kg/cm?) 180

Max. Speed (rpm) 3200

DIRECTION CCW(L) CW(R)

# USABLE CIRCUMSTANCE
50C, 1ISO VG46, -20~90°C

A *DELIVERY PORT *DELIVERY PORT
— P1 PF1/2 PF1/2(16cc/rev)
PLIN — / PF3/8(9cc/rev)
%@ T
AL
4 |
(/ F.“I“‘-
] G "‘SUCTIISIEAI PORT =
H I
J K
@ DIVENSIONS
(mm)
MODEL |A |B|C|D E|F |G|H| I |J| K SPLINE
H3V63DTP
1341 190
H3V112DTP | 41 | 106|127 | 85 |8255| 17 |56.3| 6.2 35.4 710
H5V80DTP e
H5V140DTP : 1995




H3V/H5V DTP SERIES @

GEAR PUMPS OF OUTER DRAIN TYPE

@ SPECIFICATIONS

MODEL H3V63DTP | H5V80DTP | H3V112DTP | H5V140DTP
Discharge Rate (cc/rev) 12 15
Max. Pressure (kg/cm?) 50
Max. Speed(rpm) 3250 2700 2500 2200
- B o _

PF3/8
RETUREM PORT

|
|
| é
RELIEF VALVE |

# USABLE CIRCUMSTANCE
50°C, 150 VG46, -20~80TC

T ‘:\-;
I
| | o

S

) ] | !
. j o ﬁﬁ
el e - o I P e
1 | I
BE | ]
" Illllﬂlll W_ SPLINE
138
@l
@ DIVENSIONS
(mm)
MOBEL (A |B|C (B |E|E|G[(H|I[J | K]|L]|SPLINE
H3V63DTP
H5V80DTP
vavioprp | 109(30.5(205(149 | 11 |27.2| 61 | 5 |518|64.8\148|77.5)  Z13
H5V140DTP




H5V160DP FOR CATERPILLAR

SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL H5V160DP
Discharge Rate(cc/rev) 25
% USABLE CIRCUMSTANCE Max.pressure 40
50°C, ISO VG46, -20~90°C f
Max.speed(rpm 2000
UNF 7/8—14N _

*DELIVERY PORT

=3
S1R:]

N

4 7 (=]

@ DIVENSIONS -

MOBEL S0A | B GEDACE L B Gl 1ed K  aPEINE

H5V1600P (106 130 | 12 {83 | & |17 |64 | 119 | 15| 15 108 Z13




H5V200/212DPH
GEAR PUMP OF OUTER DRAIN TYPE

@ SPECIFICATIONS

MODEL H5V200/212DPH
Discharge Rate (cc/rev) 15
Max. Pressure (kg/crm?) 40
% USABLE CIRCUMSTANCE
50°C, 1SO VG46, -20~90°C Max. Speed (rpm) 2200
PF1/2 PF3/8
*DELIVERY PORT *DRAIN PORT

G D *RELIEF VALVE
MAX PRESSURE 40bar
/7

S o
/i /—
S S, “ SPLINE-A )
0 & +SUCTION PORT 5
© 2 I IR/
1§ g | == I Z 1 5‘ = : —ﬂ-!f-‘"".fh, o
{ 5 -
s ol
m \ *PF3/4 T 2K |
&)
— 5—¢J
E F N
0
Q P
S R
@ DIVENSIONS -
MODEL |A B|c|D|E|F 6e|H|I1]|J|K L|{M|IN|O|P Q|R|s|T|U]|SPLNE
H5“'Sgﬁ212 59.5 70 |80.5/51.5/64.276.7 88.5|76.7|13.4| 11 |14.8 158/193.8 8 |45.8|13.558.8/17.51025 3.6 [24.8  z13




H7V63/100/125/140/180/200DTP

GEAR PUMPS OF INNER DRAIN TYPE

% USABLE CIRCUMSTANCE
50°C, 1SO VG46, -20~90°C

@ SPECIFICATIONS

SLCTION PORT
Y

SUCTICH PORT

MODEL H7V63/100/125/140/180/200DTP
Discharge Rate(cclrev) 15
Max.Pressure(kg/cm?) 50
Max.Speed(rpm) 2700
H7V63DTP
Lis
LM /1E
SUCTION PORT
52 INE | i
~
o
K
ZhL WAL
& & ] ;
UNFE /16
. o) o LD E SUCTIDN PORT
H7V125/140/180/200DTP
UNT /18 PF3/4

s K-
| L |
UNF3 /2 Pr1/2
RELIES WALWE SELIVERY PCRT ae SO {,r" ‘-M
VIEW-A
@ DIVENSIONS (mm)
MODEL A (& )V N F= E I EA T J K L|{ M| N| O/| P |SPLINE
H7V63DTP 41 76 | 31 - -
H7V100DTP 112 80 (130.5 75 84
H7V125DTP
H7V140DTP 124 54 31 | 735 45 14.8| 100 (1425 9 28 & _ } ” 29 213
H7V180DTP 138 110 | 156
H7V200DTP




H7V63/100/125/140/180/200DTP

GEAR PUMPS OF OUTER DRAIN TYPE

% USABLE CIRCUMSTANCE
50°C, 1SO VG46, -20~90°C

@ SPECIFICATIONS

MODEL H7V63/100/125/140/180/200DTP
Discharge Rate(cc/rev) 15
Max.Pressure(kg/cm?) 50
% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90°C Max.Speed{rpm) 2700
H7V63DTP
| P
N1 118
SLCTON PORT
'
L5 A
- =
SELEF WAV
1
B C Tk :3,-"8 x U\I’g/tﬁ
Qj,ﬁ, D E jRA”\J PORT | \\ DEL"\"’ERY ‘GRT
H7V100DTP H7V125/140/180/200DTP
L L.
UNT 1/16 A PF3/4
SUCTION PORT SUCTICN FORI
. ' b f
Cr o
— 3 I N
- i | UNE3,/4 : \ /3
RELIZF WalvE | L t Y DELl‘a’ERY/:’ORT R[Ll[i_. VALY [ I IJL—_LI\'-'DI-_F}-JY A—’(Hl
PF3/8 /
UNFE/B DRAN BORT | N =
DRAIN_FOR M A
VIEW-A
@ DIVENSIONS (mm)
MODEL A =S| & | E | E E (TG | H | J K L M| N|O|P| Q]| R |SPLINE
T e L — L L ) | T T |
H7V100DTP 112 7 80 (130.5 75 | 81 a4
H7V125DTP
H7V140DTP 124 . 54 | 31 | 735 45 14.8 | 100 (1425 9 28 e 20 } } 29 - Z13
H7V180DTP 138 110 | 156
H7V200DTP




HGP16.8(CCW-L) @

SINGLE TYPE GEAR PUMP(FOR 4-BOLT FITTINGS)

’ SPECIFICATIONS
MODEL HPV125A HPV125B KvC925
Discharge Rate (cc/rev) 16.8
Max. Pressure (kg/cm?) 180
Max. Speed (rpm) 3200
DIRECTION CCW(L)

“ Flange Mounting face for Suction Port

4-¢ g (mm)
{ @ a 26.2
® b | 524
(8]
| b d @25
0 Flange Mounting face for Delivery Port
4-c (mm)
a 22.2
# USABLE CIRCUMSTANCE
b 47.6 50°C, ISO VG46, -20~90T
Cc | 3B16UNC
d 18

SPLINE

a0
2|
M/"J
N
<

|y T =]
SUCTION DELIVERY
| PORT

@ DIVENSIONS

(mm)

MODEL | A| B| C | D | E|F | G|H I J K | SPLINE

RO v |oss | 12 62 | 363|504 | 100 | 17 | 84 |1135] 71
o) 055 82.55| 62 | 36.3 | 50. - L




)

HGP16.8(CCW-L, CW-R)
SINGLE TYPE GEAR PUMPS(FOR PIPE FITTINGS)
‘ SPECIFICATIONS
MODEL HPVOS0 | HPVO102 | HPVOY1ES |HPVOYIEW | HPY116 | HPV145 | A7V0250
Discharge Rate (cc/rev) 16.8
Max. Pressure (kg/cm?) 180
Max. Speed (rpm) 3200
DIRECTION CCWI(L)| CCW(L) CCW(L) CCWI(L)| CW(R) | CW(R)  CW(R)

% USABLE CIRCUMSTANGCE
507, IS0 VG486, -20~907C

SPLINE
1 T - - i
. / i
S — | e S\
;= S @_ il -
= PF1/2 _ 41;} ;( PF3/2
1 DELIVERY PORT : C D = SUCTICN PORT
. afs |
E |t G o
L F : i
@ DivENSIONS -
MODEL | A |B | C | D E | F|G|H | | J|K SPLNE
HGP16.8
(CCW-L) 11 [1055| 127 |8255| 6.2 | 363 | 53 | 109 | 17 [1135| 84 Z10
(W)




LPD45 FOR KOMATSU

SINGLE TYPE GEAR PUMP

Pal P1

@ SPECIFICATIONS
LPD45
MODEL (FOR KOMATSU)
Discharge Rate(cclrev) 32
Max. Pressure (kg/cm?) 245
% USABLE CIRCUMSTANCE il a4 Lot
50°C, ISO VG46, -20~90° DIREGTION cwW
O Flange Mounting face for Suction Port 0 Flange Mounting face for Delivery Port

3 4—c 4—c

N N -C U
¥ R

26.2 22.2

a a
b 524 @ @ b 476
€} €) ¢ | M8X1.25PXDP14 ¢ | M8X1.25PXDP14
b d 25 ‘ b ‘ d 20
110 SUCTION PORT

SPLINE
M16/32-PA3D'—Z13

]
—— —
l— i —

oF
oE
[

[0\ |

c DELIVERY PORT
G
@ DIVENSIONS —
MODEL A B C D E F G H | J K

LPD45 106 | 130 | 116 | 115 | 218 | 508 | 95 | 28 | 114 | 155 | 110
(FOR KOMATSU)




LPD45 FOR KOMATSU

DOUBLE TYPE GEAR PUMP

Pal P1 P2

. SPECIFICATIONS
MODEL LPD45(FOR KOMATSU)
Discharge Rate(cc/rev) 32 ‘ 7
Max. Pressure (kg/cm?) 245
Max. Speed (rpm) 3,000
% USABLE CIRCUMSTANCE DIRECTION cW

507C, ISO VG468, -20~807C

O Flange Mounting face for Suction Port 0 Flange Mounting face for Delivery Port

ad 4—c ¢d e
D X~ F T al
Jla 26.2 o] a 959
b 52.4 ¥ar ras | 7 476
& @—' ¢ | M8X1.25PXDP14 ¢ | M8X1.25PXDP14
b | d 25 5 d 20

SPLINE
M16/32-PA30—Z13

W

—)

(—

| DELIVERY FORT

1] RT MZ0¥1.5P
G J
H K
@ DIVENSIONS (mm)
MODEL 2R e NE N F |l & | H | J K L | ™
LPD45 106 | 130 | 116 | 115 | 218 | 508 | 95 | 283 | 114 | 172 | 190 | 93 | 110
(FOR KOMATSU)




PSVD2 SERIES

SINGLE TYPE GEAR PUMPS

@ SPECIFICATIONS

MODEL PSVD2-17/21/27
Discharge Rate (cc/rev) 12 16.8 19.2
Max.Pressure (kg/cm®) 210
Max. Speed (rpm) 2400 / 2500 / 2550

% USABLE CIRCUMSTANCE
50°C, I1SO VG486, -20~30°C

218

\ PF1/2
I DELIVERY PORT
hY o i s 5 A

[ v
\

\GP1 PILOT PORT

@ DIVENSIONS -
MODEL A B Cc D E E G H 1 J K L M SPLINE
PSVD2-17 76.1
PSVD2-21 17 | 90 |15.7|856|11.5|13.5/27.3| 117 | 24 |19.8| 106 130 | 46 Z15
PSVD2-27 89.2




PSV2-63

SINGLE TYPE GEAR PUMP

- SPECIFICATIONS
MODEL PSV2-63
Discharge Rate (cc/rev) 10
Max. Pressure (kg/cm?) 40
Max. Speed (rpm) 2000

a102) A1(1) A1{0)

‘ l‘ max.40 bar
. k % DRAIN
7 “\\I
Y Jl.ll
L
S'SLJ(IJ I ION
36T, 150 VG46, -20-900 HYDRAULIC CIRCUIT
@ Dimensions of Shaft End(Spiine Type)
MODEL No.of teeth Pitch circle dia(mm) Module Pressure angle Standard
PSV2-63 10 15.875 0.5 30° SAE

PILOT RELIEF VALVE
MAX PRESSURE 40 BAR
(FACTORY SETTING)

27 —DELIVERY PORT—A1(2)

M
FF3/8

*DELIVERY PORT—A1{0)
> r PF3/4

I ¥ TION PORT : f‘r
] / i : .
it L1

SPLIME

|
BF
@
BL

o

— \\o
PF1/8
*DELIVERY PORT-A1{1)
D
E
@) DIVENSIONS o)
MODEL |A|[B|C|D|E|F|G|H| I |J|K]|L|M|N]|SPLNE
PSV2-63 46 | 9.5 | 46 11 | 835| 75 | 80 | 142 | 168 | 150 | 170 | 14 | 52 12 210




PVD SERIES

SINGLE TYPE GEAR PUMP

% USABLE CIRCUMSTANCE
507, 1SO VG46, -20~90°C

— ]
Q SPECIFICATIONS
MODEL PVD-00B/0B/1B/2B/3B
Discharge rate(cc/rev) 45
Max. pressure (kg/cm?) 210
Max.speed(rpm) 3000

X PF3/8
TR— 0P3—4.50¢/rev
| _
me - \
7m\ Q © 2-0
L - 0 | &
7 K
SUCTION PORT o! i
— == | GP1_PILOT PORT
J ] c
et el
D
E
@ DIVENSIONS _—
MODEL | A|B|C|D|E|F G H|T]|J]K|L|M|N|O PN
PVD-
00B/0B | 17 | 28 | 65| 49 [ 659|157 | 6 | 84 | 15 | 15 1205 18 | 45 | 110 95| Z10
/1B/28/38




PVD SERIES

DOUBLE TYPE GEAR PUMP

@ SPECIFICATIONS

PVD-00B/0B/1B/2B/3B
MODEL

6&3cc/rev 10.5&4.5cc/rev | 16.8&4.5cc/rev

P1 P2 P1 P2 P1 P2
Discharge Rate(cc/rev)

6 3 10.5 4.5 16.8 4.5
Max. Pressure (kg/cn?) 210 40 210 40 210 40
Max. Speed (rpm) 3000

# USABLE CIRCUMSTANCE
50C. ISO VG468, -20~907

G GP1 cP2
H H *DELIVERY *DELIVERY
| PORT PORT
p4
= = GP2 PORT g : \
f : ) \
x__rag__ | cgg: EE
1 !
= zl -1—ti-
%
#18 l
*SUCTION 83
PORT GP1 FPORT
_______ )
D
F E
F
@ DIVENSIONS
(mm)
MODEL A|B C|D E|F G|H 1|J K|L M|N O|P Q [SPLNE GP1GP2
PVD-6&83 455 825|985 FPF3/8
PVD-10.5845 17 | 28 6 (495 915108 110 45 29 (105 5 15 102|205 15 | 84 95| Z10 PF3/8
PF1/2
PVD-16.884.5 665 1085 125




H3SP SERIES

SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL H3SP30/36C
Discharge Rate(cc/rev) 10

Max. Pressure (kg/cm?) s, L5

Max. Speed (rpm) 2300

# USABLE CIRCUMSTANCE
50°C. 130 VG46, -20~807C

BN
*SUCTION | PORT

=
&7‘[ Ri= '% SPLINE
A ]
I ”) {ﬂH s S| x
) s
M_L i O
ﬁ’ i _JL H:
\ PF3/8
*DELIWVERY PORT 2=
@ DIVENSIONS -
MODEL A B C D E 7 G H | 2l K 1= M N (0] SPLINE

H3SP30/36C | 17 7 755|925|100| 98 | 15 | 15 5 90 (110 | 95 | 28 | 18 6 Z10




H3SP SERIES

DOUBLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL H3SP30/36C
P1 P2
Discharge Rate(cc/rev)
16.8 10
Max. Pressure (kg/cm?) 200 S
Max. Speed (rpm) 2300

!
T
% USABLE CIRCUMSTANCE |
50°C. ISO VG46, -20~90°C :
| . e
E
D
G
PF1
*SUCTION PORT B
| P ]
H = SPLINE
i B
s 7 ooy f =
f} —@E g 813 ECE
e
| 6]
ﬁ' [ ?_i
| %:g
P2—PF3/8 PT<PF1/2
*DELIVERY PORT *DELIVERY PORT
@ DIVENSIONS
(mm)
MODEL | A |B|c |bD|E|F |6 | H|I1 |a|kK|L|M|N|o|P|SsPNE

H3SP30/386C 17 | 7 |85.5(149.5 166 100 | 98 15 | 15 | 90 5 |95 |110 28 | & 18 210




H7SP36
GEAR PUMP OF INNER DRAIN TYPE

@ SPECIFICATIONS

MODEL H7SP36
Discharge Rate(cc/rev) 15
Max. P k 2
XUSHABLE CIRCUMSTANCE SRR o)
50C, ISO VG486, -20~907T Max. Speed (rpm) 2700

oF
*SUCTION PORT

= |
7,
SPLINE @)—
SRS =] | =
fv 23
= DELIVERY PORT
RELIEF VALVE
a B c — = -
D E
@ DIVENSIONS
(mm)
MODEL A B C D E E G H J SPLINE

H7SP36 | 112 | 7 54 306 73.5| 16 [14.8| 80 |103.5 9 213




GEAR PUMP FOR HITACHI

O SPECIFICATIONS
MODEL HPVO91DW HPVO91DS
Discharge Rate (cc/rev) 16.8
Max. Pressure (kg/cm?) 180
Max. Speed (rpm) 3200
DIRECTION CCWI(L)
2-8P -

20
DELIWERY PORT

# USABLE CIRCUMSTANCE
50C, 1ISO VG46, -20~90°C

PF1/2
SPLINE SUCTION PORT
j M =L
i 1
F E_|D C

@ DIMENSIONS

(mm)

MODEL |A|B|C|/D|E|F|G|H|I|J|K|L[M|N|O|P| SPLINE

HPVO91DW

17 | 69 | 66 | 126|198 | 119 | 51 | 157 |228| 107 | 306 | 54 | 548 |1365| 184 | 11 Z10
HPVO91DS




GEAR PUMPS FOR KOMATSU

@ SPECIFICATIONS
MODEL HPV55 HPV35895 HPV132
(PC100/120-3/5) (PC60-3/5, PC2008.220-6/7) (PC300-6)
Discharge Rate (cc/rev) 17.6 13.2 1E B
Max. Pressure (kg/cm?) 50
Max. Speed (rpm) 3200
M24X1.5P

DELWERY PORT R EES——————————

#USABLE CIRCUMSTANCE
50°C, 1ISO VG46, -20~907C

RELIEF WALVE

)

@22
SUCTION PORT

5 oY
= SN

2-M10X1.5P D
PG
]l
@ DIVENSIONS -
MODEL 2w e B L S e S e e ) e N
(PC1'35;\$%-315) 952 272 15| 72 299 | 835
HPV55
(PC60-3/5)
e 195 | 76 |1597 1 | 263 15 60 | 7 | 92 |289] 754
(PC2008220-6/7) 105 82 | &
e 5 272 209 | 835




GEAR PUMPS FOR KOMATSU @

‘ SPECIFICATIONS
MODEL HPV71(PC150-3/5) HPV90(PC200-3/5)
Discharge Rate (cc/rev) 23.5
Max. Pressure (kg/cm?) 50
Max. Speed (rpm) 3200
FG

% USABLE CIRCUMSTANCE
- : - 50°C, ISO VG46, -20~90°C

RELIEF VALVE

M24X1.59
DELIVERY PORT

J #23
SUCTION POR
[l—'_'g'_:f L 4T SPLINE = % || '%-:-_..LTI 3
2 B U I‘L
' — i ] —— | ; S =]
1OE i T > bl
: ; [~ i E_QPHQH =
M| DETAIL—X u
L9 K
= 2B - L
@ DIVENSIONS
(mm)
MODEL A|B C/IDIE|F|G|H|!Il J|K|L M|N |SPLNE
HPV71 HPVA0
(PC150-3, PC200-3) & A | = 18| =] =
265 | 85 | 265 (785|210 | 142181 | 13 60
HPV71 HPV90 i
(PC150-5, PC200-5) 10 182 | 24 9 Z10




GEAR PUMP FOR KOMATSU

. SPECIFICATIONS
MODEL HPV160(PC300-3/5, PC400-3/5)
Discharge Rate (cc/rev) 28.6
Max. Pressure (kg/cm?) 50
Max. Speed(rpm) 3200

M24X1.5P -
DELIVERY PORT

)
.;‘“F 1

. RELIEF VALVE

#USABLE CIRCUMSTANCE
50°C, 150 VG46, -20~90C

A1 S —"A |
4 H )
:T_ ) i~ \%': |
—f”ﬁk TTL' 1
"_>i§' —
m ‘
G SUCTION FORT 2k
@ DIVENSIONS
(mm)
MODEL A|lB|C|D|E|F G|H|I|J]|K

HPV160

(PC300-3/5, PCA00-3/5) | [T | S | M T8 70 7 )82 ) 16| T2




GEAR PUMP FOR KOMATSU

@ SPECIFICATIONS

MODEL HPV75(PC60-6)
Discharge Rate (cc/rev) 16.8
Max. Pressure (kg/cm?) 40
Max. Speed(rpm) 3200
DELIVERY PORT 0 C

#USABLE CIRCUMSTANCE
50C, 150 VG486, -20~80C

=
@ DIVENSIONS
(rm)
MODEL |A |B|C|D|E|F|G|H|I|[J|K|L|M|N|O|P|Q
HPVZS 111|189 | 68 |155| 9 | 40 | 56 |70.1(23.4| 16 |96.4|452| 21 |m2| 92| 7 |256
(PC60-6) ' ' ' ' i '




GEAR PUMP FOR CATERPILLAR

@ SPECIFICATIONS

MODEL SBS80(CCW)
Discharge Rate(cclrev) 11
Max. Pressure (kglcm?) 40
Max. Speed (rpm) 3200

# USABLE CIRCUMSTANCE
507C, ISO VG46, -20~807C

S S —_———

- K —
= ' g UNF3/4—16N
- DELIVERY PORT
] B
SIS _%ﬁ': N E
L UNF1—1/16—12N/ |
—| SUCTION PORT /{7
LI M
' M
J o - —
@ DIVENSIONS
(mm)
MODEL A B C D E E G H J K L M
SBS80
(CCW) 114|100 | 101 |814| 8 |50.8|16.5| 18 | 6.4 |33.4| 63 | 103 | 87




SBS120&140 FOR CATAERPILLAR @

SINGLE TYPE GEAR PUMP

’ SPECIFICATIONS
MODEL SBS120/140
Discharge Rate (cc/rev) 16
Max. Pressure (kg/cm?) 180
Max. Speed(rpm) 3200

% USABLE CIRCUMSTANCE
- 507, ISO VG46, -20~90C

UNF 3/4-16N
DELIVERY PORT

| &
@ DIMENSIONS -
MODEL| A|B|C|D|E|F |G| H|IT]|J KL

SBS120/140

'SINGLE) 1151106 | 130 | 8 [17.9]825(9%25| 6.5 | 18 | 92 | &7 | 111




SBS120&140 FOR CATERPILLAR @

DOUBLE TYPE GEAR PUMP

% USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~90°C

@ SPECIFICATIONS
MODEL SBS120&140
) P1 P2
Discharge Rate (cc/rev)
20 13
 USABLE CIRCUMSTANCE Max. pressure (kg/cmr’) 120 150
507, ISO VG46, -20~80C Max. Speed (rpm) 1800
INVOLUITE SPLINE
UNF 3/4—16N SAE—16,/32—PA30'—ZIA
OELIVERY PORT UNF 1 1/16—12N
UNF 7/8-14N SUCTION PORT
SE[Ey BoiT _
:—. —|L§ \ i -
@ _i_@ |;::p w O
E E
F C F
B D N G
H M H
@ DIVENSIONS (mm)
MODEL AIB|C|D|E|JF|G|H|IT ] J[K]L|M|N]O [SPLN

SBS120/140
(DOUBLE) 71825 65 |333| 54 | 115 |173.5/206.8| 15.7 | 115 [109.5( 93 | 130 | 86 | 926 | Z10




GEAR PUMPS FOR KOBELCO / NEW HOLLAND @

@ SPECIFICATIONS

MODEL H3V63/NV64 |H3V112/NV90/111 H3V140/180/NV137/172
Discharge Rate (cc/rev) 12 15
Max. Pressure (kg/cm?) 170
Max. Speed (rpm) 3250 2700 2500
: | |
D - |
|
B B a i
,/,-,—_-:-_—i;\ : I
1 N | |
{9(@)¢ | !
S DLy 2. | |
5 R \@L_J& ]'
\Tﬁi |
l
S\ |
i\ oo | % USABLE CIRCUMSTANCE
! 50, ISO VG46, -20~90C
G

=

PF3,/4
‘\\SLCTON PORT

PF3/8 -
DELIVERY PORT

K
@ DIMENSIONS -
MODEL A B|C D|E|F | G H| 1| J K| SPLNE
H3V / NV
on Ay 14| 100 | 101|814 | 135|508 | 64 | 64 | 377 | 914 89 712




GEAR PUMP FOR MITSUBISHI / CATERPILLAR @

@ SPECIFICATIONS
MODEL SPK10/10(E200B) AP12(E200B)
Discharge Rate (cc/rev) 12
Max. Pressure (kg/cm?) 170
Max. Speed (rpm) 3200

# USABLE CIRCUMSTANCE
507, ISO VG486, -20~90°C

o
B4

)
PF3/8 I A PF3/4
DELIVERY PORT \_SUCTION PORT

Ty
s
=

@ DIMENSIONS

(mm)

MODEL Al B|C|D|E|F|G|H|I|[J|K|LI|M
SPK1U,"10(E2{JUB) 11.4| 100 | 101 [81.4| 8 |50.8| 15 |18.4| 6.4 |33.4| 64 [91.4| 89
AP12(E200B)




GEAR PUMP FOR MITSUBISHI / CATERPILLAR (I-:D)

. SPECIFICATIONS
MODEL AP12(E320B)
Discharge Rate (cc/rev) 11
Max. Pressure (kg/cm?) 170
Max. Speed(rpm) 3200

# USABLE CIRCUMSTANCE
50°C, ISO VG46, -20~907C

UNF 3/4-18N
DELIVERY PORT

Y
<
@

UNT1/16-12N
\ SUCTION PORT

N ) ;
H
i J » o, K i
@ DIVENSIONS
(mm)

wooel | A el elolelele lul 1yl
AP12
(£3208) 14 | 814 | 101 8 165 | 508 63 6.4 18 99 87 100




A8V055/80/107
SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL A8V055/80/107
P1
Discharge rate(cc/rev) .
Max. pressure (kg/cm?) 40
% USABLE CIRCUMSTANCE
507, IS0 VG46, -20~90°C Max.speed{rpm) 2600
DIRECTION CCW (L)

4-M8X1.25P

{ SUCTION PORT

RELIEF VALVE/ | J O .
ADJUST SCREW m =] .“‘
H]| ofei-
il
| M14X1.5P
M_| \DELIVERY PORT
@ DIVENSIONS -
MODEL |A|{B|C|D|E|F|G|H|I]|J]|K]|L]|M]/|SPLNE

A8V055/80/1107 |50.5( 128 | 92 | 115 (21.7| 62 |18.3| 15 |54.5| 89 | 100| 15 | 22 | Z16




A8V080

SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL A8VO80
Discharge Rate (cc/rev) 8
Max. Pressure (kg/cm?) 50
Max. Speed (rpm) 2500

813.5
SUCTION PORT

% USABLE CIRCUMSTANGE
50 l’C, 1SO VG486, -20-807

12
DELIVERY PORT

+— O
£} O
8S PT 7 '

G

@ DIVENSIONS
(mm)
MODEL | A | B | C | D | E | F |G |H| I |J]|K SPNE

ABVOBO | 704 | 31 | 92 | 594 | 62 | 176 | 205 | 838 | 683 | 1192 | 90 Z13




A8VO107

SINGLE TYPE GEAR PUMP

@ SPECIFICATIONS

MODEL A8VO107
Discharge Rate (cc/rev) 12
Max. Pressure (kg/cm?) 50
Max. Speed(rpm) 2500

. i
@17 ; . S 4
SUCTICN PORT ] ) |
P | 215 ]
B DELIVERY PORT % USABLE CIRCUMSTANCE

50°C, ISO VG46, -20~90TC '

DETAIL—A |

T = . 77 [ sPune
SIS i -efh I

= ==
] ¥ COUPLING
| DETAIL—A
@ DIVENSIONS
(mm)
MODEL A B C D E E G H | 4 K SPLINE

ABVO107 | 704 | 443 92 | 63 | 72 | 216 | 22 | 1056 836 | 1223 | 1023 210




A8V0160/200
SINGLE TYPE GEAR PUMPS

@ SPECIFICATIONS
MODEL A8VO160/200
Discharge Rate(cclrev) 19
Max. Pressure (kg/cm?) 40
% USABLE CIRCUMSTANCE Max. Speed (rpm) 2000
507, 1ISO VG48, -20~907
DIRECTION CW (R)

SPLINE

L0

2J

\V

2N
DELIVERY PORT

|
oM D LD
SUCTION PORT

@ DIVENSIONS

(mm)
MODEL A B Cc D E F G H I J K L M N SPLINE
A8VO160 16.8| 12 17 17 | 14 Z10
— 65 | 75 | 55 |245|115 91 85 | 149 | 87
A8V0200 11 | 16 154 22 | 17 29




A8V SERIES

SINGLE TYPE GEAR PUMPS

@ SPECIFICATIONS

MODEL A8V55/59/80/86/107/115 A8V172
Discharge Rate (cc/rev) 12 16.6
Max. Pressure (kg/cm?) 50
Max. Speed(rpm) 2500

B14

SUCTION FCRT

o8
DELIVERY PORT

H

# USABLE CIRCUMSTANCE

50C, ISO VG486, -20~90TC

@ DIVENSIONS

MODEL A

M SPLINE

A8V SERIES | 15.7

51.2

55

5

25 | 11|48 21969.7| 17

39

104 Z10




NV SERIES

GEAR PUMP OF INNER DRAIN TYPE

@ SPECIFICATIONS

MODEL NV64/50 NV80/90/111 | NV120/137 NV172
Discharge Rate (cc/rev) 12 18
Max. Pressure (kg/cm?) 50
Max. Speed (rpm) 3250 2700 2500 2200

G PF1/2

Prs/a (G ©
S| DELIVERY PORT

A
SUCTICN PCRT |75,

RELIEF VALVE | G)_________ |

# USABLE CIRCUMSTANGE I
50, 1SO VG468, -20~20°C j

-, |
2

| Y

F £ D J

]
B

@ DIVENSIONS

(mm)

MODEL | A | B | C|D | E|F |G |H I J K | SPLINE

NVSERIES 148 | 33 | 4 | 53 | 19 | 56 | 11 | 138 | 47 | 110 | 161 Z13




CUT-OFF VALVE(H3V SERIES)

_Lif

N
e

HYDRAULIC CIRCUIT

>
©

Jan
L

D

@ DIVENSIONS

(mm)

MODEL A B C D E F G H I J

H3V SERIES | 58 36 6 46 27 41 130 | 19 38 | 64




LOAD SENSING VALVE(HLOP TYPE)

)

HYDRAULIC CIRCUIT

Pt

(PA)

1/4

—

N

;_'_‘fpf_ﬁ

]
N
_Cl___________

(]

=%%

\:_ T

N
§§

=

|'Il|-' i iy
_H' I:Il' ,l\
: A

@ DIVENSIONS
(mm)
MODEL A B SIE Y S E E i G H J K
H3V SERIES 210 123 | 61.b 38 A7.5 N bh5 | 1.5 65 6.2




LOAD SENSING VALVE (5L00/7L00 TYPE) @
(H3V/H5V SERIES)

@ DIVENSIONS -

MOREL A "B G "D ENF BG —H | U1 | JoK LS M NSO P R

5L00/7LO0 | 88 | 65 23 | 25 | 18 | 30 |19 | 38 |46 | 6 | 70 | 8 | 41 | 20 | 68 | 88 | 105




EPR VALVE CONTROL BOARD

(HBO2.0A)

I PaJFRED
I P3J+SOL
B ~
TLE‘ i —‘é"ﬁ‘f sat] i | |-soL
L;'qtnr
74F |: e SCA00 RIVEL — ,—Pg] ALARM
Corvert J:
, 4. T !
24N|:I,Z T_::ult T 'ﬁj 24
BLOCK DIAGRAM
*P8{PREQ) : PWM FREQ.COUNT
*PH{ALARM) :FAULT ALARM{NPN OPEN COLLECT 50mA OUT)

@ SPECIFICATIONS =i
Model HBO2.0A i
Power supply DC24V(21~30) -
Power Consumption Below 30VA = 22
Maximum output current 1.2AMax) |
Input Impedance 100KQ —
Solenoid coil resistance 10 ~25Q HHANDOK HYDRALIG ®
Voltage input DC 0 ~ 12V(Max) H H
Command — input | Variable resistor 10KQ e ©
Dither Adjustment range 40Hz~2000Hz E H H
Operating temperature range ~10°C~70°C sEiz sl g ol ®
Adjust the temperature range 0°C ~50°C renrterrn 93
am (grve) curent T00mAVa] o
S 25 /_ -INSTRUCTION FOR USE -
& Z = * Each conngcting pins are supposed to be precisely put together,
E 15 ,/ Don't operate more than rating
o / * Input power should be keep supplies stably
E S / -ffthe power suppllies are not stabilizing,
O s either the output is not stable, or can be cause of the failure
*Incase of alarm, disconnect main power, power-up after eliminate the cause
25 A @ 8l 0L 12 -Ifthis problem persists after eliminate the cause, Do not power-up
CONTROL VOLTAGE(V)



Proportional pressure reducing valve
(HPR1D-40F-243)

P T
HYDRAULIC CIRCUIT

5
|
5 : SPECIFICATIONS
E 4 : 1.CONTROL SPECIFICATIONS : POSITIVE PROPORTIONAL
% 2.SECOND PRESSURE/MAX.SET PRESSURE
s 3 : 40Kgf /cm?(3.9Mpa)
g 3.SOLENOID RATING : 0.9A FOR DC24V
E s / ' 4.COIL RESISTANCE(Q) : 5.5
]
|
5 —
o 500 1000

input current (mA)

~ ]

50

25

155

55 25 54.5




Proportional pressure reducing valve @

(HPR3P-40B1-201-M0)

Pi

Psv

— At

HYDRAULIC CIRCUIT

Output pressure (MPa)

/

400
input current (mA)

38

|£','¢

T . 2 L
o -

|
|
| RF1/4
|
|
|
| -:'\I|
| o]

[aN]
|

272

800

SPECIFICATIONS
1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL

2. SECOND PRESSURE/MAX. SET PRESSURE
: 40K gf/om (3.9Mpa)

3. SOLENOID RATING : 0.75A for DC24V

4. COIL RESISTANCE(Q) :13.5

-
2
i
S
T 4 o
© © D) o
110 9«
: 1




Proportional pressure reducing valve @

(HPR3S-40A1-201-M3)

P2 A2
_ _ _
P T g, meey
..'/.;.l 1 ;)
Psv : l,.v] p |
T | .“--H--

HYDRAULIC CIRCUIT

5
3.4 SPECIFICATIONS
% / 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
w3 /’ 2. SECOND PRESSURE/MAX. SET PRESSURE
E 2 : 40Kgf/ent (3.9Mpa)
E 1 / 3. SOLENOID RATING : 0.75A for DC24V
o _ﬁ_/ 4. COIL RESISTANCE(Q) :17.5

o 400 800

input current (mA)

PF1,/4
R
| 10 |
e | . iy 1T
i i |
I I
ks \I#J




Proportional pressure reducing valve @
(HPR3SN-40A1-221)

HYDRAULIC CIRCUIT

5, B SPECIFICATIONS
b \ 1. CONTROL SPECIFICATION : NEGATIVE PROPORTIONAL
0
2 2 & 2. SECOND PRESSURE/MAX. SET PRESSURE
g 2 ' : 40K gf/em (3.9Mpa)
2 3. SOLENOID RATING : 0.75A for DC24V
=
o N 4. COIL RESISTANCE(Q)) :17.5
(o] 400 800

input current (mA)

19018

M22%1.0P
—

k=
|




Proportional pressure reducing valve @
(HPR3S-40A1-201)

HYDRAULIC CIRCUIT

5
B, SPECIFICATIONS
2 b 1. CONTROL SPECIFICATION ; POSITIVE PROPORTIONAL
e | = =
2 /’ 2. SECOND PRESSURE/MAX. SET PRESSURE
g 2 / - 40Kgficnt (3.9Mpa)
é 1 / 3. SOLENOID RATING : 0.75A for DC24V
© _,,/ 4. COIL RESISTANCE(Q) :17.5

(o] 400 800

input current (mA)

M22X1.0P (—‘

17 —

L A I " -! :
s

i

¢17.2
¢15.4
314
—
i@ 0}[
jo o

8.5




Proportional pressure reducing valve

(HPR2P-30A1-201-M5)

AT

HYDRAULIC CIRCUIT

5
S 4 | SPECIFICATIONS
% - / 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
% 2. SECOND PRESSURE/MAX. SET PRESSURE
g 2 / - 30Kgffem (2.9Mpa)
B. 1 . 3. SOLENOID RATING : 0.75A for DC24V
3 / 4. COIL RESISTANCE(Q) :17.5

O 5 400 800

input current (mA)

FE1/4

— ] O ]

)

v
\
74




Proportional pressure reducing valve

(HPR2P-30A1-201)

=

HYDRAULIC CIRCUIT

LAY

Output pressure (MPa)

input current (mA)

M32X1.5

800

SPECIFICATIONS
1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL

2. SECOND PRESSURE/MAX. SET PRESSURE
: 30Kgf/ent (2.9Mpa)

3. SOLENOID RATING : 0.75A for DC24V

4. COIL RESISTANCE(Q) :17.5

190410

317
316
=
I ]
D O

B35

=T

e

=




Proportional pressure reducing valve @

(HPR3B-40F1-212-FOR SBS120/140)

@27

- e

w17

“__.'
HYDRAULIC CIRCUIT
5

S 4 SPECIFICATIONS
% | / 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
= 3 !
% | / 9. SECOND PRESSURE/MAX. SET PRESSURE
8 2 : 40Kgf/em (3.9Mpa)
3 : ,/ 3. SOLENOID RATING : 0.75A for DC24V
3 / 4. COIL RESISTANCE(Q) :12.5

400 800

input current (mA)

L 20 J




Proportional pressure reducing valve

(HPR3S-40A1-201-M1)

-V// * Ai

HYDRAULIC CIRCUIT

5
;'cf 4 SPECIFICATIONS
2 1. CONTROL SPECIFICATION ; POSITIVE PROPORTIONAL
o
5 3 2. SECOND PRESSURE/MAX. SET PRESSURE
%_ 2 : 40K gf/ent (3.9Mpa)
E 3. SOLENOID RATING : 0.75A for DC24V
8 ! / ' 4. COIL RESISTANCE(Q) : 17.5
(o] 400 800
input current (mA)
58
4—96.6 20
J & a0
3| C CoOH «
= s & e —
e | R
© C C} _E 5 i ! B
9 42
50
78 8.5

142.7 190£10




Proportional pressure reducing valve @

(HPR3B-30A2-211)

“__.'
HYDRAULIC CIRCUIT

5
S 4 SPECIFICATIONS
% / 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
= 3
% / 9. SECOND PRESSURE/MAX. SET PRESSURE
8 2 : 30Kgf/em (2.9Mpa)
3 : ,/ 3. SOLENOID RATING : 0.75A for DC24V
3 / 4. COIL RESISTANCE(Q) :17.5

(@) 400 800

input current (mA)

s
17
15
A,
..'=.
[ [
h@ 0]
[ |
) © O




Proportional pressure reducing valve @

(HPR3Q-40A1-201-M2)

i A7

HYDRAULIC CIRCUIT

SPECIFICATIONS
1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
2. SECOND PRESSURE/MAX. SET PRESSURE
: 40Kgf/em (3.9Mpa)
3. SOLENOID RATING : 0.75A for DC24V
4. COIL RESISTANCE(Q) : 17.5

' i
3 ,/ I
4]
(o] 400 800
input current (mA)

Output pressure (MPa)

(4=
fio]a]

=1
|
=




Proportional pressure reducing valve @

(HPR3B-30A-211-M4)

HYDRAULIC CIRCUIT

5
cr SPECIFICATIONS
= / 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
o
3 2 4 2. SECOND PRESSURE/MAX. SET PRESSURE
£ / . 30Kgf/ar (2.9Mpa)
_E. 1 / 3. SOLENOID RATING : 0.75A for DC24V
o / 4. COIL RESISTANCE(Q) :17.5
(o] 400 800
input current (mA)
131.8
- 9.6
l:JN:'El,.f"Iﬁ---'iB\ et
N
25.3

| ol & UNF3/16-18
-

—-200-



Proportional pressure reducing valve @

(HPR2BN-40D1-241-FOR HPVO102/105 HITACHI TYPE)

|
P -
| 41

HYDRAULIC CIRCUIT
5
g 4 SPECIFICATIONS
o 1. CONTROL SPECIFICATION :NEGATIVEPROPORTIONAL
7 N 2. SECOND PRESSURE/MAX. SET PRESSURE
B . 40Kgfion (3.9Mpa)
=]
g ! - 3. SOLENOID RATING : 0.75A for DC24V
AN 4. COIL RESISTANCE(Q) - 24
(0] 400 800

input current (mA)

$15.5
@20

s
| o oo
—| w

48.7

-201-



Proportional pressure reducing valve @

(HPR2BN-40E2-242-FOR HPVO118 HITACHI TYPE)

:: 1 !J
e Af
T |
HYDRAULIC CIRCUIT
5
g 4 SPECIFICATIONS
s 5 1. CONTROL SPECIFICATION : NEGATIVE PROPORTIONAL
§ N 2. SECOND PRESSURE/MAX. SET PRESSURE
% £ o R ‘\‘— : 40Kgf/en' (3.9Mpa)
B 3. SOLENOID RATING : 0.65A for DC24V
@ \|\ 4. COIL RESISTANCE(Q) : 20
(@] 400 800

@29

214.6
g1/
219

£1A13

435 42.5

-z202-



Proportional pressure reducing valve
(HPR3B-30A2-211-M6)

[

T My

HYDRAULIC CIRCUIT

2 SPECIFICATIONS
% \ 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
2 2. SECOND PRESSURE/MAX. SET PRESSURE
5 2 . 30Kgf/er (2.9Mpa)
2 / 3. SOLENOID RATING : 0.75A for DC24V
S / | 4. COIL RESISTANCE(Q) :17.5
(o] 400 800

input current (mA)

352

-203-



Proportional pressure reducing valve

(HPR3SN-40A1-221-M6)

HYDRAULIC CIRCUIT

Output pressure (MPa)
N

o]

SPECIFICATIONS
1. CONTROL SPECIFICATION : NEGATIVE PROPORTIONAL

2. SECOND PRESSURE/MAX. SET PRESSURE
. 40Kgf/cr (3.9Mpa)
3. SOLENOID RATING : 0.75A for DC24V

UL TN A N 4. COIL RESISTANCE(Q) : 17.5

400 800
input current (mA)

352
29.3

PF1/4

19610

-204-



Proportional pressure reducing valve
(HPR3B-30A1-201)

HYDRAULIC CIRCUIT

5
gy SPECIFICATIONS
% - / 1. CONTROL SPECIFICATION : POSITIVE PROPORTIONAL
% / 2. SECOND PRESSURE/MAX. SET PRESSURE
g 2 - 30Kgfient (2.9Mpa)
E. 1 | / 3. SOLENOID RATING ; 0.75A for DC24V
3 / 4. COIL RESISTANCE(Q) :17.5

(0]} 400 800
input current (mA)

-205-



Proportional pressure reducing valve
(HPR3BN-30A1-201)

HYDRAULIC CIRCUIT

SPECIFICATIONS
1. CONTROL SPECIFICATION : NEGATIVE PROPORTIONAL

2. SECOND PRESSURE/MAX. SET PRESSURE
: 30Kgf/ent (2.9Mpa)

3. SOLENOID RATING : 0.75A for DC24V

4. COIL RESISTANCE(Q) :17.5

Output pressure (MPa)
- N

(0] 400 800
input current (mA)

@07
T5:h
@14
]
—
Bol
|

o of

36

19010

-206-




RELIEF VALVE SERIES

HYDRAULIC CIRCUIT

I
_— :
|
N

r .
L__¢ AN

L2

@ UCHIDA SERIES
(ABV5HES5 / ABVBO / ABVEG6 [ ABV107 / ABV115 1 ABV172 [/ ABV200)

ADJUST SCREW M20X1.0P

g 0 1 T
f I

38 16
68

/

oKt
I
216
¢20.5
822

’ KAWASAKI SERIES

(H3V63 / H3V112 f H3V140 /f H3V180)
(H5V80 / H5V140 f H5V160 / H5V200)

ADJUST SCREW M22X1.5P

|
|
|
D @ d
¢1I75
924

17
70.2

-207-



MAIN RELIEF VALVE SERIES

HYDRAULIC CIRCUIT

@ EX200-5 MAIN RELIEF VALVE S

®36.5

|
|
|
|
1 : |
|
[
|
|
|
|
|
|
|
_l__
|
|
1
|
O
P18
$23.8

89
2! (159)
32
@ PC200-5 MAIN RELIEF VALVE
$46.8 MSSX1.5P
s -~
); 1
1
‘H24 14.5
10 23 68.5
8¢ 34 115
4 149
@ PC200-6 MAIN RELIEF VALVE
M24%1.5P
;i ﬁ r_Tﬁ__ U D _
@ \\ j: - ———_'——*ﬂ:)* i il = g 8
= N 933.4 1 <
13
10.6 49
(30) 95.6
30 (125.6)

-208-



MAIN RELIEF VALVE SERIES

@ PC200-7 UNLOAD VALVE

M24X1.5P HYDRAULIC CIRCUIT
| HF T | o
1T LAY |

. .
07 !
@ PC200-3 MAIN RELIEF VALVE
N HYDRAULIC CIRCUIT
Fo e | i
o B = —%
14.3 I = =
o4
125.6)

-209-



SOLENOID VALVE(PSVD2 SERIES-2STAGE) @

PB1PB2 PP P PA
| >f g X P4
| SOL.B ‘

AN
et | Epit
!

‘ —o—ll"'.‘,"r
|
_______ . o _T f
HYDRAULIC CIRCUIT

OF—
37

M
of 3-96.6 4

1 (1) J°

. =
) B — —— 20
) FF1/4-FB1 51 .
&2 PF1/4—PA 135
123, ' .

-210-



SOLENOID VALVE(PSVD2 SERIES-3STAGE) @

PB1PB2 PP P Pé PC1 PC2
SOL.B SOL.C
N o Evd
HYDRAULIC CIRCUIT

119

a7 ‘
37 /)‘ O
Pr1 /4—po1 | 1= . —.:t. .‘—': Qo=
[ 22 |]] e
@ |1
PE2
—
51 52
139




SOLENOID VALVE(PVD SERIES-2STAGE) @

PA1 PB2 PB1 PP

=5 3

AT

T
|
|
|
|
|

S e _

134

FED

16.5

3-PF1//4—19N | 125

—2l2=



SELF REDUCING VALVE FOR KOMATSU
(4-BOLT TYPE)

HYDRAULIC CIRCUIT

4—011.5 THROUGHT @l 3—96.0 THROUGHT
\ /

O, B

Oo0O
82.6
56.6
2
)

54.3

o Oo
©
|
|
D

41.5

28.3

13
14.8

80 15.5 52.5

-2l 3=



SELF REDUCING VALVE FOR KOMATSU

(3-BOLT TYPE)

HYDRAULIC CIRCUIT

12.8

23:3

3—-911.2 THROUGHT

O
8

w w
pf)
G G ?
1 =l ([
ok AT ¢ 5
79.5 14 14.4 54.4 10.4]
28 79.5

-214-



{0

==
2
E
.-
14
O
(LS
oo
N
e,
>
L=
-
<
L
>
.
>
o
=
O
-
[
Ll
oz

G1 A1

{ RS, S|

B1| DR

#JSABLE CIRCUMSTANCE
50, ISO VG486, -20~-907C

HYDRAULIC CIRCUIT

42.5

Iimiv“lﬁw MW
///W,J\ A iry
e
INE
|
% |
|4_|5,
AN

&

N
/)

4-96.2

42.5

34

—2lh=



Core Displacement(mm}

Core Displacement{mm)

S s o o
I B R M A
| } I } o z_+// R e PR
| AER RIS
m - -, ML, S -
D _H“ m L— ,m\ | _ _ _
H e — b —
0 m = m 3 IND T
¥ = 3 § Hak+-- -
m m.. o Jv |
Hz a8 L .Wl Lok i3
o m .m |
1 3 HEH-o -
& E
bJ !
Y — N
=] g [A] o d
5 oo Inding
— 2 WmT [A] #Beyoa Inding
L o
- = b aRESREN
g = H FA-—b—t——r—y=——a | fA A F 48
E = gl 1 (I S i P -
o8 B E AN AT
o g3 g = STt A e 3R AT
2 =| = 5 A J E - ettt 8 L w_ o ]
T ™ Q9 W = I | “l ..r .m o /!
s = I H 5 ook 8 L4 L R
=} ] | I
— 5 By 5 2 H B -t g LB VP S Y
H g 1 5 En iy 111“,}”11“,115_“ i L I N
o ™~
i X LA @ -|_||hr|-s 8 bl [y
—K S PO WO (M, O R S L
i i e et i gl i
oo, | | | 1 | 1 | | 1 |
L m u w—h_ w L] o= o+ - - r~ - v - L]
0 — 2 [A] eboyiop Inding [A] sBogiop ynding
LL .
=
> o
(1 4 = 18
0 [}
) _ 7
kT
-+
(2] i
-2 HI 19
1 n e
LLl | z " E
7 o 7
| 188
&
i = 0 S
T ] L] B
! 8
o
(] 1R e
ole _..w
v | Jwn
L | B
<L | 1°
(]
E ! o
N [A] @Bpyoa nding
o—

-216-



ANGLE(RVDT) SENSOR FOR HITACHI

165
3—-COMDUCTOR,
INSULATED, JACKETED CABLE 415 ENVIRONMENTAL SPECIFICATIONS
- OPERATING TEMPERATURE : -40°C ~ +100°C
- VIBRATION: 10 Gs, 2,000 Hz

RED — SHOCK : 100 Gs, 11 mS

ELECTRICAL SPECIFICATIONS
SO vin ol = ~ ELECTRICAL ANGLE : +20° { 27°C )
S = INPUT VOLTAGE (Vin) : DC5V +0.5

Voult (R

— SUPPLY CURRENT @ 20 mA MAX.

= AoH CONNECTOR - ACCURACY @ +1.7% { 27°C )
MECHANICAL ANGLE : 360° (ENDLESS)
6 v
| | _
: 5
MID—POINT ‘ = a4t |
LOCATION DOT = ;
(SHOWN AS MID—POINT SETTING) ! s 51 |
‘ g V) :
i . 5 | |
N z 2T ! ;
\ s sl I
0 —— |
L]
e o+t I : :
3 T | I L ! | J
s -30-20—10" O 100 20° 30
SHAFT POSTION
w| ™ oty I o
| S s —O 3
! .
[®] | o
i -
30.3 4102
65 (13.5) 44,5
58
79.5

-2 1=



RPM SENSOR FOR HITACHI (l-:D)

MEx1.25F THROUGH
215 CBORE CP1.3

(RPM)
3,600

3,100+
2,600+
2,100+
1,600
1,100

600

100 L

ENVIRONMENTAL SPECIFICATIONS

- OPERATING TEMPERATURE : -20°C ~ +80°C
- MAXIMUM RPM : 5,400 RPM

- CAPACITY : 0.7~0.8Q2

10 20 30 40 50 60 70 80 90100110120 120
(Hz)

—218=



PRESSURE SENSOR FOR FOR HITACHI

VOLTAGE

5.0 7
4.5 1
4.0
3.5 1
3.0
2.5 1
2.0 1
1.5
1.0 1
0.5 4
0.0

0 50 100 150 700 250 300 350 400 450 500
PRESSURE(500BAR)

VOLTAGE

D

45 -

4.0 e i
: e

B el L L L
3 [N S S — e, SN
25 =

6 5 10 15 30 25 30 35 40 45 50 55
PRESSURE(G60BAR)

+ MAXIMUM PRESSURE : 60Bar

ENVIRONMENTAL SPECIFICATIONS
OPERATING TEMPERATURE : -20° C ~ +80° C
INPUT VOLTAGE : DC 5V

M16%1.5P
f :
1 ™
1 l
ol el e ol ool e B i b
5
o [ 1
L L | | 1/
14 25.5
15 43
* MAXIMUM PRESSURE : 500Bar
ENVIRONMENTAL SPECIFICATIONS
OPERATING TEMPERATURE : -20° C ~ +80° C
INPUT VOLTAGE : DC 5V
M18X1.5H
] NN R I S | N 1 O o
T —— |
9.5 16
17.5 49.5
67

-219-



CONTROL VALVE (A10VO SERIES-DFR TYPE) @

HYDRAULIC CIRCUIT

BOTH SIDES—UNF 7/16—20N

/ |
T

b o

'S'{/ o KN

il B

) )

i

e

R //

i \——
g — = &
=< 1= - T ___]__' |
o — e
B
J
& D
E
@ DIVENSIONS
{mm)
MOBEL | & “B g a8 B e R’ J

A1OVOSERIES| 40 | 367 |1262| 65 | 137.7| 265 | 185 | 52 | 565 436

—-220-



)
—
o
L
s
o
=
=
-
=
LL
>
o
<g
>
-
o
—
o

L i S
B
L
=R

b i-Y
=]
.mKP
- oo
|-

HYDRAULIC CIRCUIT

2—UNF 7/18

(mm)

@ DIVENSIONS

35

33

17

12.5

102.7

7

80

60

A

MODEL

A10VO SERIES | 22.5

-221-



LOAD SENSING CONTROL VALVE FOR PC60-7 @

=
]

# USABLE CIRCUMSTANCE
507C, ISO VG46, -20~807

CHECK VALVE

I
(¥ S
FRFSSURF Vs =
COMPENSATION WALVE(R) oLl WELLY /
o 4 |
75 - = =) \“* e 1
L

PRESSURE
COMPENSATION WALVE(F)

@ DIVENSIONS

(mm)
MODEL g BoL @SB B E 8 H " [ Rl
PC60-7 39 | 35 | 8 | 14 | 20 | 23 | 23 | 35 | 4 | 134 | 42 | 49
MODEL R - - R T U
PC60-7 532|572 | 263 | 53 | 105 | 25 | 30.5 M20X1.5P MH14X1.5P

—222-



LOAD SENSING CONTROL VALVE FOR PC100&120-6 @

A
B
[ = = [ &
F G
=Tt
=
1
I :::
= |
—
[
1 -
1]
o
- |
5 r[" |
_____________ :|LL jAl
LG o
; = g
| [ |
T 11,_ 5L B [ l
|T'I|'_'|I'T|T]*-||ﬂ'ﬁ [ e
L L
[
teaLE |
J.J.,_ T & !
L
' 4l |
_________________________ '_%_séimm\m
-
RELIEF VALVE E &
L |
HYDRAULIC CIRCUIT
@ DIVENSIONS -

MODEL A B C D E F G H I J K L
PC100&120-6 | 370 | 231 | 89 |51.5|53.5(38.5|44.5| 42 | 40 | 71 3 (315
MODEL M N (®) o Q R S il U V w X

PC100&120-6 | 37.5/92.5|15.5| 56 | 132 | 153 | 165 |24.5|11.5| 66 6 3

—223-



LOAD SENSING CONTROL VALVE FOR PC120/130-7&8 @

o 1] | B s W ST A m
ol {1 m ‘k‘ré%_J J]E H
SlS
T T

|
sl A

PC120/130-T&8
Service valve

AT
HYDRAULIC CIRCUIT
@ DIVENSIONS o
MODEL | A | B |C|D|E|F 6 H I |J|K|L|/M|N O P|lQ|R|S|T

PC120/130-788 |45.5| 45 | 38 | 3 |248/545 37 37 | 45 |168| 50 | 70 (125 68 168 302 |25 | 9 | 10 | 38

224~



LOAD SENSING CONTROL VALVE

FOR PC200-6&PC300-6(SERVICE VALVE)

p
=

4-J .
{ e S A
Sy [ @/ b o g [ M) «ﬂ)d/
ql, o 1|16 | B AL
S i
] o il
D Q
3 . )

From service

valve spool
“k

S K.

TN
VARIABLE PRESSURE
t LS COMPENSATION VALVE
Load pressure from LS
other work equipment Load pressure from
other work equipment

LS SHUTTLE VALVE | |5

Load pressure from
other work equipment

VARIABLE PRESSURE
COMPENSATION VALVE

@ DIVENSIONS (mm)
MODEL A B C D E E G H | J K L
PC200-6
AL 30 | 69 | 30| 272 | 88 | 865 223 | 172 | 65 | 016 | 66 | 50
MODEL M N @] P Q R S W T U
PO200-6 84 | 20 | 456 | 26.2 | 52.4 | 188 | 925 | @23 | MIOX15PDp18 | M14X15P
PC300-6 e ' '

-225-




LOAD SENSING CONTROL VALVE
FOR PC200-7/8&PC300-7/8(SERVICE VALVE)

R ,
5 5
Y i
U QE ot P O1e ge i —O_LgL
it} R{i— = = —€3ﬂ it} —@J
Q 8-T Q =

LS BYPASS VALVE

4 \
1S SHUTTLE vaLvE A

HYDRAULIC CIRCUIT

1—STAGE

: J:— SAFETY SUCTION VALVE
[ \ Q7
&

From service T: tank When pilet pressure Pois ON
valve spool —> low pressure setting
{active mode OFF)
&
e \
\ 7
Wy,

To tank From service
2-5TAGE

valve speol
| SAFETY SUCTION VALVE

Load pressure from
=3 other work equipment

tLS
Load pre from
other war k equpme t

VARIABLE PRESSURE
WCOMPENSATION WALVE

Load pressure from
other work equipment

@ DIVENSIONS -

MODEL R AR RS AR AR A R AR LG
et 30 | 69 | p30 | 272 | 88 [86.5| 223 | 172 | 65 | p16| 66 & 50
MODEL d o m ) B m ] ' b = 5

e 89.5 | 20 | 456 | 26.2 | 52.4 | 188 | 025 | 23 | MIOX15PDp18| Mi4X15P

-226-



LOAD SENSING CONTROL VALVE FOR KOBELCO / NEW HOLLAND (I-:D)

To tank From spool

\7‘\\

SAFETY SUCTION WALVE
147+9.8Nm (15+1Kg.m)

SAFETY SUCTION WALVE
1£4749.8Nm (154 1Kg.m}

@ DIVENSIONS -
MODEL A B | C | D E F G H | J
SK200-6 30 | 43 | 20 | 100 | 200 | 80 | 133 | 48 | 358 | 31
MODEL K L M N O e Q R S
SK200-6 13 | 36 | 69 | 117 | 572 | 278 | 26 W%’é;fp PF3/8

-227-



NEGA-CON RELIEF VALVE FOR KOBELCO / NEW HOLLAND @

] D F K
I 2N
[
7. Yas \S7NW7N
S T Oy
A N A e
” I N
0 N [ ]
l | Ac2
| |
| A :
lm x|
N
al i . |
OQI__ ' _J
P1
HYDRAULIC CIRCUIT

54200-6
CONTROL VALVE

NEGA—CON
RELIEF WVALVE

@ DIVENSIONS

(mm)
MODEL A B C D E E G H I J K L
SK200-7 52 | 57 | 10 | 31 | 45 | 37 | 133 | 68 | 22 | 35 173 | 225
MODEL M N @] £ Q R S il U V
SK200-7 35 | 106 | 32 | 18 | 12 | 21 | 49 |355| PF1/4 PF3/8

-228-



REGULATOR FOR 1P00 TYPE

PR /4

70

<A

(
&
@

!

\ @ STANDARD DIMENSIONS

26

(mm)
MODEL A MODEL A
H3V63 22 H5V80 40.5
H3vV112 36 H5V140 48
H3V1408180 a7 H3V280 5.7
H5V160 & 200 66 H5V160DPH & 200DPH ’

-229-




REGULATOR FOR 2P00 TYPE

g

— -’:‘2

HYDRAULIC CIRCUIT

175
161

99

111

200

70

<A>

————11
N
_ [7e)
= ]
[PF1/4
\ @ STANDARD DIMENSIONS
{mm)
MODEL A MODEL A
H3V63 22 Hav80 40.5
H3V112 36 H5V140 48
H3V1408180 57 H3v280 o
H5V160 & 200 66 H5V160DPH & 200DPH i

—-230-




REGULATOR FOR 9N00 TYPE

Al

o

Pi1

]

70

<

21

\ @ STANDARD DIMENSIONS

(mm)
MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 A8
H3V140&180 57 H3V280 e
H5V160 & 200 66 H5V160DPH & 200DPH ’

-231-




REGULATOR @
FOR 9NOO TYPE WITH MANIFOLD(BOLT)

a3

i o =k
I :

é

g

175
161
99
[A—
| (i[]
—
.
99

Ja i
=IO | er=
e i Mt

70

21
T
|

©

(@]
|
26

|

<A>
= |
G

|

|

\ @ STANDARD DIMENSIONS  (nm)

MODEL A MODEL A
H3V63 22 H5VB0 40.5

H3v112 36 H5V140 18
H3V1408&180 57 H3V280 iy

H5V160 & 200 66 H5VI60DPH & 200DPH ’

—232=



REGULATOR

FOR 9NOO TYPE WITH MANIFOLD

Pav] A

A £

I %
R e B e
i a3
i O_ T A2
i J.:"w j_
| I —‘J.,‘ T I} 1]
- sl g

5 ll—E:i

i oy

PF1,/4

1

© —
% n
® \
= {
| I - I
111
187.6
o
~
o
N
<
W

(mm)
MODEL A MODEL A
H3V63 22 H5V80 405
H3V112 36 H5V140 48
H3V140&180 57 H3V280 i
HAV160 & 200 66 H&V160DPH & 200DPH ’

—233=




REGULATOR FOR 9N00 TYPE WITH EPR

al Psv1 Al

i P2
B
1M -
%W
Pil >

[

/0

<A

\ @ STANDARD DIMENSIONS s

MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 a6 H5V140 18

H3V1408180 a7 H3V280 -
HAV160 & 200 66 H5V160DPH & 200DPH '

-234-



REGULATOR FOR 9N0O TYPE WITH EPR(DTH)  {}D}

€

195
168
{1 .:u
| 1
“\/lkl
U
-

e
®
©

<A> 21
o
= |
q

\ ® STANDARD DIMENSIONS

MODEL A MODEL A
H3v63 22 HAVB0 40.5

H3V112 36 HAV140 48
H3V140&180 57 H3v280 _

H5V160 & 200 66 H5V160DPH & 200DPH '

—235=



REGULATOR

FOR 9NOO TYPE WITH EPR(4BOLT-DTH TYPE)

| \_'PZ
RiRG
2T — v

HYDRAULIC CIRCUIT

195
168
| 1
==\le
i
-

111

Il

70
\

<A>
21
[
E E!
= |
q
a

\ @ STANDARD DIMENSIONS

(mm)
MODEL A MODEL A
H3V63 22 H5v80 0.5
H3V112 36 H5V140 a8
H3V140&180 57 H3V280 .
H5V160 & 200 66 H5V160DPH & 200DPH '

-236-



REGULATOR FOR 9C00 TYPE @

Al
T
oy Pf
T P2
O—1
J.ILI—|J. 1
ly
Pi13
Pm1s
HYDRAULIC CIRCUIT fuusd i

m)
MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 48
H3V1408180 57 H3v280 =
H5V160 & 200 66 H&V160DPH & 200DPH ’

—23f=



REGULATOR
FOR 9C00 TYPE WITH MANIFOLD(BOLT)

174.5

124.5

99

<A>

26

(mm)
MODEL A MODEL A
H3V63 22 H5VE0 0.5
H3V112 36 H5V140 a8
H3V140&180 57 H3V280 _—
H5V160 & 200 66 H5V160DPH & 200DPH i

-238-



REGULATOR

()

FOR 9C00 TYPE WITH MANIFOLD

Poyl A

— a3
T— A2

PF1/4 100

174
99
S
] 1
I e
B |
@
|
-
98

70

26

<Ax

\ @ STANDARD DIMENSIONS A

MODEL MODEL A
H3V63 22 H5VB0 40.5
H3V112 36 H5V140 18

H3V1408&180 a7 H3v280 —
HA5V160 & 200 66 H5V160DPH & 200DPH '

—239=



REGULATOR FOR 9C00 TYPE WITH EPR

\ ® STANDARD DIMENSIONS

MODEL A MODEL A
H3V63 22 H5V80 40.5

H3V112 36 H5V140 18
H3V1408&180 57 H3v280 S

H5V160 & 200 66 H5V160DPH & 200D0PH ’

-240-



REGULATOR
FOR 9C00 TYPE WITH EPR(4BOLT-DTH TYPE)

197
73
al
;‘ ke [ |
A Za e
rm®rE P

189
168

<A> 21

MODEL A MODEL A
H3V63 22 H5VB0 40.5

H3v112 36 H5V140 18
H3V140&180 57 H3V280 5

H5V160 & 200 66 H5VI60DPH & 200DPH ’

-241-



)

REGULATOR FOR HNO0O TYPE

I’z AT
! ! p:
| L e
| ; |
s li{r"_ﬂ 0 )
| Ll P |
1| L L :
} =] :
i |

\A @ STANDARD DIMENSIONS
A

(mm)
MODEL MODEL A
H3V63 22 H5V80 405
H3V112 36 H5V140 A8
H3V140&180 57 H3V280 e
HAV160 & 200 66 HAV160DPH & 200DPH ’

-z242-



REGULATOR

FOR HNOO TYPE WITH MANIFOLD(BOLT)

03

#:
di T .
A P 7
——
1
]
1 W

HYDRAULIC CIRCUIT

175
161
39
S ——
1
i /‘l\
—
"
a9

111
200

PF1/4

26

ﬁ 1 {
/%"JEHHJ !
\ @ STANDARD DIMENSIONS -

<A> _ 21

MODEL A MODEL A
H3V63 22 H5VB0 40.5
H3V112 36 H5V140 18

H3V1408180 a7 H3v280 e
HA5V160 & 200 66 H5V160DPH & 200DPH '

-243-



REGULATOR

FOR HNOO TYPE WITH MANIFOLD

Psvl Al
__tir:_
o
B e
Fan! B g
— A2

100

PF1/4

1525

161
29
[ ] | |
—'ﬁ i, %|
J
]
&)
M1 T
99

[l I —— =/
111
207
[:- /o : =
= ] o T
7 C?’?}
A 2 iy;

<A

\ @ STANDARD DIMENSIONS b

MODEL A MODEL A
H3V63 it H5V80 40.5

H3v112 36 H5V140 18
H3V1408&180 57 H3V280 757

HA5V160 & 200 66 H5VI60DPH & 200DPH ’

—244-



REGULATOR FOR HN0O TYPE WITH EPR

al Psvl

% :

Fz1

Fi1

of
i

16
899
—
- r=%/’=k| "
—
99

=
-
[N

24

= = @
[{s]
- [
\ @ STANDARD DIMENSIONS -
MODEL A MODEL A
H3V63 22 H5V80 40.5
HaV112 36 H5V140 a8
H3V1408180 57 H3V280 =
H5V160 & 200 66 H5V160DPH & 200DPH '

-245-



REGULATOR
FOR HNOO TYPE WITH EPR(4BOLT-DTH)

©
*@rr

195
168
T 1 .:I
| |1
"\fl\l
ik

70
21
-
g
ol
1
1k
\*2)
©
| ]
26
|
¥

{5
Lk
r1.|

\ @ STANDARD DIMENSIONS

<A>

(mm)
MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 A8
H3V140&180 57 H3V280 -
HAV160 & 200 66 H&V160DPH & 200DPH ’

-246-



REGULATOR FOR 5N00/6N00 TYPE @

Al

A Pf

o M P2
] (-
Pi ]
b
il

HYDRAULIC CIRCUIT | *:l::%

100
o FJ
i __
r I
| ‘ S -
EOTT1 =0
111
194
ENRL
3 6
™~
1 1
1
I
)
1

MODEL A MODEL A
H3V63 22 H5V80 40.5

H3v112 36 H5V140 18
H3V140&180 57 H3V280 g

H5V160 & 200 66 HA5V160DPH & 200DPH ’

-247-



REGULATOR FOR YT2K TYPE

\ @ STANDARD DIMENSIONS e

MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 418

H3V140&180 LY H3V280 g
H5V160 & 200 66 H5Y160DPH & 200DPH .

-248-



REGULATOR FOR 9POF TYPE

\ @ STANDARD DIMENSIONS s

MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 18

H3V1408&180 a7 H3V280 iy
HA5V160 & 200 66 H5V160DPH & 200DPH '

-249-




REGULATOR FOR 9L00 TYPE

B
|
|
|
|
|
|

-
|
|

[

T

Pi1l *

‘G
=
SRR - N . SV —
: =
| &
: E = ':_
- E |
1 . B [
e L
g { L
-
[ I

;\ 218
\ 100

186

A> 70 _
(T ]
®
|

\ @ STANDARD DIMENSIONS :
(mm

MODEL A MODEL A
H3V63 22 H5VB0 40.5
H3V112 36 H5V140 18

H3V1408180 a7 H3V280 s
HA5V160 & 200 66 H5V160DPH & 200DPH '

-250-



REGULATOR FOR HLOP TYPE

'_'_'_'E'Z—-——ﬁ__ A1
- e
- T i1 r2
|
|
|
|
|
-
_
<]
T X
HYDRAULIC CIRCUIT L——

MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 18

H3V1408180 a7 H3v280 T
HA5V160 & 200 66 H5V160DPH & 200DPH ’

—25l=



REGULATOR FOR 9TIL TYPE

PSV1 A1

e
%

r
HYDRAULIC CIRCUIT (R

FF1/4

\ @ STANDARD DIMENSIONS

(mm)
MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 18
H3V140&180 57 H3V280 757
HA5V160 & 200 66 H&5V160DPH & 200DPH ’

—252=



REGULATOR TYPE FOR 9Y00 TYPE (l':D)
WITH LOAD SENSING

\ @ STANDARD DIMENSIONS

(mm)
MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 48
H3V1408&180 57 H3V280 o
H5V160 & 200 66 H5Y160DPH & 200DPH ’

—298=



REGULATOR FOR 9Y00 TYPE(FRONT)

= A1
=
L b
LT P2

HYDRAULIC CIRCUIT | Lf

156

115

58

\ @ STANDARD DIMENSIONS s

MODEL A MODEL A
H3V63 22 HA5VE0 10.5

H3V112 36 H5V140 48
H3V1408180 57 H3V280 75 7

H5V160 & 200 66 H5V160DPH & 200DPH .

-254-



REGULATOR FOR 9Y00 TYPE (REAR)

4—09

PE1/4 PF1/4
_ [
™ M \ ’/ I J
u>(5 - ﬁm 65 .
ol oy - || _‘l o
=

\ ® STANDARD DIMENSIONS

MODEL A MODEL A
H3V63 22 H5VE0 10.5

H3v112 36 H5V140 48
H3V1408180 57 H3V280 75 7

H5V160 & 200 66 H5V160DPH & 200DPH .

—255=



REGULATOR FOR SK3D TYPE @

P Pg Psv Al
! L[]
W T
. | -
N s N
i(N)
g
Pi(P) E:Ej{
Pi j I
Pa1 P N—
i
HYDRAULIC CIRCUIT [ |

\ ® STANDARD DIMENSIONS

MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 18

H3V1408180 a7 H3V280 S
HA5V160 & 200 66 H5V160DPH & 200DPH '

-256-



REGULATOR FOR OE01 TYPE(HITACHI) {iD}

[a} f"/ _— i
w3 i e Lot
K
ca N
~
-
W

\ @ STANDARD DIMENSIONS

(mm)
MODEL A MODEL A
H3V63 25 H5vB0 48
H3V112 36 HAV140 53.8
H3V1408&180 61.3 H3v280 o
H5V160 & 200 70 H5V1600PH & 200DPH

—25if=



REGULATOR FOR OE02 TYPE(NORMAL)

122

|15 37

102
99

\LJI\F?J/ 16

N

i
o
@n o(®
u = .
@ e
© -
() c\lI
@ STANDARD DIMENSIONS
(mm)
MODEL A MODEL A
H3VE63 25 HAVB0 A8
H3v112 6 HAv140 53.8
H3V1408180 61.3 H3v280 5
H5V160 & 200 T0 H5V160DPH & 200DPH

—258=




REGULATOR FOR 9TDL/BL/CL TYPE

-9TDL- -9TBL/CL-

PSSV Al PSV1 Al
/ _ - /
!ﬁﬂ”}
P13
| |
—P2 g
!
!
!
!
|

—7— P2

99

(=) -
i - -
© —4@
alz %'—l/—'; il
% PF1/4 / N
\ @ STANDARD DIMENSIONS
(mm)
MODEL A MODEL A
H3V63 22 H5VE0 0.5
H3V112 6 H5V140 18
H3V140&180 57 H3V280 o
H5V160 & 200 66 H5V160DPH & 200DPH '

—254=



REGULATOR FOR 9TFL/AS/EL/GL/HL/8L TYPE @

PSV1 A

208
100

165

\ @ STANDARD DIMENSIONS
Lmim)

MODEL A MODEL A
H3V63 22 H5V80 40.5

H3V112 36 H5V140 418
H3V1408180 57 H3v280 o

H5V160 & 200 66 H5V160DPH & 200DPH ’

-2B0-



REGULATOR FOR 9KOE TYPE @

HYDRAULIC CIRCUIT

0

‘ R 7 , _.
| -1 /) -_
I ﬂJ

\ @ STANDARD DIMENSIONS
(mm)

MODEL A MODEL A
H3V63 22 H5VB0 10.5

H3V112 36 H5V140 18
H3V140&180 ht H3v280 .

HaV160 & 200 66 H5V160DPH & 200DPH '

-2B1-



REGULATOR

FOR 5L00/7L00 TYPE WITH CUT-OFF VALVE

HYDRAULIC CIRCUIT FOR PRINCIPLE

213
=
=]
|
%E
|

Y o [[;AZ_LY 5 o
— & &
= ;
— i
= G-
111
BF1/4 B4 109

70

N

\ @ STANDARD DIMENSIONS i

MODEL A MODEL A
H3V63 22 H5V8B0 40.5

H3V112 36 H5V140 18
H3V1408&180 57 H3v280 o

H5V160 & 200 66 H5V160DPH & 2000PH )

-2B2-



REGULATOR
FOR 3L02 TYPE WITHOUT CUT-OFF VALVE

)

o | | s |
== 65?1%_________ G 1
E — O ——————— @ —

154
99

[T T 1]

LIJLTTL

|
%@

Nt
D

PL PCORT
PORT SIZE : UNF2/16—18BN

i e —
T o
= N | I .
"l e [ - T‘{:‘Z} m
5 |° i | %
| 9 == = Il
% m

@ STANDARD DIMENSIONS
(mm)
MODEL A MODEL A
H3v63 255 HAVB0 a4
H3v112 395 H5V140 51
H3V1408180 60.5 H3vZ280 79,9
HA&V160 & 200 69.5 H5V160DPH & 200DPH )

-2B63-




REGULATOR @
FOR 3L09 TYPE WITH CUT-OFF VALVE

== P2

HYDRAULIC CIRCUIT | e

T
i
| R

99

L
;’o
%iff]

L
il
: 1
|
b

76
|
]
[+]
L

40

—

T

\ @ STANDARD DIMENSIONS

—

(mm)
MODEL A MODEL A
H3v63 255 H5V80 A4
H3v112 39.5 H5V140 51
H3V1408&180 60.5 H3v280
H5V160 & 200 69.5 H5V160DPH & 200DPH "2

-264-



REGULATOR FOR CATERPILLAR (3L2E) @

UNFS,/15

— —

I
A

99

75

41

@ STANDARD DIMENSIONS
(mm)
MODEL A MODEL A
H3V63 25.5 H5V80 a1
H3V112 39.5 H5V140 51
H3V1408180 60.5 H3V280 -
H5V160 & 200 69.5 H5V160DPH & 200DPH

-2B65-



REGULATOR FOR 3E00 TYPE

|
HYDRAULIC CIRCUIT

G1-GAUGE PORT
PORT SIZE : PF1/4—14N

144

118

68

41

26

<A>

\ @ STANDARD DIMENSIONS

(mm)
MODEL A MODEL A
H3V63 22 H5VB0 40.5
H3V112 36 H5V140 18
H3v1408180 57 H3v280 e
H5¥160 & 200 66 H5V1600PH & 200DPH '

-2B66-



REGULATOR FOR 5E29 TYPE

MODEL A MODEL A
H3V63 22 H5V80 40.5
H3V112 36 H5V140 18

H3V1408180 57 H3v280 e
H5V160 & 200 66 H5V160DPH & 200DPH '

—ebi=



9c

N
+5

HYDRAULIC CIRCUIT

FIRIN

Pm Pi

(mm)
0.5
a8
75.7

MODEL
H5v80
H5V140
H3v280
H5V160DPH & 200DPH

-2B68-

22
a7
66

186.5

100
e H o |
111

i

)
S
K

il

Pm

MODEL
H3V63
H3V112
H3V1408180
H5V160 & 200

G'l8 <v>

L
&
>=
-
=2
=
2,
&
oc
@
Li
oc
O
-
="
el
=
O
LL
o




REGULATOR FOR H7V SERIES(9N00) TYPE

1:35.5!

176.3

NI

73

<A

MODEL A

H7V63 20.5
H7V100 30.5

-2B69-



REGULATOR @
FOR H7V SERIES(9NOE) TYPE WITH EPR

PSV(PF%)

26

171.5

.
Nl
2

=
Al
I
It

73

36.5120

<A>

e | @ f f\ .. a ]
L]
\ @ STANDARD DIMENSIONS i
mm

MODEL A
H7V63 20.5
H7V100 30.5

—-270-



REGULATOR FOR H7V SERIES(9C00) TYPE @

i —
_b ©s =1
m 15 ! |
[ | 1
o . O
NE pm S [ T 1
= (@) ‘ O

<A>

MODEL A

H7V63 20.5
H7V100 30.5

-271-



REGULATOR @
FOR H7V SERIES(9C00) TYPE WITH EPR

ol

Pl

s ) ]

)
o | :
a2
-~
HYDRAULIC CIRCUIT . __ | —T-

102

83

171.5

26

_a‘I(PF;}) L
: i
: I .
\ .STANDARDDIMENSIONS( )
mm
MODEL A
H7V63 20.5
H7V100 30.5

—afa=



REGULATOR FOR H7V SERIES(9T00) TYPE

% USABLE CIRCUMSTANCE HYDRAULIC CIRCUIT

50°C, 1ISO VG46, -20~90°C

) .
(o]
©
o) ©
g | i
d [ 75 | 555
a } PF1/4—Pi1 @ 3’; .
M“—‘Cﬂ——ﬁ
6—99
76.5 54
214
is H T 0] 55—
J f 0 O IR — . L (ol .
3, Tk : 8 . -
= T NER © .
< 6 2.8
L
210.5
\A ® STANDARD DIMENSIONS
mm
MODEL A
H7V125 & 140 & 180 34.2
H7V280 48.2

—2f3=



REGULATOR FOR H7V SERIES(OE00) TYPE

Pr—1/4- 19N
MBX 1,252
PSV1
PF—" /4—19N —
N

5 i

] i
III H
Ly b |
g H ' H
I k.
W MBX1.252
al 3
Pr—1/2-14N
FSW2
PF1/8—28N . —

fﬁ@ | Qﬁ:tf
|

T
\-~/

o
in
18
745

(] 5 = i

(Beol
0

\ @ STANDARD DIMENSIONS

(mm)
MODEL A
H7V125 & 140 & 180 34.2
H7V280 48.2

-274-



REGULATOR FOR H7V SERIES(OE43) TYPE

Pi(UNF9/16) o
O e
o
o)
26
" O C)
PSV(UNF9/16)
© p
0 b O
o - ® ® =
Q —+~ ~
R 170 N :E:” i 3
] © ® S L
A
g n I
\ @ STANDARD DIMENSIONS -
MODEL A
H7V63 205
H7V100 30.5

—efh=



REGULATOR FOR H7V SERIES(9Y2C-F) TYPE @

ﬂ\ 86
m —: S
o i -
N~ [ <
—lo SN P o))
= g[ —H
i A 8
o \g,l_—
a5
; 34
Pi1T 84
175
N ==
"/ . <
2N (@ 2
~ & [e] i "
Q M
v : i

\ @ STANDARD DIMENSIONS il
mm

MODEL A

H7V63 20.5
H7V100 30.5

-276-



REGULATOR FOR H7V SERIES(9X2D-R) TYPE @

188

HYDRAULIC

\‘I :
Rt ]

IRCUIT

gl o =1
© @R I
i
Pi2 ® H]
ab
34
74.5
174.5
P2
[
\ @ STANDARD DIMENSIONS }
mm
MODEL A
H7V63 20.5
H7V100 30.5

-277-



{0

o
<
S
=
=
=,
D
0
(1]
™
-
nZ
O
L
(14
=
<
—
-
O
Ll
(2 <

3
o
L
T
=
=

Pit

T R e

+
|
A

Y

il

) |

L ;

N o |
Voferz
A

T W e [
- o O -
B ]PI a0 |

T =

E. / i

I s

HYDRAULIC CIRCUIT

185.5

¥

Pi1(PF1/4)

A
3

82

32

62

4-@9HDLE

PF1/4

e

97.5

SCL

p el .. ¥
s

e

—278=



{0

o
<
S
=
=
=,
D
0
(1]
™
-
nZ
O
L
(14
=
<
—
-
O
Ll
(2 <

o
o
LT
—
—
o
- -
=
=

.

HYDRAULIC CIRCUIT

S8

S¢l

152.5

—2rg=




-280-

4—¢8.5

E ]
o “
- Rl
(o] I IR et N N P
- e LT S
= | 15
g iy
F N l_nw
o3 " P LR
% ...... | E
2> o
()
wd o 0
= =
1
- o o
-_ -+ o
R @ @ - % \% o
m of |® o O = © ©
— @ 5 - % =] O —
o Oy 3 R
=
= ¥ g ¥
m = GTC 5
¢ G6 Svy L
E ¢ LIt
(2’

34.5/28 |




REGULATOR FOR KOMATSU

HYDRAULIC CIRCUIT

4—pQ
\S2/ 2
0= )

4 5
r £

M14X1.5P

PPLS 68.8 | \_m1ax1.5p

PLS

%

ﬁ
N

My

7R
\LJ
S
N
@

36.3

-281-



REGULATOR FOR CATERPILLAR(HBS80)

HYDRAULIC CIRCUIT

120.5

4—p14

199

T
j

LY HE]
14,5
Q!

-282-



REGULATOR FOR CATERPILLAR(HBS120&140)

FRONT TYPE

'}: /'—‘. [ L]

81 A3 Al

]
HYDRAULIC CIRCUIT

111 4-914

168.5
—

18Z4:5

2615

PN1
egative Flow Control
Pressure Port

W
/ |
i)
=

148

326

ES1

— -

|
90

m=),
()

40

292.5 SPHERE 932 |

-283-



REGULATOR FOR CATERPILLAR(HBS120&140) @

REAR TYPE

A2 53 81
HYDRAULIC CIRCUIT

111 4-914

)
g O o
L2 I ‘lﬁ | 0 S
& o o o T
L= A\ \) 3
~
Y
148
326
PN2
Negative Flow Control
Pressure Port
1 il of o
= o
| NEE
\Ps1
292.5 SPHERE @32 |

-284-



REGULATOR FOR HPC90(EATONS4)
CLOSE CIRCUIT

B A
e - ——

28.7 117.3
47.5

6—28.8

I\I:r\"‘
7
ey
ey

89
69.8
40

=
()
fan%
N
Pa
&
__/

47.5
28.7 92
221

25.4
¥
P

60

©6.35(1/4")

79
44.2
19
1
ol Cu— .
i
@
19
43 \

38 110 116

-285-



T
>
_“E
=

.
o
mw
o
(o)
MR
=
—
WO
i

HYDRAULIC CIRCUIT

_‘_J

183

100

W
AR

1]

Psv |

NillENY

Py

T

4-¢9

111

61

(154

¥ee

36

Pi(P)
__A

LZ

(mm)

@ STANDARD DIMENSIONS

N

0L

<N

40.5

18

7587

MODEL

H5V80
H5V140

H3v280
H5V160DPH & 200DPH

a7

66

MODEL

H3V63
H3V112
H3V1408180
HA5V160 & 200

-286-



REGULATOR FOR HITACHI
FNOS(REAR) TYPE

\ @ STANDARD DIMENSIONS

mm)
MODEL A MODEL A
H3V63 22 HA5VB0 40.5
H3vi12 36 H&5V140 48
H3V140&180 57 H3v280 5.7
H5V160 & 200 66 HAV160DPH & 2000PH ’

—281=




REGULATOR FOR HPV116/145(C/DIF/GIHIJ)TYPE @

6-PORT 7-PORT 5-PORT 5-PORT 6-PORT
HPVI45(C&D-TYPE)  HPVA45(F-TYPE)  HPV145(J/ G-TYPE)  HPV145(H-TYPE) HPV116(6-PORT)

-288-



REGULATOR FOR HPV116/145(C/DIF/GIHIJ)TYPE @

C/D-TYPE

-289-



REGULATOR FOR HPVO102 & HPVO118 TYPE @

<<HYDRAULIC CIRCUIT>>
HPVO102 HPVOT118
NORMAL-TYPE EPR VALVE(ZX&GW)TYPE-R || EPR VALVE(ZX&GW)TYPE-R
g
1l 4
A Pi brs l”‘""‘:@ - gl eI . Pi lEJ
Bleeding i ”'L v ot | Bleeding | Bleeding
T @tmz et A AMETEIN 'Eﬂz et
Pg 1] Pt Pg ==l KPd1 Pg Ix
Dr ‘4@7 Dr L Dr 4@7
1 ZT 7

LVDT SENSOR-TYPE EPR VALVE(ZX&GWITYPE-L || EPR VALVE(ZX&GW)TYPE-L

er Dr Dr
- T L I }
. Tl 111\ Pi =?§5{ p  Pd2 Fi(ﬁ)x*;% ¥ TN
g:;eding | Air = Pd1 Air T =
leed| b L = | i 3 Bleedi rETT
Circuit A MTTHN K Pps g!,,fgf{{'g Fpe Ci:uiTg T
< kPd1 Yemmeend
Pg E:[] Pg Fg (c 1]
& o -
Dr ; Dr
I L I

—-280-



Ll
o
S
-
&
o
=>
o
-
-
N
]
1
o
>
o
- =
('«
o
i
(2«
o
-
<
—l
-
O
Ll
oc

@ HPVO102

LVDT SENSOR-TYPE
EPR VALVE(ZX&GW)-TYPE-L

NORMAL-TYPE > |23

EPR VALVE(ZX&GW)TYPE-R

@ HPVO118

EPR VALVE(ZX&GW)TYPE-L

EPR VALVE(ZX&GW)TYPE-R

-291-



Power of Hydraulic

H10VO-SERIES

HTV—SERIESIIE _

@)

L
g

HGP-sINGLE AP2D-DOUBLE |

{{D HANDOK HYDRAULIC

13, Golden root-ro 130beon-gil, Juchon-myeon
Gimhae-si, Gyeong-nam, Korea

TEL : 82-55-310-1300
FAX : 82-55-326-2245

E-mail : handok@hydraulic.co.kr
www.hydraulic.co.kr

This publication, or parts thereof, may not be reproduced in any form, By and method for any purpose.
Copyright © 2023 All rights reserved by HANDOK HYDRAULIC.
Printed in Korea.



	2023 CATALOG-ASS'Y_페이지_001
	2023 CATALOG-ASS'Y_페이지_002
	2023 CATALOG-ASS'Y_페이지_003
	2023 CATALOG-ASS'Y_페이지_004
	2023 CATALOG-ASS'Y_페이지_005
	2023 CATALOG-ASS'Y_페이지_006
	2023 CATALOG-ASS'Y_페이지_007
	2023 CATALOG-ASS'Y_페이지_008
	2023 CATALOG-ASS'Y_페이지_009
	2023 CATALOG-ASS'Y_페이지_010
	2023 CATALOG-ASS'Y_페이지_011
	2023 CATALOG-ASS'Y_페이지_012
	2023 CATALOG-ASS'Y_페이지_013
	2023 CATALOG-ASS'Y_페이지_014
	2023 CATALOG-ASS'Y_페이지_015
	2023 CATALOG-ASS'Y_페이지_016
	2023 CATALOG-ASS'Y_페이지_017
	2023 CATALOG-ASS'Y_페이지_018
	2023 CATALOG-ASS'Y_페이지_019
	2023 CATALOG-ASS'Y_페이지_020
	2023 CATALOG-ASS'Y_페이지_021
	2023 CATALOG-ASS'Y_페이지_022
	2023 CATALOG-ASS'Y_페이지_023
	2023 CATALOG-ASS'Y_페이지_024
	2023 CATALOG-ASS'Y_페이지_025
	2023 CATALOG-ASS'Y_페이지_026
	2023 CATALOG-ASS'Y_페이지_027
	2023 CATALOG-ASS'Y_페이지_028
	2023 CATALOG-ASS'Y_페이지_029
	2023 CATALOG-ASS'Y_페이지_030
	2023 CATALOG-ASS'Y_페이지_031
	2023 CATALOG-ASS'Y_페이지_032
	2023 CATALOG-ASS'Y_페이지_033
	2023 CATALOG-ASS'Y_페이지_034
	2023 CATALOG-ASS'Y_페이지_035
	2023 CATALOG-ASS'Y_페이지_036
	2023 CATALOG-ASS'Y_페이지_037
	2023 CATALOG-ASS'Y_페이지_038
	2023 CATALOG-ASS'Y_페이지_039
	2023 CATALOG-ASS'Y_페이지_040
	2023 CATALOG-ASS'Y_페이지_041
	2023 CATALOG-ASS'Y_페이지_042
	2023 CATALOG-ASS'Y_페이지_043
	2023 CATALOG-ASS'Y_페이지_044
	2023 CATALOG-ASS'Y_페이지_045
	2023 CATALOG-ASS'Y_페이지_046
	2023 CATALOG-ASS'Y_페이지_047
	2023 CATALOG-ASS'Y_페이지_048
	2023 CATALOG-ASS'Y_페이지_049
	2023 CATALOG-ASS'Y_페이지_050
	2023 CATALOG-ASS'Y_페이지_051
	2023 CATALOG-ASS'Y_페이지_052
	2023 CATALOG-ASS'Y_페이지_053
	2023 CATALOG-ASS'Y_페이지_054
	2023 CATALOG-ASS'Y_페이지_055
	2023 CATALOG-ASS'Y_페이지_056
	2023 CATALOG-ASS'Y_페이지_057
	2023 CATALOG-ASS'Y_페이지_058
	2023 CATALOG-ASS'Y_페이지_059
	2023 CATALOG-ASS'Y_페이지_060
	2023 CATALOG-ASS'Y_페이지_061
	2023 CATALOG-ASS'Y_페이지_062
	2023 CATALOG-ASS'Y_페이지_063
	2023 CATALOG-ASS'Y_페이지_064
	2023 CATALOG-ASS'Y_페이지_065
	2023 CATALOG-ASS'Y_페이지_066
	2023 CATALOG-ASS'Y_페이지_067
	2023 CATALOG-ASS'Y_페이지_068
	2023 CATALOG-ASS'Y_페이지_069
	2023 CATALOG-ASS'Y_페이지_070
	2023 CATALOG-ASS'Y_페이지_071
	2023 CATALOG-ASS'Y_페이지_072
	2023 CATALOG-ASS'Y_페이지_073
	2023 CATALOG-ASS'Y_페이지_074
	2023 CATALOG-ASS'Y_페이지_075
	2023 CATALOG-ASS'Y_페이지_076
	2023 CATALOG-ASS'Y_페이지_077
	2023 CATALOG-ASS'Y_페이지_078
	2023 CATALOG-ASS'Y_페이지_079
	2023 CATALOG-ASS'Y_페이지_080
	2023 CATALOG-ASS'Y_페이지_081
	2023 CATALOG-ASS'Y_페이지_082
	2023 CATALOG-ASS'Y_페이지_083
	2023 CATALOG-ASS'Y_페이지_084
	2023 CATALOG-ASS'Y_페이지_085
	2023 CATALOG-ASS'Y_페이지_086
	2023 CATALOG-ASS'Y_페이지_087
	2023 CATALOG-ASS'Y_페이지_088
	2023 CATALOG-ASS'Y_페이지_089
	2023 CATALOG-ASS'Y_페이지_090
	2023 CATALOG-ASS'Y_페이지_091
	2023 CATALOG-ASS'Y_페이지_092
	2023 CATALOG-ASS'Y_페이지_093
	2023 CATALOG-ASS'Y_페이지_094
	2023 CATALOG-ASS'Y_페이지_095
	2023 CATALOG-ASS'Y_페이지_096
	2023 CATALOG-ASS'Y_페이지_097
	2023 CATALOG-ASS'Y_페이지_098
	2023 CATALOG-ASS'Y_페이지_099
	2023 CATALOG-ASS'Y_페이지_100
	2023 CATALOG-ASS'Y_페이지_101
	2023 CATALOG-ASS'Y_페이지_102
	2023 CATALOG-ASS'Y_페이지_103
	2023 CATALOG-ASS'Y_페이지_104
	2023 CATALOG-ASS'Y_페이지_105
	2023 CATALOG-ASS'Y_페이지_106
	2023 CATALOG-ASS'Y_페이지_107
	2023 CATALOG-ASS'Y_페이지_108
	2023 CATALOG-ASS'Y_페이지_109
	2023 CATALOG-ASS'Y_페이지_110
	2023 CATALOG-ASS'Y_페이지_111
	2023 CATALOG-ASS'Y_페이지_112
	2023 CATALOG-ASS'Y_페이지_113
	2023 CATALOG-ASS'Y_페이지_114
	2023 CATALOG-ASS'Y_페이지_115
	2023 CATALOG-ASS'Y_페이지_116
	2023 CATALOG-ASS'Y_페이지_117
	2023 CATALOG-ASS'Y_페이지_118
	2023 CATALOG-ASS'Y_페이지_119
	2023 CATALOG-ASS'Y_페이지_120
	2023 CATALOG-ASS'Y_페이지_121
	2023 CATALOG-ASS'Y_페이지_122
	2023 CATALOG-ASS'Y_페이지_123
	2023 CATALOG-ASS'Y_페이지_124
	2023 CATALOG-ASS'Y_페이지_125
	2023 CATALOG-ASS'Y_페이지_126
	2023 CATALOG-ASS'Y_페이지_127
	2023 CATALOG-ASS'Y_페이지_128
	2023 CATALOG-ASS'Y_페이지_129
	2023 CATALOG-ASS'Y_페이지_130
	2023 CATALOG-ASS'Y_페이지_131
	2023 CATALOG-ASS'Y_페이지_132
	2023 CATALOG-ASS'Y_페이지_133
	2023 CATALOG-ASS'Y_페이지_134
	2023 CATALOG-ASS'Y_페이지_135
	2023 CATALOG-ASS'Y_페이지_136
	2023 CATALOG-ASS'Y_페이지_137
	2023 CATALOG-ASS'Y_페이지_138
	2023 CATALOG-ASS'Y_페이지_139
	2023 CATALOG-ASS'Y_페이지_140
	2023 CATALOG-ASS'Y_페이지_141
	2023 CATALOG-ASS'Y_페이지_142
	2023 CATALOG-ASS'Y_페이지_143
	2023 CATALOG-ASS'Y_페이지_144
	2023 CATALOG-ASS'Y_페이지_145
	2023 CATALOG-ASS'Y_페이지_146
	2023 CATALOG-ASS'Y_페이지_147
	2023 CATALOG-ASS'Y_페이지_148
	2023 CATALOG-ASS'Y_페이지_149
	2023 CATALOG-ASS'Y_페이지_150
	2023 CATALOG-ASS'Y_페이지_151
	2023 CATALOG-ASS'Y_페이지_152
	2023 CATALOG-ASS'Y_페이지_153
	2023 CATALOG-ASS'Y_페이지_154
	2023 CATALOG-ASS'Y_페이지_155
	2023 CATALOG-ASS'Y_페이지_156
	2023 CATALOG-ASS'Y_페이지_157
	2023 CATALOG-ASS'Y_페이지_158
	2023 CATALOG-ASS'Y_페이지_159
	2023 CATALOG-ASS'Y_페이지_160
	2023 CATALOG-ASS'Y_페이지_161
	2023 CATALOG-ASS'Y_페이지_162
	2023 CATALOG-ASS'Y_페이지_163
	2023 CATALOG-ASS'Y_페이지_164
	2023 CATALOG-ASS'Y_페이지_165
	2023 CATALOG-ASS'Y_페이지_166
	2023 CATALOG-ASS'Y_페이지_167
	2023 CATALOG-ASS'Y_페이지_168
	2023 CATALOG-ASS'Y_페이지_169
	2023 CATALOG-ASS'Y_페이지_170
	2023 CATALOG-ASS'Y_페이지_171
	2023 CATALOG-ASS'Y_페이지_172
	2023 CATALOG-ASS'Y_페이지_173
	2023 CATALOG-ASS'Y_페이지_174
	2023 CATALOG-ASS'Y_페이지_175
	2023 CATALOG-ASS'Y_페이지_176
	2023 CATALOG-ASS'Y_페이지_177
	2023 CATALOG-ASS'Y_페이지_178
	2023 CATALOG-ASS'Y_페이지_179
	2023 CATALOG-ASS'Y_페이지_180
	2023 CATALOG-ASS'Y_페이지_181
	2023 CATALOG-ASS'Y_페이지_182
	2023 CATALOG-ASS'Y_페이지_183
	2023 CATALOG-ASS'Y_페이지_184
	2023 CATALOG-ASS'Y_페이지_185
	2023 CATALOG-ASS'Y_페이지_186
	2023 CATALOG-ASS'Y_페이지_187
	2023 CATALOG-ASS'Y_페이지_188
	2023 CATALOG-ASS'Y_페이지_189
	2023 CATALOG-ASS'Y_페이지_190
	2023 CATALOG-ASS'Y_페이지_191
	2023 CATALOG-ASS'Y_페이지_192
	2023 CATALOG-ASS'Y_페이지_193
	2023 CATALOG-ASS'Y_페이지_194
	2023 CATALOG-ASS'Y_페이지_195
	2023 CATALOG-ASS'Y_페이지_196
	2023 CATALOG-ASS'Y_페이지_197
	2023 CATALOG-ASS'Y_페이지_198
	2023 CATALOG-ASS'Y_페이지_199
	2023 CATALOG-ASS'Y_페이지_200
	2023 CATALOG-ASS'Y_페이지_201
	2023 CATALOG-ASS'Y_페이지_202
	2023 CATALOG-ASS'Y_페이지_203
	2023 CATALOG-ASS'Y_페이지_204
	2023 CATALOG-ASS'Y_페이지_205
	2023 CATALOG-ASS'Y_페이지_206
	2023 CATALOG-ASS'Y_페이지_207
	2023 CATALOG-ASS'Y_페이지_208
	2023 CATALOG-ASS'Y_페이지_209
	2023 CATALOG-ASS'Y_페이지_210
	2023 CATALOG-ASS'Y_페이지_211
	2023 CATALOG-ASS'Y_페이지_212
	2023 CATALOG-ASS'Y_페이지_213
	2023 CATALOG-ASS'Y_페이지_214
	2023 CATALOG-ASS'Y_페이지_215
	2023 CATALOG-ASS'Y_페이지_216
	2023 CATALOG-ASS'Y_페이지_217
	2023 CATALOG-ASS'Y_페이지_218
	2023 CATALOG-ASS'Y_페이지_219
	2023 CATALOG-ASS'Y_페이지_220
	2023 CATALOG-ASS'Y_페이지_221
	2023 CATALOG-ASS'Y_페이지_222
	2023 CATALOG-ASS'Y_페이지_223
	2023 CATALOG-ASS'Y_페이지_224
	2023 CATALOG-ASS'Y_페이지_225
	2023 CATALOG-ASS'Y_페이지_226
	2023 CATALOG-ASS'Y_페이지_227
	2023 CATALOG-ASS'Y_페이지_228
	2023 CATALOG-ASS'Y_페이지_229
	2023 CATALOG-ASS'Y_페이지_230
	2023 CATALOG-ASS'Y_페이지_231
	2023 CATALOG-ASS'Y_페이지_232
	2023 CATALOG-ASS'Y_페이지_233
	2023 CATALOG-ASS'Y_페이지_234
	2023 CATALOG-ASS'Y_페이지_235
	2023 CATALOG-ASS'Y_페이지_236
	2023 CATALOG-ASS'Y_페이지_237
	2023 CATALOG-ASS'Y_페이지_238
	2023 CATALOG-ASS'Y_페이지_239
	2023 CATALOG-ASS'Y_페이지_240
	2023 CATALOG-ASS'Y_페이지_241
	2023 CATALOG-ASS'Y_페이지_242
	2023 CATALOG-ASS'Y_페이지_243
	2023 CATALOG-ASS'Y_페이지_244
	2023 CATALOG-ASS'Y_페이지_245
	2023 CATALOG-ASS'Y_페이지_246
	2023 CATALOG-ASS'Y_페이지_247
	2023 CATALOG-ASS'Y_페이지_248
	2023 CATALOG-ASS'Y_페이지_249
	2023 CATALOG-ASS'Y_페이지_250
	2023 CATALOG-ASS'Y_페이지_251
	2023 CATALOG-ASS'Y_페이지_252
	2023 CATALOG-ASS'Y_페이지_253
	2023 CATALOG-ASS'Y_페이지_254
	2023 CATALOG-ASS'Y_페이지_255
	2023 CATALOG-ASS'Y_페이지_256
	2023 CATALOG-ASS'Y_페이지_257
	2023 CATALOG-ASS'Y_페이지_258
	2023 CATALOG-ASS'Y_페이지_259
	2023 CATALOG-ASS'Y_페이지_260
	2023 CATALOG-ASS'Y_페이지_261
	2023 CATALOG-ASS'Y_페이지_262
	2023 CATALOG-ASS'Y_페이지_263
	2023 CATALOG-ASS'Y_페이지_264
	2023 CATALOG-ASS'Y_페이지_265
	2023 CATALOG-ASS'Y_페이지_266
	2023 CATALOG-ASS'Y_페이지_267
	2023 CATALOG-ASS'Y_페이지_268
	2023 CATALOG-ASS'Y_페이지_269
	2023 CATALOG-ASS'Y_페이지_270
	2023 CATALOG-ASS'Y_페이지_271
	2023 CATALOG-ASS'Y_페이지_272
	2023 CATALOG-ASS'Y_페이지_273
	2023 CATALOG-ASS'Y_페이지_274
	2023 CATALOG-ASS'Y_페이지_275
	2023 CATALOG-ASS'Y_페이지_276
	2023 CATALOG-ASS'Y_페이지_277
	2023 CATALOG-ASS'Y_페이지_278
	2023 CATALOG-ASS'Y_페이지_279
	2023 CATALOG-ASS'Y_페이지_280
	2023 CATALOG-ASS'Y_페이지_281
	2023 CATALOG-ASS'Y_페이지_282
	2023 CATALOG-ASS'Y_페이지_283
	2023 CATALOG-ASS'Y_페이지_284
	2023 CATALOG-ASS'Y_페이지_285
	2023 CATALOG-ASS'Y_페이지_286
	2023 CATALOG-ASS'Y_페이지_287
	2023 CATALOG-ASS'Y_페이지_288
	2023 CATALOG-ASS'Y_페이지_289
	2023 CATALOG-ASS'Y_페이지_290
	2023 CATALOG-ASS'Y_페이지_291
	2023 CATALOG-ASS'Y_페이지_292



